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[3669]-143
F. Y. B. Com. Examination - 2009

FOUNDATION COURSE
(Restructuring Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What is “Culture’ ?
(2) What is ‘Religion” ?
(3) What is ‘Urban Unemployment’ ?
(4) What is “National Integration’ ?
(5) What is ‘Poverty’ ?
(6) What is ‘Pure Science’ ?
(7) What is ‘Hypothesis’ ?
(8) What is ‘Society’ ?
(9) What is ‘State’ ?
(10) What is ‘Franternity’” ?
(11) What is ‘Productivity’ ?
(12) What is ‘Pollution” ?
(13) What is “Scientific Method” ?
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Write note on Self Employment.

(2) Write note on Privatisation.

(3) Rule of Law

(4) Types of Science

Q.3) Answer in 150 words each : (Any Two) [20]

(1) What are the characteristics of Indian Culture ?

(2) What are the causes of Poverty in India ?

(3) What is the importance of Agriculture in Indian Economy ?

(4) State and explain various types of Pollutions.

Q.4) Answer in 300 words each : (Any Two) [30]

(1) What are the causes of Unemployment in India ? Suggest
measures to reduce unemployment.

(2) What are various obstacles in achieving the goal of National
Integration in India ? Suggest measures to create National
Integration.

(3) State and explain merits and demerits of Indian Democracy.

(4) Explain effects of Science and Technology on Productivity,

Superstition and Health.
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[3669]-141
F.Y. B. Com. / B. A. Examination - 2009
TAX PROCEDURES AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 1)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 60

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(1) Explain the term ‘Schedule’ under M.VAT Act, 2002.
(2) What is meant by ‘Tax-free Goods’ ?
(3) What is meant by ‘Declared Goods’ under CST Act, 1956 ?
(4) Explain ‘Compulsory Registration” under CST Act.
(5) Enumerate essentials of ‘Business’ under M.VAT Act, 2002.
(6) What is the use of ‘C’ Form under CST Act ?
(7) What is meant by ‘Appropriate State’ under CST Act, 1956.
(8) Enumerate any two advantages of VAT.
(9) What is meant by ‘TIN number’ under M.VAT Act, 2002 ?
(10) When is sale called as ‘Sale Out-side the State’ under CST Act,
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Q.2) Answer in detail in 50 word each : (Any Two) [08]

(1)  What are the Costs to be “Included in Sale Price’ under M.VAT
Act, 2002.

(2) What are the ‘Documents of Title’ recognised under Central Sales
Tax Act ?

(3) What is the use of ‘Form - F’ under Central Sales Tax Act ?

(4)  Who can sign ‘Form - 101’ and ‘Form - A’ under M.VAT Act
and CST Act respectively ?

Q.3) Answer in detail in 150 words each : (Any Three) [18]

(1) What is meant by ‘Assessment’ ? Discuss types of Assessments
under M.VAT Act.

(2) When a Sale or Purchase is said to take place in the course
of Import into or Export outside India under CST Act ?

(3) Explain procedure for effecting changes and amendments in
Certificate of Registration under CST Act.

(4) Enumerate Certain Sales and Purchases not liable for Tax under
M.VAT Act, 2002.

(5) What are the objects of enactment of Central Sales Tax Act,
1959 ?

Q.4) Write long answer in 500 words : (Any One) [20]

(1) What are the types of ‘Registrations’ under CST Act ? What
are the advantages of Registration under CST Act ?

(2) What is meant by ‘Return’ ? Discuss various types of Returns

and Liability of Registered Dealer to file Return under M.VAT.
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[3669]-138
F. Y. B.Com. / B. A. Examination - 2009

PRINCIPLES AND PRACTICES OF INSURANCE
PAPER - Il
GENERAL INSURANCE
(Vocational Course - 11)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 60
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term Risk. Distinguish between Pure Risk and Speculative
Risk. [15]

OR
Q.1) What are the factors taken into consideration while underwriting Motor
Insurance ? [15]

Q.2) Define Re-insurance. Why Re-insurance is done ? State advantages

of Re-insurance. [15]
OR
Q.2) State Perils covered urder Cattle Insurance Policy. [15]
Q.3) State General Inclusions under Mediclaim Policy. [15]
OR

Q.3) Write in brief the history of General Insurance Corporation of India. [15]
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Q.4) Write short notes : (Any Three)

(@)
(b)
(©)
(d)
(€)
()

Cover Note

Material facts need not be disclosed.

Certificate of Insurance

Janta Personal Accident Policy
Duck Insurance

Principles of Insurance Contract
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[3669]-137
F. Y. B.Com. / B. A. Examination - 2009

ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - II
ADVERTISING
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :

(1) Answer any four questions.
(2) AIll questions carry equal marks.

Q.1) What do you mean by Advertising ? Explain various advantages of
Advertising.

Q.2) Define Advertising and explain different types of Advertising.

Q.3) What do you mean by Advertising Objectives ? Explain various types of
Advertising Objectives.

Q.4) Explain various Appeals used in Advertising.
Q.5) State and explain factors affecting Advertising Budget.

Q.6) Write short notes : (Any Two)
(@ Career Avenues in Marketing
(b) Ethical Aspects in Sales Promotion
(c) Limitations of Advertising
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[3669]-136

F. Y. B. Com. Examination - 2009
COMPUTER APPLICATIONS
(Theory)
(Vocational Course - II)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions :

(1) Figures to the right indicate full marks.

(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Write syntax and give example of the following functions :

(Any Five) [05]
(@  Strdup()
(b)  Abs()

(c) Strrev()
(d)  Strlen()
(e Gets()
()  Getch()
(@) Stremp()

Q.2) What will be the output of the following modules : (Any Four) [08]
(@ main()

{
int x =3,y =4, z=4
printf(*ans = %d”,(z > = y?100:200));
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(b)

(©)

[3669]-136

main( )
{
char j = 1,
while (j < = 255)
{
printf(“%d %c”, j, j);

J++;

by
main( )
{
int i = 45;
float c;
¢ = check(i);
printf(“c = %f”, c);
by
check(int 1)
{
if(i > = 50)
return(3.14);
else
return(3.10);

Contd.



(d)  main()

{
int a = 10, b = 20;
void change(int *, int*);
change(&a, &b);
printf(“%d %d”, a, b);

}

void change(int*p, int*q)

{

¥
(e) main()
{
int i, j;
for i =1, i < =5; i++)
{
printf(*“\n”);
forG = 1; j < = I j++)
printf(“%d”, j);
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(f)

Q.3) Write
(@)
(b)
(c)
(d)
©)
()
(@)

[3669]-136

main( )
{
int i, t1, t2, t, n = 5;
clrscr();
tl = 1,
2 = 1,
printf(“%d %d”, t1, t2);
for (I = 3; I < =n; i++)
{
t =t1 + t2;
printf(“%d”, t);
tl = t2;
t2 =t

b
short notes : (Any Five)

Flowcharts

Structured Programming

Nested if ...... else statements
Pointers
Keywords and ldentifiers

History of C

[15]
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Q.4) Answer the following : (Any Three)

@)
(b)

(€)
(d)

)

Explain in detail the characteristics of Arrays.

Write a C program to check whether the year is a leap year or
not.

Evolutions of Programming Languages

Write a C program to add all the even numbers between 1 to
50.

Write a note on various Data Types availabe in ‘C’ Language.
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Time :

[3669]-134
F. Y. B.Com. / B. A. Examination - 2009

TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course - 1)
(New 2008 Pattern)

2 Hours] [Max. Marks : 60

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(1) What do you mean by ‘Tax’ and ‘Income Tax’ ?
(2) State any four advantages of Indirect Tax.
(3) What do you mean by ‘Previous Year’ and ‘Assessment Year’ ?
(4) What does the ‘Seventh Schedule’ of the Constitution of India

contain ?

(5) What does Article 245 contain ?
(6) Define “Joint Family’ under Hindu Law and Coparceners.
(7) What do you understand by ‘Customs’ under Hindu Law ?
(8) Define “Partner’ and ‘Partnership’ under Partnership Act, 1932.
(9) Define ‘Firm Name’ under S. 53(3), S. 4, of Partnership Act,

1932.

(10) What is the object of ‘Civil Procedure Code’ ?

[3669]-134
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Q.2) Answer in 50 words each : (Any Two) [08]

(1) Which four canons are advocated by Prof. Adam Smith ? Explain
in brief each of them.

(2) Write in brief any four advantages of ‘Direct Taxes’.

(3) Write short note on ‘Joint Family’ under Mitakshara School of
Hindu Law.
(4) What are the main essentials of the principles of Res Judicata ?
Q.3) Answer in 150 words each : (Any Three) [18]
(1) Explain in brief the ‘Taxes levied and collected by the Union
but assigned to the State’ under Article 269 of the Constitution
of India.

(2) Give comparison between ‘Direct’ and ‘Indirect’ Taxes.

(3) Write note on ‘Coparcenary’ and ‘Coparcenary Property’
(Mitakshara School) of Hindu Law.

(4) What are the essentials of Valid Partnership under Partnership
Act, 1932 ?

(5) Write note on ‘Issue of Summons’ under C.P.C.

Q.4) Answer in 500 words : (Any One) [20]

(1) What do you mean by ‘Tax Sharing’ ? Describe in detail the
Constitutional Provisions in respect of Distribution of Revenue
between Central and State Governments.

(2) Explain relationships of Hindu Law, The Law of Partnership, and

C.P.C. with Taxation.
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[3669]-131

F. Y. B. Com. Examination - 2009
PRINCIPLES AND PRACTICE OF INSURANCE
PAPER - |
LIFE INSURANCE
(Vocational Course - 1)

(New 2008 Pattern)

[Total No. of Printed Pages : 1

Time : 2 Hours] [Max. Marks : 60
Instructions :
(1) AIll questions are compulsory.
(2) Figure to the right indicate full marks.
Q.1) Define Insurance. How does it operate ? [15]
OR
Q.1) Explain various functions of Life Insurance. [15]
Q.2) Describe process of Insurance Salesmanship. [15]
OR
Q.2) Explain nature of Life Insurance Contract and it features. [15]
Q.3) Explain types of Life Insurance Plans. [15]
OR
Q.3) Discuss various qualities of an Insurance Agent. [15]
Q.4) Write short notes : (Any Three) [15]

(a)
(b)
(©)
(d)
(€)
()

Objectives of LIC

Utmost Good Faith

Warranties

Insurable Interest

Caveat Emptor

Factors Governing Sum Assured
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[3669]-130
F. Y. B.Com. / B. A. Examination - 2009

ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) Answer any four questions.
(2) AIll questions carry equal marks.

Q.1) What do you mean by Marketing ? Explain importance of Marketing.

Q.2) Explain the concept of Communication. State various types of
Communications.

Q.3) Explain problems in the Process of Communication. Suggest measures to
overcome the problems.

Q.4) What do you mean by Public Relations ? Explain tools used in Public
Relations.

Q.5) Explain the concept, need and importance of Sales Promotion.

Q.6) Write short notes : (Any Two)
(@ Event Management
(b) Communication Skills
(c) Means of Communication
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[3669]-129
F. Y. B.Com. Examination - 2009

COMPUTER APPLICATIONS
(Theory)
(Vocational Course - 1)
(New 2008 Pattern)
2 Hours]

Instructions :

[Total No. of Printed Pages : 2

[Max. Marks : 40

(1) Figures to the right indicate full marks.

(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Define the following : (Any Five)

(@)
(b)
(c)
(d)
©)
()
)

Web Camera

E-mail

ROM

Application Software
MODEM

Input Unit

UPS

Q.2) Solve the following : (Any Four)

@)
(b)
(c)
(d)
)
(f)

1101 + 111 + 10
(78),, = (),
(10111), = (),
1101 - 1011
1001 * 100
11001 / 100
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Q.3) Write short notes : (Any Five) [15]

(@ Types of Browsers
(b) Magnetic Disk
(c) Mail Merge
(d) Slide Sorter View of Power Point
(e) Characteristics of Computer
()  Distinguish between Primary and Secondary Storage
(9 GuUI
Q.4) Answer the following : (Any Three) [12]
(@ Write a short note on Arithmetic Logic Unit and Control Unit
of C.P.U.
(b) Generations of Computers
(c) Format Menu of Microsoft Word
(d) Any 4 Mathematical Functions of Excel
(e) Scanning Devices
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[3669]-128
F. Y. B. Com. Exmination - 2009
URDU GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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Financing (1)
Equation (F)
Deduction ()
Co-owner ()
Budget (&)
Advertisement ()
Analytic study (&)

Audit (A)
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I like lambs better than any other animals. The best
and wisest men sometimes deceive themselves.
Most men see more the faults of others than their
own. You also always see the faults of others. Do
you see your own ? A rich man is often the slave
of his riches.
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[3669]-127
F. Y. B. Com. Examination - 2009

GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]

(1) Wie heift Ihr Lehrbuch ?

(2) Was essen Sie zum Frihstick ?

(3) Sie machen eine Reise nach Himalaya. Was nehmen Sie mit ?

(4) Was schenken Sie Ihrer Gropmutter zum Geburtstag ? Warum ?

(5) Mein Freund mochte Briefmarken kaufen. Wohin soll er gehen ?

(6) Was kann man in Berlin besichtigen ?

(7) Wo spricht man Deutsch ?

(8) Nenne zwei bekannte Personen aus Deutschland !

(9) Was sind lhre Hobbys ?

(10) Was mochten Sie werden ?

(11) Wie heift die AbschluBprifung von Gymnasium ?

(12) Was kann man mit einem Handy machen ?

(13) Wie sind lhre Nachbarn ?

[3669]-127
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Q.2) Lesen Sie den Text und beantworten Sie die Fragen !

Sascha (20) und Mathias (20) leben in Fulda. Sie kennen sich sehr
gut. Sie sind miteinander befreundet. Sascha lebt noch bei seinen
Eltern wie viele andere Jugendliche. Mathias hat aber seine Eltern
schon frih verlassen.

Niemand wartet auf Mathias, wenn er von der Schule nach Hause
kommt. ,,Die Wohnung ist leer. Das Essen steht nicht auf dem Tisch.
Ich lebe allein seit, ich 17 Jahre alt bin*“ erklart er. ,,Ich muss alles
selbst machen : ,,Einkaufen, Waschen, Kochen* so Mathias.

Die Eltern von Mathias sind geschieden. Er wohnte zuerst bei seiner
Mutter. Die zog dann aber in eine andere Stadt. Mathias wollte seine
Freunde nicht verlassen. Sein Vater wohnt im Ausland. Bei ihm wollte
er auch nicht wohnen. Zu ihm hat er kaum Kontakt. Im letzten Jahr
hat er ihn nur zwei Wochen gesehen. Deshalb bot der vater ihm seine
ungenutzte Wohnung im Haus der Grofeltern an. Das Angebot gefiel
Mathias und er wohnt jetzt in der Wohnung allein. Er hat oft wenig
Zeit. Tagsuber isst er oft nichts. Abends muss es dann schnell gehen.
Er isst Ofters Pizza, Eier und Sphagetti. Er hat keine Lust fir sich
alleine zu kochen. An jedem Sonntag ist Grof3waschtage. Dann wascht
Mathias, was er flr die néchste Woche braucht. Meistens ist es drei
Maschinen voll. Am Sonntag hat er auch mal Zeit fir sich. Er spielt
FuBball und besucht seine Freundin.

Fir Sascha steht nach der Schule das Mittagessen auf dem Tisch. Er
meint ,,Das ist doch heute normal. Ich kenne viele Jugendliche, die
noch bei ihren Eltern Wohnen. Die meisten konnen sich nicht leisten,
allein zu wohnen.” Vormittags ist er an der Schule. Nachmittags hat
er vier bis finf Stunden Training. Manchmal muss er aber auch seine
Eltern im Garten oder beim Renovieren, sein Zimmer aufrdumen
helfen.

(A) Beantworten Sie die folgenden Fragen ! [08]
(1) Seit wann lebt Mathias allein ?
(2) Warum wohnen viele Jugendliche bei ihren Eltern ?

(3) Warum zog Mathias nicht mit seiner Mutter in andere
stadt ?

(4) Was macht Mathias am Wochenende ?
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(B)

Q.3) (A)

(B)

[3669]-127

Sind die folgenden Aussagen Richtig oder Falsch ? [02]
(1) Sascha muss jeden Tag kochen.

(2) Mathias Vater Wohnt in Fulda.

(3) Am Wochenende hilft Sascha seinen Eltern.

(4) Mathias wohnt in der Wohnung von seinem Vater.
Ubersetzen Sie den folgenden Text ins Englische oder Marathi ! [10]

Katja wohnt mit ihrer Mutter Ursula, ihrem Vater Hermann, ihrer
alteren Schwester Martina und dem Hund Cors in einem Haus
mit groPen Garten. Katja geht aufs Gymnasium. lhre Lieblings-
facher sind Biologie, Mathematik und nattrrlich Sport. Auch in
ihrer Freizeit ist sie sportlich aktiv. Sie geht gern schwimmen,
Rad fahren und macht Karate. Mit ihren Eltern versteht sie sich
eigentlich ganz gut. Katja findet es gut, dass ihre Eltern tolerant.
Sie darf in Discos, Freunde besuchen und im ndchsten Jahr auch
allein in den Urlaub fahren.

Ursula &rgert sich manchmal, denn Katja ist nicht so ordentlich.
Sie macht kaum ihr Zimmer sauber.

Katja hat auch einen Wunsch : Sie will mit ihren Eltern einen
Ausflug machen, mal an die See fahren oder in den Garten
spazieren gehen. Aber ihre Eltern meinen ganz anders. Sie
Wollen das Wochenende lieber zu Hause verbringen, denn die
beiden arbeiten.

Ubersetzen Sie ins Deutsche ! [10]

(1) She wanted to become an airhostess, but her parents did
not want that.

(2) Why don’t you buy this small table ?

(3) Hans is learning french at the university.

(4) Is Munich bigger than Cologne ?

(5) You have stomachache, then do not drink coffee.
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Q.4) Grammatik Und Wortschatz :

(A) Ergénzen Sie das Perfekt ! (nur 5)

fragen, suchen, finden, reiten, sein, sitzen.

Maria kommt spét nach Hause. Ihr Vater fragt Sie,, Maria, Wo

[05]

du den ganzen Tag nur ? Wir
dich dberall , Wir sogar die Nachbarn
»Ich mit unserem Pferd Uber die Felder
Erst wir lange unter einem Baum . Spéter
wir ein altes Haus auf einem Hugel
(B) Bilden Sie die Fragen ! (nur 3) [03]
(1) Julia fliegt nach England.
(2) Der Kuchen schmeckt Super.
(3) Das Auto kostet 1000 .
(4) Doch, Pune ist grop.
(C) Erganzen Sie die Modalverben ! (nur 6) [03]
(1) Beim Arzt Eva lange warten.
(2) Oh, ein Eisgeschéaft ! Ich hier Eis essen.
(3) Auf dem Deck viele Leute Sonnenbad nehmen.
(4) Papa, ich Klavier spielen ?
Ja, aber du leise spielen. Mama schlaft.
(5) ihr schon gehen ?
Bleibt bitte noch zehn Minuten mehr !
(6) Am Wochenende viele nicht friih aufstehen.
[3669]-127 4 Contd.



(E)

(F)

(D) Ergénzen Sie die Endungen ! (nur 6) [06]
(1) Er hat ein __ dick __ Bauch.
(2) D ___ Schwarz __ Schuhe gefallen mir.
(3) Dagmar hat mir d _ sauer __ Wein geschenkt.
(4) Arnold hat stark _ Arme und breit __ Schultern.
(5) Welch _ Kleid findest du besser ? Und welch
Mutze ?
(6) Was soll ich anziehen ? D _ rot __ Jacket !
(7) Dieses Jahr hatten wir in Deutschland kein _ richtig
Sommer.
Ergadnzen Sie die Personalpronomen ! (nur 3) [03]
(1) Guten Tag, Herr Bauer ! Wie geht es ? Wo waren
am Wochenende ?
(2) Was machst fir deine Gesundheit ? Darf ich ein
paar Tipps geben ?
(3) Helmut geht in Pizza Hut. Aber die Pizza schmeckt
nicht. Seine Frau isst auch eine Pizza.
Schmeckt die gut.
(4) Der Salat ist frisch. maochte probieren.
Ergénzen Sie die richtigen Verbformen ! (nur 4) [02]
spielen, aufmachen, fernsehen, ausgeben, zuhdren.
Q) du bitte die Flasche ? Ich kann das nicht.
(2) Bitte seien Sie leise und Sie Sie
. Vera doch Kalvier.
(3) Fir sein Auto er viel Geld
(4) Was macht deine GroPmutter abends ? Sie
meistens
5 P.T.O.
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(G) Ergénzen Sie die Possessivpronomen ! (nur 4) [02]

(1) Vaishali sucht Ring.
(2) Vielen Dank fir Hilfe Frau Happe.
(3) Emma, wo ist Handy ?
(4) Wollt ihr fur _ Kiche diesen Herd kaufen ?
(5) Bald beginnen Ferien. Wir sind sehr froh.
(H) Ergénzen Sie die Prépositionen ! (nur 2) [02]
(1) Das ist die Telefonnummer der Reinigung.
(2) Der ,,Michel” steht Hamburger Hafen.
(3) Ich will in Berlin meinem Freund Ubernachten.
(4) Zuerst ist er Bank gefahren.
()  Ergénzen Sie das richtige Wort ! (nur 2) [02]

(1) Kommt, kinder wir missen gehen.
Eine halbe noch bitte, der film fangt gleich an.
(2) Helmut ist arbeitslos. Er bekommt Geld vom

(3) Franz war gestern beim Arzt und hat einen Bluttest
gemacht. Das bekommt er nachste Woche.

(J)  Welches Wort passt nicht ? (nur 4) [02]
(1) Sprache — Dialekt — Deutsch — Buch
(2) Ausland — Osterreich — Schweiz — Liechenstein.
(3) Strand — Kiiste — Meer — Uhr
(4) Hafen — Bahnhof — Schiff — Flughafen
(5) Dbreit — rund - tief — lang — hoch - kurz.
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[3669]-126
F. Y. B.Com. Examination - 2009

FRENCH
(Old 2004 and New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Use of dictionary is not allowed.

Q.1) Ecrivez une lettre sur un des thémes suivants :

(A) Vous étes la secrétaire du directeur de la société “Nouveau Tek”
de Paris. Votre directeur part en voyages d’affaires a I’usine
“Gondard” a Madrid. Vous écrivez une lettre au secrétaire de
cette usine pour annoncer la date et I’heure de son arrivée, le
nom de son hotel, la date et I’heure de son départ. [10]

Oou

(B) \ous avez une marque de chaussures « Bata » en Italie. Vous
cherchez des fabricants au Canada. Vous écrivez une lettre a la
societé « Kingschausses » pour demander leur brochure et les
prix. [10]

Q.2) Ecrivez un dialogue :

(A) Gérard Lebon est en déplacement pour la société GENEX a
Strasbourg. Il a une chambre réservée a I’hétel Cadence. Il va
a la reception de I’hétel et demande sa clé. Le réceptionniste
demande une piece d’identité. Gérard donne son passeport. Il
demande ou est le bar, les heures d’ouverture et de fermeture.
Il demande si on sert les trois repas. Le réceptionniste répond.
Ecrivez un dialogue de 7-8 répligues. [10]

ou
[3669]-126 1 P.T.O.



(B) Yoko lto, la directrice d’une petite société d’informatique japonaise
voyage dans un train en France. Elle va de Paris a Nancy. Elle
rencontre Neil Thomas, le directeur de SOFOL, une société
francaise. Elle parle a lui. Ecrivez le dialogue de 7-8 répliques. [10]

Q.3) (A) Traduisez en anglais : [10]
Paul . Deux billet pour aller a la gard du Nord, s’il vous
plait.
L’employé : Aller-retour ou aller simple ?
Paul : Deux allers simples, s’il vous plait. .......... Ca

fait combien ?

L’employé : Ca fait 62 francs.

Paul :Je suis désolé, je n’ai pas de monnaie
Voila un billet de 500 francs.

L’employe : \oila monsieur.
Paul : Merci. Le train est a quelle heure ?
L’employé : 1l y en a un toutes les quinze minutes.
Paul . Quel quai ?
L’employe : Quai numéro 1.
(B) Traduisez en anglais : [10]

Avoir une carte de crédit, c’est tout simplement régler vos achats
avec un bout de plastiqgue. Vous avez la garantie d’avoir de
I’argent toujours : un dimanche soir, en vacances, a I’étranger.....
et nous pourrons citer encore de nombreux cas. Il s’agit
simplement de présenter votre carte et de payer la facture en
signant, en France aussi qu’a I’étranger. La carte de crédit a été
congue pour vous simplifier la vie.

Au cas de perte ou vol de carte, il suffit de téléphoner la
compagnie et vous étes entierement protégé contre toute utilisation
fraduleuse de votre carte. Vous pouvez utiliser votre carte en toute
sécurité, alors.
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Certaines compagnies vous offre une deuxiéme carte toute
gratuite. Alors, pour les moindres frais, vous pouvez I’établir au
nom d’un autre membre de votre famille.

(fraduleuse — wrong, perte — loss, vol — theft)

Q.4) Compréhension :

Marie est en déplacement a Montréal, Canada pour la société Rhéne-
Alpes. Elle veut faire des achats. Elle interroge une passante dans la

rue.

Marie . Pardon, madame. Pouvez-vous me dire ou je trouverai
des magasins pour faire des achats ?

La passante : Qu’ests-ce que vous cherchez ?

Marie :  Oh, des cassettes, des vétements, des parfums, des
vins, des fromages..........

La passante : Eh, bien, allez tout droit, jusqu’au bout de cette rue.
Puis tournez a gauche. Vous verrez, c’est une rue
trées commercante. Vous trouverez ce que Vous
voulez. Il y a aussi des grands magasins la-bas. C’est
moins cher.

Marie : Et pour les vins ?

La passante : Pour lesvins, il y a les « Vignobles Champenoises ».

Marie : Merci bien, madame.

La passante : Je vous en prie

(A) Répondez aux questions suivantes : [04]

(1) Ou est Marie ?

(2) Que veut-elle acheter ?
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(B)

(©)

(D)

Dites vrai ou faux : [02]
(1) Les grands magasins sont chers.

(2) On peut acheter des vins aux « Vignobles Champenoises »
Donnez I’infinitif : [02]
(1) \oulez

(2) trouverai

Mettez au négatif : [02]

Elle veut faire des achats.

Q.5) Grammaire et vocabulaire :

(A)

(B)

(©)

[3669]-126

Mettez au pluriel : [04]
(1) Tu peux téléphoner d’une cabine téléphonique.

(2 1l faut rendre la voiture la ou on la loue

Mettez les verbes entre parentheses au temps ou mode indiqué : [03]

(1) Pour aller a la tour Eiffel ? - (aller - impératif) vers
Trocadéro.

(2) Le directeur technique (gérer - présent) la fabrication.

(3) Tu (diriger - futur) le bureau de ton pere.

Complétez avec des prépositions : [02]

(1) Mous pouvez retirer 2000 semaine de votre
compte.

(2) Jachéte un chemisier mon amie.

4 Contd.



(D)

(E)

(F)

(G)

[3669]-126

Mettez au négatif : [06]

(1) 1l verifie le niveau de I’huile.
(2) Nous livrons les pieces détachees.
(3) Vous pouvez retirer de I’argent d’un distributeur automatique.
Trouvez I’objet direct : [05]
(1) Le PDG dirige les activités de I’entreprise.
(2) Cette boutique accepte les cartes de creédit.
(3) Le douanier vérifie les documents.
(4) Ecoutez la conversation.
(5) Le garagiste gonfle lespneus.
Dites vrai ou faux : [05]
(1) Le directeur financier est chargé de recrutements.
(2) Au supermarché on achéte des stylos a la papeterie.
(3) Pour vendre ou louer une maison vous allez chez I’agent
de location.
(4) Les boutiques, les restaurants sont des établissements.
(5) Awvec une carte de crédit, on ne peut pas retirer de I’argent
d’une banque.
Cochez la bonne réponse : [05]
(1) Le RER, c’est le

()  réseau express routier a Paris
(i) le réseau ferré francais

(iii) une gare a Paris
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)

3)

(4)

®)

Les chambres de commerce ont pour I’activité

(i) donner du conseil aux industries

(i)  recruter des employés dans les industries
(ii))  cueillir les Impdts des industries

La féte du Travail, c’est le

(i) 11 novembre

(i) 15 aodt

(i) 8 mai

Pour rendre un billet valable dans un train en France, il
faut

(i) le composter

(i)  I’acheter

(i)  monter dans le train

Dans les auberges les préparent la cuisine.
()  propriétaires

(i) clients

(ii))  les chefs
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[3669]-125
F. Y. B. Com. Examination - 2009
SINDHI
(Arabic)
(Old 2004 and New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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Total No. of Questions : 4]

[Total No. of Printed Pages : 2

[3669]-125

SINDHI
(Devnagri)
(Old 2004 and New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

qard-1.
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gfegt wf T T 2™ gEeE o SEw fore [20]

1)

(2)
3)
(4)

()
(6)
(7)
(8)
(9)

BITA, AT OTSRME A7 AEsT S HE HEsH sy

H# @y ?
EE Madd Al W MRg d ' St ' ¢
ST ST g STEOT o, WiAisT H FIsT a9

ARTHT 9T STraamneT St RRT @@ saa o e #
B At 98 °

Mid-day TEER 7 ST St T RIEoT St Fas Hisf 8uad &g ¢

THY FAABIT W [FT AfBa] =medt T & 9
e o WS @t o wifed & 9 F wfEgr sor A 2
TR T TITH S FLATAAH H Biegl qq (o] & ¢

ST, WIdieT & 3MTaTal 0 A Hieg "9+ qHgmar

(10) 3m®lc o T&l At Hred A ©

(11) forar o @@ d, dder 3 w8 @i wiEer Ateon T 9
(12) 3t o I@ IO Hies (Htder HoSmET 'O?

(13) W1 AlqEONT o Hiesl AGiSer A 9
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-

[10] cmpo <was Lo Daw oo ol Gyiie isdia
o a p oka) so N
) 2 a0

') , Y . ‘I.' _ _ '. ,: '
0 ok g
toeT & e @y pooplne olo wy waps e
“l.e R
[20] Poloter corar - ) o & v be Olo dutua Lt i,

e
e CfR e we Ts Bop
Spe @0 wekdice ao el
Peb Gy beee W o0 pleads wa, fo
vome @it e 4 Gee e Fleen,

[30] - m\‘ boarilo  Gi Silo &b b 6l dpdyas o0 ) oy
'\“L‘\f CL\? AR opwd) fdb Lo T o 1

A R e
e v podliwsr e
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efeafy = fef v Rl gaett o s 2Rk T afn win
50 @St H Teret [10]

(1) 39 W& ATl drst e wEsr ©
(2) S =EE SREM I TG BRA ME 9

(3) e Tt W whEfegtt aRmglt R st amE ©
(4) T e o deEm # qug @it ot s 9

el @t fefw T Tt gEmtt o e awftear faen @ [20]
(1) vider St 9RT ey sRar |

(2) HA™EA I FI FAG@ART St FH BT |

(3) dfe dTHwH S @™ BT T AT 9

(4) Wil 3T gg ¢ #Ri ER 9 ¢

gfeai @i {6 v fw fwais @ wiygw fown - [30]

(1) e @1 FW B Stest S Nisg

(2) fao= S "Eg

(oY

(3) =at @dr - Tew HEA

(4) IHATT H T BATD |
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[3669]-124
F. Y. B. Com. Examination - 2009

GUJARATI
(New 2009 Pattern)

Time : 3 Hours] [Max. Marks : 80

w.1) Axiel siS ua 28 [@Qua u [oid quil : [1€]
(1) <ulm 42 ot @Ramindl.. .
() ABus 4l >R
(3) WA weour [Bax
(

%) %L Yl

-

W.2) SIS uRl ws UsdAl AlARAR GdR vl : [12]
(

() “[g% Wididl atdl>0ul 2lusla 00U < el 9.7 dldl»ia
R 230 S

)

28l dldldi ves drdlidl [@Qordaz HilRdl 2l

U.3) 19 Ul As usddl AlARAR G dvil ¢ [12]
(1) Yeurl ad 214 sad [ WRA 2.

() “enrll s1euRiAeHl DAl e dreld A didulsL 9.7 22l

. ~\°

wy) (1) ésin avil @ (515 ua i) [0¢]
(1) Sad gt addl.
(2)  “Alewonadl Al sl dioudr ul.
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(1)

W) (1)

(1)

. ~\

g5l avll @ (515 uaL 1) [0¢]
(1) ‘owRul sl wadels

() S5l sl sl wa

yaluz ol @uil @ (A% el - Ais A-Y) [0¢]
(1) “opadl 24l oidl elog oiaus oy...”

() “ywcell uisdat Gl caud ol REdd e 77
(3)  “wist ALlolA % SlU B AH AL WS Sl oL 77
(¥)  “d} 2ual rid didl siesll ?”

Ad s wledl HIZ Ml S WA WAL Hee MLdL otield
Hel HISH usl @uil. [0¢]

YU

ASHL A e136idl sidsH (Al vda-din duR S3U. [0¢]
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[3669]-123
qAH q¥ qroed 9de’m - 2009

fa=t
(AT j00¢ )
g : 3 99| [‘3\'011?5 : 70
TGS ¢ (1) FEHERT . TEHIE
(2) TIETERT : FTHTTE

(1) @t go7 3rfqard & |
(2) g 7 o siE geT F gunis & |

7.1) (31 TfaRad # @ fF=t g 9t $ I 9 # g [06]

(1) T M BT 99 dARgewT F P9 g feam B9

(2) I F TUS B A W AT BH GO a9 AT 9
(3) WIANH &7 ST ARS &I Hal N B Har ?
(4)  “3MEHT BT TaT af SBH Pt It d B FeAdr g |7 =

G T HEaT & 9
(3m frafaiaa & @ FF=l & vt 3 S d@ew # faRau [06]
(1) ‘g89 &, qowd FA’ TAT HfT Ful FEAT 89

(2) ‘S Id MY HIAT B AT T BA GRAIRT TIT 1
T3 AT TEd & 9

(3) ‘fei™r Siaar & 3™ ®F W HINT |

(4) ‘SS9 BT YE TH' FAAT B IET Bl FAIMSTC |
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7.2) 31 frAfaRaa § ¥ et S @A &t gEey e Sk [06]

(1) “dIiedt & F % a1, 8 af AT & J9 TR TRt
B A B A o

(2) “Tg B AT B FHOT FE OB AT H Far & | I BA

U T HH T, AT T, 396 THS AT BT AT

l)}

AT A8, ITEATYH BT 2

(3) “TZATT FEl P, FATH TSATHT BT 2, [S&ar =gt % 78
T HTET HT 2 |7

(3m) FrAfaRaa & & B6= 8t sraaeen #F w6ed @meEn ST 0 [06]

(1) “Fpeg I a0 gem A & e
o fopdt iy @1 uar & &

Al HsRlad,

(ad ([aVNaN
A FEr ST
R A T 5 w7

(2) “9% BW UH TR 2

STra_T HEEuTH

foa-foe fgm o o A e & o @
(3) “&ia s & &W

o o
giem-aa= 9q #

Stag™ 3987 2
TH TG al W
foog it S
T UEd R g 17

9.3) oot g
(31 ‘O’ STSE Hl ARl | [04]
STET
(37) ‘Tgeell & Ub HQ@ wEET BT AT | [04]
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(3m)

(3m)

(¥)

9.4) (37)

(3m)
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YTAIEal ®1 Wigddu | [04]
ST

T HAAT B FABIARAT | [04]

efaRag & ¥ 6=l B8 wedl ® 3R U 9 | faigw @ [06]

(1) doweEd &H 957 T =& § ¢

(2) FHHT $ IWI-IG H AR AE I @ AT 9

(3) 3MEHT &7 YaT B Tordl & 9

(4) SHT H IR B BT 29

(5) 3IUPAU HERT o AYAEE! F [T qOU H qE B 9

(6) WRA 3 TEAHRT [HTRT FEW fHer@r 7 9

(7) HfT ™ FEd ™60 999 @ 801 ® & 9

(8) “Ud T T’ HBIGAT ® BT BT AT FT & 9
(9) T & I[N BH ¥ dqAH FT § 9
(10) wfa ga= e & wodla =8 & ¢

efaaa & ¥ TFdt o6 99 @7 99 R SN [06]

(1) 3Md / (qal 9Ie, 3N A%, AW ¥ Y, HEad
AElaaed, Y0 & AW fesl ARAMT 9§ ® (AU

sraeaTy fogar / fewdr 2

(2) FRST / AGT O, (AR, 991 ¥ OSTRET YHIM,
shEmie, % Soett & gus af arivrey - & Jieg-qdet
® AGT B dad 7 ud faegar / foedar #

TrfaIigd foamae ST aTdi@s s &1 9947 R S ;. [06]
(1) gaE & dEd H o |
(2) HeElga™ § H9= He-HHdq &7 adieE |
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(3) FAfafaa & 4 =t 82 Il & I5 @ fa [06]
(1) 9¥Es o 3H® war-ar for |
(2) I=EF It WA @ |
(3) ®Y ® AT AT E |
(4) FET A SgT &1 91 d9e g |
(5) ¥+ TEW AT AT |
(6) T F BT H utg Tawr T |
(7) TR 3O | =ai & A AEr 2 |
(8) WHHAT # T9c P I &&H T |

9.5) (31) TiHfarad # ¥ 6t 9 o=t & f&st s o= fakag o [07)
(1) Account
(2) Bonus
(3) Claim
(4) Deduction
(5) Exchange

(6) Figures
(7) Holder
(8) Loss
(9) Payment
(10) Rate
(3m frfaiaa # @ pdt o TOv ®7 SedA-fawr s o [07]
(1) 9= S| a9y |
(2) 3Ia4 drT gEIRy, SSaEr =@me g2
(3) = I& T@m 7 |
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[3669]-122
F. Y. B. Com. Examination - 2009

SANSKRIT
( 3THTaTUit )
(New 2008 Pattern)
9% : 3 Ard] [TERUT TUT : 60
Q.1) Translate into English or Marathi any two from section ‘A’ and any
two from section ‘B’ from the following passages : [20]
JElcadt 37 TIWTTda HIoeTel siere ‘T [I9nTdia Siorereat
e gusila fhar Aol WINiaY &9 [20]

SECTION - A (T - 39)

(1) TET TEAad gHeET USTHeT  acabeAsasHEg | =
AT YUAERTAIST Bd I50d | Tegedl Ao iarg A
I AT HE WU BRI ais | THedd e |
FSTA ‘AEq Td HREAMH | Jiad ARaEad gUH  JuNed
JEHAT SWEHA: I W, IS JSRAEIH |

(2) IHINCHIOE, AWTAEH, NSAHTHEE, JUROTHAEE o
foPm™:, AES TSI @, BT g 9, 997 U
T GO Uy Ieaa T T qUT ARy, AHehy
T FEAGOEAY S Gfd TS JIa+ o, WRAS™  Ta§i

o\ - C .
ATTRDPION bdH  HI] |
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3)

(1)

(2)

3)

AT ETH T T | GoUH F Sqal Taies: FgriTes]
T AGA: DA FANIS: Hd: | T@ AT TEAET IERY
fovataQNoTRR T I TS ST | Jrdrd araasTesta
T2 TR TATMR, TATTIHS TOTHAISTAHTAN | 3T RIS TS

qHATSS BT ABATS: Had |
SECTION - B (Rwmr - @)

FAT T IATS T A A TA=AT |
T 9EE dR Teargad:
al IERNUIT. TEETRIRATTE qi3Aq |
IIAT dasad AT THTEEA |
ITHAY] T HAEYeIaaad |
ISA AT TS gEHeA |
1 EIR | P B a1 2 E&ﬁ TRaTET |

o o ()
qMI=IAh AT TAASUH  HAgldadrq |

FIE Tt A IS AT O qTl
TOTAreE  fafmwtae MseARa game |
USHIMISE TS 1 eRUSH  FUSIIA:

Y qUEEAEnN: 9 T FES: |

Q.2) Explain with reference to the context any one from section ‘A’ and

any one from section ‘B’ : [10]
37 fqUTNTdiT FIoTATEl THE T ‘9 fqumTdia oTETEt U
TSUTHE TSR] B [10]

(1)
(2)

(1)
(2)
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SECTION - A (fawmr - 31)
FENTAGTA D TUAATRIGAT |
IR et TaUEl T WA AR |
SECTION - B (fqwmr - @)

STAATIHH BTN THT ST AT |

T fyyerm, q@ At Al AR woTvET aieesT |
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Q.3) Write a long answer of any one of the following from section

‘A’ and any one from section ‘B’ : [20]
U TN HIOTATEr THT 99T T ‘& FI9mTaid Hioredrat Teht
TS Gy 3T T [20]

SECTION - A (famr - 37)

(1) Write story of STRGafaRM==®’" in your words.

‘FIRGETTATETR & HUT OAT =T oTar.
(2)  Which were the purposes of Lokamany Tilak to start ‘Ganesh
Festival’.
TR & FATT ABATY [CHBrAT I HIOMT e &l ¢
SECTION - B (fwmr - @)

(1) Character sketch of Rama in ‘erert: IHGeH’.

‘STl TASIEH AT UTSTEAT YR THATY AT ra0T el
(2) Critically apprciate ‘@@ o ewasT Tq’.
g5 B R £ o I 1 P 1 1 S MR ool e ) Ft B o
Q.4) Write short notes on any one from section ‘A’ and any one from

section ‘B’ : [10]

3 TN FITATET THTaX T ‘T TN HIoTeTel ThTtar fadas

S foter [10]
SECTION - A (fawmr - 31)

(1) SETEEN: |

(2) Essence of A=IqETTOTRIHI.
FEEWOEIHET a1 FAT O T B
SECTION - B (fqwmr - )
(1) Character sketch of TSI

o o o
(STSITHId™ Ul <AV

(2) wefasr
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qqH q¥ qIUST 9t - 2009
HTIEINE T ST At

(AT j00¢ TaA)
FARAYEAS : (7)) STTHAIT
(k) FEERFE #AST

9% : 3 a] [gpUr qor ;70
AT

(1) T g7 T JTTTF I7TE.

(2) ISEIBSIT 3fF geATd qof OT FIfaar.
.1) Telicde! FHiorarat bt fawaraw foder foar [10]

(1) Tu9 o9d - HlAE TS

(2) WEHN Todosd MM
(3) HIEN @R Tad... (dfd)

q.2) WAIAU®! HIUTITET FBT ATl I R0 e&id [oTal - [10]
(1) MHINT AN AT UM HO 2

(2) MHAEAE HAA T ARTHET JAMHANT BOTT 9

(3)  IMIERT WA G BTl ?

(4) OOl TUUATST AT IAIOTHES THIA ITaHHIT HIOTAr [T Wt
AN ?

(5) SIATT=AT STekd AT HiSAAR HIOM Oug pad Iwd ©
[3669]-121 1 P.T.O.



(6) TUGANT TROTA! HEATAS Sl Foad BT Hat ¢

(7) gIwid #AeY ‘Thtaq gedr HOTET TEHS S ?

(8) I AT AT I IHh [IUT HOd 9
(9) AT I AT BIOTAT FROMHS Toadegerd FdT HaAT ?

(10) SHETE=T HRAT IIEFET ST ThT T9Tes B divad @

(11) 2. I=A FAW T MG TSfArar A (oTar.

(12) HIT HHET JET Bed I HIOT [THHAT BeAT ?

(13) 9a™M TR T YSUTA HIOTET HAAAT HeAT AATET IS

AT [T ¢
q.3) Tl FHIOTATEN THT YA AT 4o 9Tsgid fotar [05]
(1) EEEFET @wTEadiTeT foEr
(2) VAT TR S HOA ! AEdHe B Jger ©
T.4) TCITdd! FIOTATET THT G IJAX 40 eFd (@@l [10]

(1) IS AT JET IIFAT O TS BT Tt ¢ T fhtaq a9,
fhtad @S’ IT JTeTT 3N foTEr.

(2) ‘erETAC geAeY AT USIGH T98d HIA JTeAT 3N dSiardl HIoTdl
oA [§gA dam ©
q.5) TCiAds! FIOETEr A gt R forar - [20]

(1) “3meel T YHRe HSA =T dA-Pdd  HeElTaredrd  aaTard
(BITT) AT USHET TH SN AIGITE! 3R, IdAT ITdid
ST e Al Sraarer g 3N aaR B

o

(2) WTH FEPW FAEC (., STEASHN AT IH =T IS TS
eTd o MUMT WS AR Il WIEEees SRSl
¥. 3,40,000 HIWYH HINOA MMEd. IT FTAAL AT, Mg
fecoolt qUmR @+
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(3) AT WEBW AF ., ASTOM AT SfHal TG ST dT. ARAI

a7 fSHOT g© FOAEEHET AT FSAETIEEaY e

giaga g .

(4) FERTE UeiW ITHEHT, WA I Yoo FRIAUTT wiei
SR TTSHRAT T Wied T Fa¥ TaT IFST HLoITETad

(aV ([aNEaN
Sllalr [Aldal ddly <l

9.6) TClicTueh! FHIOTHTEl THT FATd ST foTar - [10]

(1) STER aed %o S ? o AEA qOf HeRATasT, o7 I
JETE™ AqEN AR T9F AqERE! 9id AT HOAHSHT
AT, SO RSN, YU AT @R SER e aUR &L

(2) STEde WET A ST ATS HIOATat ThT [TEIraR qaa=Tde!
STERrer AYST TR H4

o (aV

(1) TH TS TaAier FEuernr Sitead

(F) & HER

9.7) (1) T Ia /., ARUAEH A A qAdE Ew AT ¢ [05]

T TR AgH dew, FRuer /Al 37| S IS [ 371,
77 foaRr TS STUCIT ST WR AT TS IR, I BRI
I 3ME &I, AR FOAE FTAESRE B @7 SHIAA STaes-
e WA AT digd 5ot 3. ‘@fesw’™ 16 A8 N
TR IME. T I TS M@ B, “FOWT s+ &1 ool
3T AU AT ATAT THiTEd JS IJodTe AIet. J AT
T 5o, 36 3E; 9 e Tae @ $%, B al e
ATEr, T SUANT FHOMX AEL” IMOT IS U 3 [y
Id B, AU IET FEHI AR, T A GGAT A6 I
T YrEaT A BT [THE MR, AOHE TeAT AL AT
[T FMW WA T FHET AR, T0T & T S AT
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FREHATET THAT TR [TATH AT UTTESt. Ao T STt
IEI &9 M. A S S masudhar IR, & fAsar musw

DTSN, & T ITIANT AT H% AHAT, TG AT AT A4 (T4

3MME, AT ATH FABATSS AN, & ABaaTd, ABIMErd I3
3R, [TRIT AREET : 9%4]
T

T SISl AT AUST WINiaY &

Mahatmaji was a real reader of man and he led the people. He
never played to the galley or cared to secure cheers from the
crowd. Indeed more than at any time, today, there is an urgent
need to understand the message of Bapu. He believed in work
and according to him, life should be one of ceaseless activity.
He never believed in the maxim that ‘ends justify the means.”
If only he lived for another quarter of a century he would have
established International Peace based upon his philosophy of life.
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[3669]-120
F. Y. B. Com. Examination - 2009

ADDITIONAL ENGLISH
(New 2008 Pattern)
Text Prescribed : The Joy of Reading Literature
Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read the paragraph carefully and find single words for each of
the phrases given below : (Any Four) [04]

“I will not let you go till you disgorge all your coins.” The
astrologer muttered a few incantations and replied, “All right,
I will speak. But will you give me a rupee if what | say is
convincing ? Otherwise | will not open my mouth and you may
do what you like.” After a good deal of haggling the other
agreed.

(a) Words used in magic -

(b) Say something in a Low \oice not meant to be heard —
(c) Give up unwillingly -

(d) An argument about something -

() To make someone believe that something is right —

[3669]-120 1 P.T.O.



(B)

(€)

(D)

[3669]-120

Fill in the blanks with correct form of verb given in

brackets : (Any Two) [04]

(@) Several hours before the match (begin) the
spectators (pack) the stadium.

(b) He generally (wear) a gray suit, but today he

()

(wear) a white one.

Rani (lose) her pen while she
(play) yesterday evening.

Change the following into indirect speech : (Any Four) [04]

(@)
(b)

()

(d)
(€)

Give
(a)
(b)
(©)
(d)
(€)

The clerk said to the visitor, “Come Tomorrow”.

“This gentleman is opening an account, he will deposit
fifty-six dollars”, said the Manager.

“What ! Are you drawing it all out again ?” he asked in
surprise.

“We are safe from interruption here”, he said, “Sit down”.

“Its all lies, Sir,” he said. “People have given her a bad
name for nothing”.

antonyms of the following words : (Any Four) [04]
amateur —

guilty —

farther —

conceal —

meaningful —

2 Contd.



Q.2) Answer any one of the following questions in detail : [16]
(@) How did the astrologer convince Guru Nayak about his future ?

(b) Do you agree that Gangu is the embodiment of goodness ?
Justify your answer.

Q.3) Answer any one of the following in detail : [16]

(@) Discuss qualities that the poet wishes his country to have in
‘Where the Mind is without Fear’.

(b) Describe fully the different types of bangles which the bangle-
sellers carry.

Q.4) Answer any two of the following in short : [16]

(@) Why were Paul and Patricia worried in the short story ‘The Hotel
Stefani’ ?

(b) How does advertising have an adverse effect on the mind and
life of the young ?

(c) What impression of Nnaemeka’s father do you get from the letter
that he sent his son ?

(d) “The Gift of the Magi’ is a story of coincidences. Explain.

Q.5) Answer any two of the following questions in short : [16]
(@ What are the wishes of the poet in ‘I, too, sing America’ ?
(b) Does Emily Dickinson look down upon those who are defeated ?

(c) Why does the poet want to be a pagan in “The World is too
much with us’ ?

(d) What qualities does the poet envy in others in Sonnet 29.
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[3669]-119
F. Y. B. Com. Examination - 2009
ARABIC GENERAL - |
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instruction
All questions are compulsory.

Q. 1) Translate into English or Urdu or Marathi any two of the following [20]

013 b 83003 L33 Gulidl) i3 s Gild 515 ()
Gl . Guls Ll Qa5 )3l ol
R R TP U R AN
ssill e ealh Slsls @1 33 ol Gl
5 aal ol J18 T o @lil oK A7
Gl o L 0 yais 3 L LSl 815
T (55 uiall JE ™ L0 134 s 15
G152 ol 0o ulall ok TAG 1A L b
REIPR N ERC I RPN T

E5 - I53A Kl gl g L 535 85 K (9)
G Akl 833 UL 8aLis yay e Ll KK
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S5 Wl 4 ebats &1 2K0 3B 2 K
e Laslly Gall 588 . 5 J3lind &
25 - JVBLE o 908 585 QLI TES 4l
Jai s 6135 28 i 035 olf el s

Sely3 o 1A Las @2y ol ) J556 . Lal

Laally JR s . Gl a1
calll wigy Yal lia s (©)
bl Ligh &35 &f
i3 ¥ o, Elial;
8735 Ll g5 &
l33a3 <5 o Lisal &
wall 1o szl &F 5ud
3aih ol gl 812305
.;_34.2.11 ool Lis lie 9.@42
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Q. 2) (A) Translate into Arabic any five of the following :

(1)
2)
)
(4)
()
(6)

There 1s a student in a class.
There 1s a newspaper on the table.
There 1s a table in a room.

In the fridge there is an apple.

On the window there is a curtain.

His office 1s far from his home.

(B) Translate into English any five of the following :

s
a

K
iS5 35

B

"

N
?t

N

2 s

» .

P

> ~
i dlia ag

2 f:., 5 @34

- s Gu5adl
il ) Zald Ll

Q. 3) Explain with examples any two of the following :

[3669]-119

slagll S)a
) Cslaaly caladd)

(V)
(Y)
(¥)
(¢)

QY

Q)
(v)
(v)

[10]

[10]

[10]

P.T.O.



Q.4) (A) Summarise any two of the following : [10]
yas (V)
S (Y)
Gooadl ()

(B) Write the term in Arabic any two of the following : [10]
LoVasll S54ill (V)
eligf LIS 3588 (Y)
sl ()

(C) Write a letter in Arabic to the Business Manager : [10]
$laill 3 a0 e ol oyl (3 ALl Qi
OR
(C) Write a letter in Arabic to the Company Manager : [10]

I pal) et ) Ayl (b ULl il
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Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
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[3669]-118

F. Y. B. Com. Examination - 2009
PERSIAN GENERAL

(New 2008 Pattern)

[Max. Marks : 80

Q.1) Define and illustrate any ten of the following :

[3669]-118

Laer U
(29 ¢l
S
Yol
S
S

Jr o
e
wE A
o A6
S
S

(1)
2)
€)
(4)
©)
(6)
()
(8)
)
(10)
(11)
(12)
(13)

[20]

P.T.O.



Q.2) Define and write any two of the following : [10]

JF
gh ()
</ ()
§& @
Q.3) (A) Reproduce in your own words of any one of the following : [10]

J(; »eg (1)
By b (2
St )

(B) Write any one of the following : [10]

(1) Style of Saadi Shirazi
(2) Literary works of Mulla Waiz Kashfi
(3) Life sketch and works of Saadi Shirazi

Q.4) (A) Explain any five couplets of the following into English, Urdu [10]
or Marathi :

St oot F L)
J& J1x JooT s Y
S gb Yl (2
LB 37 I a2 f
s =D U K L (3)
S XV AP
W s S ER IS @
w2 ,fU»?. vk 7 93
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LU # JS LSS I IS 5
d/f;?()fu/q/‘lp!,gf;ﬂ

b FEUT L aE L ()
ubﬂﬂ;ul&J:JUﬁ;

s 4lF ol L dss ()
BT LS U ET

(B) Translate any two passages of the following into English, Urdu
or Marathi :

JG”Ag/éJjb S5 1y s s el St 0T (1)

ddfﬂﬁf&wg?jl;l_ﬁ(/lﬁ)
,‘ij;;)l,g.&d,}‘i/;;l/;:«»:’./{
w3 af A SE U L o uT s JF
UTQL/J));&/“};QLJ/}:}U],:}@UQ‘J;

P 3w Usp B 91 03 UT s 6 U =¥
oL Sl ESh S 2 sanT ) 5

e e § A UT s ULES @
zeed & gad SL oS o LM
et U T o 7 s 4T i s oy
J)ﬁuT/.”lf"/-u;Tuiﬂﬂd/.}(pJ(

s 2315 0 G plale Gl G2 3t s i ey ol
o,cf/;’,.jlgﬂy};,gg,g) 17;//) s Sz S

-
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s NE FT b S e i Ll )
T 2 4G s 4l .(L?, I s Z.QJI{ ‘j?' ez
M S ol el e Sk
2yl »4../3 2 JJJ..:/'/;Z,C?,J; 14
Q‘/.;f/(&l’au@&-)vr//.f?/«"iﬁju
_)/a)bbcfl"}»q:’))l//g»

e s erlP L b @3B LS U oy @
b il 1 ST el b g )
3(71fd&’£}dtz Jj'J))J}T/.’J S
5);’/&),5’4}&;’,-}3 d?/’,g)f(fé"%
oS ki Py Jla

(C) Translate the following passage into English, Urdu or Marathi : [08]
We went to a flowing stream. The shining sun came out of the
cloud. The forest was full of carnivorous animals. The trees were
full of fruits looking like camels laiden with heavy loads arranged

in a rows.
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[3669]-117
F. Y. B. Com. Examination - 2009

FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Internet Banking’ ?
(2) What do you mean by ‘Credit Rating’ ?
(3) What is “Outsourcing’ ?
(4) What do you mean by “Just in Time’ ?
(5) What is ‘Supply Chain Management’ ?
(6) What do you mean by Recession ?
(7) Give long forms of NSE and ISI.
(8) What does Limited Liability mean ?
(9) Write meaning of the term “Hacking’.
(10) What do you mean by ‘Trade Cycle’ ?
(11) Explain the term ‘Zero Based Budget’.
(12) What is the meaning of the term ‘Sensex’ ?

(13) What is “‘Entrepreneurship’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) What is the difference between Life and Non-life Insurance ?
(2) What is the difference between General and Limited
Partner ?
(3) What is the procedure of On-line Trading of Shares ?
(4) What do you mean by ‘Certificate of Origin’ ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Discuss findings of Malhotra Committee Report.
(2) What is the future of Co-operative Sector in the era of
Globalisation in India ?
(3) What is the working and procedure of Commodity Exchange
in India ?
(4) How does SEBI regulate Stock Exchange ?
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail new trends in Banking Sector.
(2) What is the State of Indian Public Sector in the era of
Privatisation ? What challenges does it face ?
(3) Define “Trade Association’. Explain objectives and functions of
Trade Association.
(4) Trace evolution of Stock Exchange in India.
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[3669]-117
ST HATAL
% : 3 dW] [TFoT 0T 80
qAAT
1) Td g7 FSfaor MT9TF TR,
2) ITEIESIT 3 goard gl TOT FOffIar.
7.1) TN YA Tl 3T R0 IeFid (@& : (FIUTEEt <20 [20]

(1) ‘See B (Internet Banking) #&oist &M ©
(2) “ua =it (Credit Rating) =t & ¢
(3) “3MeemIREr  (Outsourcing) &S &I 9

(4) Sre 3 <g® (Just in Time) U ™ d HET.

(5) ‘gaI TARTA FRIIT TSl B 9

(6) wH TS B ?

(7) TATHZ. AT AE.IHAE. I q07 &9 @
(8) wuifsq s (Limited Liability) =orst smr @
(9) EET (Hacking) Hea==m 3t ferer.

(10) ‘= =%’ (Trade Cycle) ®=ot & ¢

(11) “srameniRa sfEma=®’ (Zero Based Budget) S&cadT ¥ .
(12) f3eri® (Sensex) Fheu=r 3rd FI 9
(13) ‘Iaistear  (Entrepreneurship) #=orsl & ?
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T.2) Tl YA 3T Yt 4o eFid foi@r @ (Fiurddt q) [10]

9.3)

9.4)

(1)
(2)
3)
(4)

e T HIHAT (9T O BE I d F.
TIOHT 9 #MSd WRIER Id %6 &I d 9.

WRTAT 3TAATST aaREl d5dl &1 o T,

‘FaiT ST (Certificate of Origin) %9 &1 FM.

A G Yl 3T 340 UEid [@@T @ (FIUEr FH) [20]

(1)
(2)
3)
(4)

AeE =T THAT SEAEA Mepy IEaT I=] &,

o [ o
STETIARRIOMTAT GIMd - HEHN GATd HARATAT HITTH 6 ?

ARAIGIA a5 (aiAare $THSST 0T GHdl HIOWr o FOETL

At (SEBI) wWNT aoay =07 &7 dad O WO

AT F9ATEl Tl 3IY 300 &Ed Tola&l @ (HIUdel Fi) [30]

(1)
(2)

3)

(4)

STFT ST Mh TaTE Aiaeqeqol T .

SISO I ARAE AESS e T H19 38 d
HAT, IS STMEH HIOTIr Med

‘g 9’ (Trade Association) Hheq==il AT 9T, ATIR JET
e 9 B We

AT ANT STSTRIEAT  SohidiaT  3TeTar =T,
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[3669]-116
F.Y.B. Com. Examination - 2009

MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) State difference between Market and Marketing.
(2) State elements of Internal Environment of Marketing Orgnisation.
(3) State Objective of Marketing.
(4) What is Product Planning ?
(5) State explicit characteristics of a Product.
(6) Define Salesmanship.
(7) State elements of Promotion Mix.
(8) What is Market Communication ?
(9) Define Media Planning.
(10) Give two examples of Outdoor Media.
(11) What is Tele-marketing ?
(12) Define Marketing Information System.
(13) What is Super Market ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State classification of Markets on the basis of Time.
(2) Give reasons for undertaking Test Marketing.
(3) What are the skills required for Effective Salesmanship ?
(4) What is the importance of Rural Marketing in India ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain with the help of diagram Geographical Marketing
Organisation.
(2) Explain various Sales Promotion Techniques.
(3) What is Advertising Budget ? Explain Process of Advertising
Budget.
(4) Explain role of Modern Sales Manager.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Describe various stages in Product Life Cycle.
(2) Explain relevance of Marketing in a Developing Economy.
(3) Describe with examples various Media of Advertising.
(4) Describe various methods of Market Segmentation.
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[3669]-116
A FUTAR
U T Rt
(@ R00¢ UeH)
9% : 3 dW] [gpur Tqur ;80
AT
(1) qd go7 TSIl 3MIeTH 38,
(2) ISAIBSIT 3iF geATd qUf O FIfaar.
(3) F9IGId Hes FAST FeA-UlAET UETdl,
7.1) TEle WA ST o ISR foTEr ;- (FIUTHEr @) [20]

(1) T ORUS 3T U I B 9.
(2) fauoE HHeA=aT @ UETaeTE UeH [oTal.
(3) Tyt s W= w

(4) T ((AEA) EeE =/ w9

(5) THEI WE (THwHe) dRred .

(6) Taspusa=t =T forer.

(7) Tamggsl Memdla @es @i
(8) T TAUA IS B 7

(9) ‘HrEH™ e g SR o

(10) oTEd Sedd HTEHET S IS0 AT

(11) TN faqoe (Solt Abfe) =o & ¢
(12) “‘TqUuT= Aiedr IO IqTET SATSAT .
(13) ‘G e’ BN HE 9
[3669]-116 3 P.T.O.




q.2) T WA ST 4o eFd (@& @ (Fiurdal i) [10]

(1) FIATAR dqMYSH S Eoru) S ) G T

(2) ==l [qUoTE FOITHERT BROT foTET.

(3) URUTHPRE [ThIBATST MITF T HIMT [T,

(4) Yo7 fqquET WRATAE AEd TS L

9.3) WA FAMEr I 4o IsEid foTer : (Flurddt qi) [20]
(1) «rmiias fquore Fuca<t deddr MMHaral MUN W 6.
(2) Trerggert fafaay @3 @ &

(3) Seqd IASTUTF TS FI ¢ MU IETSITHT Tiepdl T
BT,

(4) IMHE TR TTRMIHET HSBT T B

9.4) Tl w9t IO 300 = @l : (FUEET FA) [30]

(1) T Sad-=seran fafqe e 99 &

(2) faFpEd T [quomE 9w T .
(3) e TOfay |emHi ISTETEed. 9o .
(4) TSTRUS WHANNHOT=AT Tarael dgdd 99 .
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[3669]-115
F. Y. B. Com. Examination - 2009

INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) State Hazards in the Fire Insurance.
(2) What is Customer Service ?

(3) What is Accident Insurance ?

(4) What is Air Transport ?

(5) What is Tourism ?

(6) State means of Various Transports.
(7) Define General Insurance.

(8) Explain meaning of Marine Insurance.
(9) Define concept of Transport.

(10) What is Water Transport ?

(11) What is Group Tourism ?

(12) What is Travel Agent ?

(13) What is Road Transport ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain means of Travel and Tourism in India.
(2) Explain role of Insurance Agent.
(3) Explain Risks in Fire Insurance.
(4) Explain need of Life Insurance.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain features of Life Insurance.
(2) State Organisation of General Insurance Corporation.
(3) Explain advantages and disadvantages of Air Transport.
(4) Explain factors of Tourism Product.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Procedure for Settlement of Claims in Fire Insurance.
(2) Explain Principles of Life Insurance.
(3) State various types of Means of Transportation.
(4) Explain development of Tourism in India.

[3669]-115/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3669]-115
ST HATAL
famn smior aEd®
(@A R00¢ YeH)
% : 3 dW] [TFoT 0T 80
qAAT
1) Td g7 FSfaor MT9TF TR
2) ITEIESIT 3fF goArd ol OT FOIfIar.
7.1) AT WA 3T o eEid [o@r : (Fiurddt < 0) [20]

(1) 3FE Tg=die e 9.

(2) ‘grEd WAr WU B ?
(3) “‘3gu fmr wus s 9

(4) ‘EAE AEIH TS HE 9

(5) ‘G WU HE ?
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9.3)
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(1) WA Jare ST qdedrdt §ee T .

(2) AT qiatrerEl giHEeT T F

(3) 3l A i T F
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(2)
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EAE AEQHIA WEE AT e T B
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(1) 3wt fomdi| A T Hesauardt Sdsal s .

(2)
(3)
(4)
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[3669]-114
F. Y. B. Com. Examination - 2009

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What is ‘Environment” ?
(2) What is ‘Economic Environment’ ?
(3) Define the concept of ‘Poverty’.
(4) What is ‘Inflation” ?
(5) What is ‘Regional Imbalance’ ?
(6) Define the term ‘Entrepreneur’.
(7) What is ‘Entrepreneurial Behaviour’ ?
(8) State the concept of Entrepreneur as a Catalyst.
(99 What is ‘DIC” ?
(10) What is ‘EDI’ ?
(11) What is ‘Dynamics of Motivation” ?
(12) State the concept of ‘Entrepreneurship’.
(13) State any four names of companies in Kalyani Group.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain inter-relationship between Environment and Entrepreneur.
(2) State causes of Unemployment.
(3) Explain habits of Entrepreneurs.
(4) Write a note on YASHADA.

Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain causes of Inflation.
(2) Distinguish between Entrepreneur and Manager.
(3) Explain importance of Entrepreneurship.

(4) Write a detail note on National Institute for Entrepreneurship
and Small Business Development (NIESBUD).

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain qualities of Successful Entrepreneur.
(2) Explain in detail the following types of Business Environment :
(1)  Natural Environment
(i)  Political Environment
(iti) Social Environment
(iv) Technical Environment
(v) Cultural Environment
(3) Describe Entrepreneurial Career of Dr. Nilkanth Kalyani.

(4) Explain in detail the Economic Theory of Entrepreneurship.
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[3669]-113

F. Y. B. Com. Examination - 2009
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]

(1) What is meant by Standard Weight under Standards of Weight
and Measures Act ?

(2) State any three functions of Central Information Commission.
(3) State any three limitations of Voluntary Consumer Organisations.
(4) State any three objectives of Consumer Movement.

(5) State any three Acts related to Consumers.

(6) What is meant by “Third Party’ under the Right to Information
Act ?

(7) State any three Rights of Consumers under Standards of Weight
and Measures Act.

(8) What is meant by ‘Consumer’ ?

(9) State any three problems of Rural Consumers.

(10) State any three ways to recognise adulterated food articles.
(11) State any three influences of Television (T.V.) on Children.

(12) State any three social responsibilities of business related to
Consumers.

(13) What is meant by ‘Competent Authority’ under Right to
Information Act ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State causes of problems of Consumers.
(2) State problems of Consumers related to Goods.
(3) State Administrative Machinery in Preventing Food Adulteration.
(4) State relationship between Business and Ethics.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain methods of Consumer Education.
(2) Explain role of Voluntary Consumers Organisations in controlling
Objectionable Advertisements.
(3) Explain duties of Information Officer.
(4) Explain provisions about Packaged Commodities under Stan-
dards of Weight and Measures Act.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain rights and responsibilities of Consumers.
(2) Explain composition and role of District Forum, State and
National Commission.
(3) Explain provisions of Offences and Penalties under Standards
of Weight and Measures Act.
(4) Explain procedure to obtain information under Right to Infor-

mation Act (RTI) and explain provisions of Appeal.
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q.2) TMEE FATEl Yo IEd I f@1@T @ (FIUE q) [10]

(1) UTEHr=n FERET RO HqA.
(2) JTEHT TRAIS FHRT T
(3) 3TV TS BT STHUT WMTEHT IO H[.
(4) =TEEE AT AfdH IAE Fae T
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[3669]-112
F. Y. B. Com. Examination - 2009

PAPER - Il

ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

SECTION - |
Q.1) Explain in brief any four of the following terms : [08]
(@) Firewall
(b) TCP/IP
(c) E-business
(d www
(e) Downloading
() EFT
Q.2) Answer any three of the following : [12]

(a) Define E-commerce. How it differs from Traditional Commerce ?
(b) What is C2C E-commerce ? Explain.
(c) Explain briefly the security requirement for conducting
E-commerce.
(d) Explain briefly the following terms :
(i)  Electronic Debit Card
(i)  Electronic Cash
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(€)

Explain briefly the following terms :
(1) E-mail
(i) Internet Relay Chat

Q.3) Answer any three of the following : [12]
(a) Explain briefly the major limitations of E-commerce.
(b) Explain briefly E-commerce security protection mechanisms.
(c) Write a short note B2C E-commerce.
(d) What is Internet ? What are the common ways of connecting
to Internet ?
(e) How E-commerce benefits Business Organisations ?
SECTION - 1l
Q.4) Explain in brief any four of the following : [08]
(a) Banners
(b) E-catalogue
(c) Electronic Intermediaries
(d) E-finance
(e) E-ticketing
()  Market Place
Q.5) Answer any three of the following : [15]
(a) Explain briefly Buyer Oriented Market Space.
(b) What is One-to-One Marketing ?
(c) Write a short note on Managing E-commerce in the future.
(d) Define E-trading. State importance of E-trading.
(e) Write a short note on On-line Booking Procedures of Railways.
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Q.6. Answer any three of the following : [15]

(@) Explain briefly the legal issues related to E-commerce.
(b) State any five benefits of E-catalogues.

(c) Define E-banking. State any four benefits of E-banking.
(d) What is Digital Economy ?

(e) Explain briefly impact of E-commerce on Market.
Q.7) Answer any one of the following : [10]

(@ “Tourism is an information intensive industry in which
electronic commerce is expected to play a significant role.”
Comment.

(b) Discuss problems and opportunities in E-commerce in India.
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[3669]-111
F. Y. B. Com. Examination - 2009

OFFICE MANAGEMENT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What do you mean by Front Office ?
(2) What do you mean by Flow of Work ?
(3) Define Indexing.
(4) What do you mean by E-mail ?
(5) What is Training ?
(6) What is Mail Routine ?
(7) What do you mean by Agenda of Meeting ?
(8) What do you mean by LAN ?
(99 What do you mean by Office Environment ?
(10) What is Feed Back ?
(11) Define the term Procedure.
(12) Define the term Planning.
(13) What is Policy Manual ?

[3669]-111 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State characteristics of Modern Office.
(2) What are the duties of Office Manager ?
(3) Explain objectives of Maintaining Records.
(4) Explain in brief the Process of Handling Inward Mail.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What are the objectives of Flow of Work.
(2) Explain types of Communications.
(3) Explain different types of Meetings.
(4) Explain Procedure of Scientific Selection of Employees.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the principles and factors for Selecting Location
and Layout of an Office.
(2) What is Office System ? Explain importance and essential qualities
of Good Office System.
(3) Define Office Forms. Explain significance of Office Forms and
mention their types and benefits.
(4) What is Office Automation ? What are the different modern

appliances useful for modern office ? Explain.
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[3669]-110
F. Y. B. Com. Examination - 2009

MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Business Forecasting.
(2) What is Income Elasticity of Demand ?
(3) State two points for the Scope of Managerial Economics.
(4) What are Public Goods ?
(5) Define Capital Budgeting.
(6) What is Average Cost ?
(7) State the Law of Demand.
(8) What is Security Objective of the Firm ?
(9) What is Acquisition ?
(10) State the concept of Average Rate of Returns on Investment.
(11) What is Pay Back Period ?
(12) What is Long Run Cost ?

(13) What is Investment for Replacement ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) What are the exceptions to the Law of Demand ?
(2) Explain concept of Opportunity Cost.
(3) What is Cross Elasticity of Demand ?

(4) What is Diversification Concept under Investment Decision ?

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain methods of Capital Budgeting.
(2) Explain Sales Maximisation Objective of the Firm.
(3) What are the Determinants of Demand ?

(4) Explain different types of Price Elasticity of Demand.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain concept of Cost Benefit Analysis.

(2) Explain different Methods of Measuring Price Elasticity of
Demand.

(3) Explain role of Multinational Corporations (MNCs) in Economic
Development with reference to Indian Economy.

(4) Define Firm. What are the objectives of Firm ?
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[3669]-109
F. Y. B. Com. Examination - 2009

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)

(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘No Frills Account’ ?
(2) What is Cash Credit ?
(3) State any two General Utility Functions of Banks.
(4) What is Bank Pass Book ?
(5) What is meant by Nomination ?
(6) What is ‘Electronic Funds Transfer’ ?
(7) What is meant by Safety ?
(8) What is Crossed Cheque ?
(9) What is ATM Facility ?
(10) What is meant by Tele-banking ?
(11) What is meant by Endorsement ?
(12) Define ‘Bill of Exchange’.
(13) What is ‘Debit Card’ ?
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Q.2) Answer the following in 50 words : (Any Two) [10]

(1) Explain procedure for ‘Transfer’ of Bank Account.
(2) Give procedure of Premature Encashment of ‘Fixed Deposit’.
(3) Explain types of Crossing of Cheque.
(4) State characteristics of ‘Promissory Note’.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) State which precautions are to be taken by bank for opening
Minor and Married Women Account.
(2) State different types of ‘Institutional Account Holders’.
(3) Explain conflict between Liquidity and Profitability.
(4) Explain different types of ‘Endorsements’.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the Primary and Agency Functions of Commercial
Banks.
(2) Explain methods of Remittances.
(3) Define Cheque. Explain types and characteristics of Cheques.
(4) Explain in detail the Assets and Liability Side of Bank Balance

Sheet.

[3669]-109/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3669]-109
& Wuial
ook HAEE q farwqraEat
(9 HEETETE g )
(T R00¢ UeH)
35 : 3 d™] [TFUT Iqor ;80
if(ﬂ?T by
(1) @& 997 FIsfaor Maeds 378,
2) ISTAIBSIT 3F FoATE GO T FIAIAT.
(3) FIWlaIdt Hes Fusit gy waTd,
7.1) TEE WAl Ro TeEd IWY fTEl : (HIUTHEr @) [20]

(1) T = R [Far SeRiEd W B & 9

(2) W F B FI 9
(3) <BrEl HIOAET g9 FAEE IUIRTET B "9,

(4) T W@ IWE WS HE 9

(5) AMEIT WO &I 9

(6) TFC(HH ATHAGA e AT Bo HF 9
(7) gﬁ%ﬁddl dd BN HI ¢

(8) IWITHd &ARYA WIS HI

(9) USTH glaur woS A ¢

(10) Zw\mT I TIEY TINS B 7

(11) US3h oSl ®I 9
(12) fafea o= e foen
(13) 2fae s "=/ FI 9
[3669]-109 3 P.T.O.




T.2) TMCHd 9Tl Yo &3 IUY (@8l @ (FIUAEr TiH) [10]

9.3)

9.4)

(1) oF T B@EUEt d5dl g,

(2) H&d IT UEdrE ASAGAT WA T HOATET TGl qiAL

(3) YARITAT IWATHATI FHR HF.

(4) TEAragE AR W 14

Tl 99ATal Jcdehl 2o STs%id 30X [o1@r @ (FiuTddt i) [20]
(1) 3T IRl T [Tared S W I9SdiFT e Bl Bl

=|ET d WS &

(2) TMEA® ST WAL FHR T H.

(3) AT 3IMMOT ATHAT T T e T &,

(4) USIHATT s YR .

Tl W9 Tl 3oo Fd I ToT@l : (FIUAE gi) [30]
(1) SO ST GRS 3T Fiarel FUH B Wi |,

(2)
3)
(4)

U9 ISfIuaT=aT 9edl I 6.

YATRIMET AT o1&l ORI Wb T didred 9.

SHo qeETdl ATGACT g 307 W19 WiOwX HE.

[3669]-109/4



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3669]-108

F.Y.B. Com. Examination - 2009
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Define Defence Strategy.
(2) State meaning of Counter Intelligence.
(3) How many commands are there in Indian Navy ?
(4) State any two duties of Home Guard.
(5 Write concept of Civil Defence.
(6) Write long form of CRPF.
(7) What are the Aims of National Security Council (NSC) ?
(8) Write Equivalent Rank of Vice Admiral in the other two services.
(9) What is the Motto of N.C.C. ?
(10) What do you mean by Army Service Corps ?

(11) Write any two responsibilities of Army Medical Corps during
war time.

(12) Write names of two types of Battle Ships in Indian Navy.

(13) State any two functions of Armoured Corps during War.
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Explain an Organisation of Air Headquarter.
(2) Discuss role of Chief of Staff Committee.
(3) Explain role of Territorial Army in National Defence.
(4) Describe role of B.S.F. in National Defence.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain in detail the Principles of Intelligence.
(2) Discuss characteristics, role and limitations of Armoured Corps.
(3) Explain various types of Air-crafts in Indian Air Force.
(4) Describe in detail the role of N.C.C. in National Defence.
Q.4) Answer in 300 words each : (Any Two) [30]
(1) Explain role and limitations of Indian Navy.
(2) Discuss role of Intelligence in National Defence.
(3) Describe in detail Reconstruction of Indian Armed Forces since
1962.
(4) Explain Powers of the President in relation to the Armed Forces.
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[3669]-108
TG WUiae
9% : 3 a™] [THOT 01 : 80
{{?FIT :
(1) Td o7 T JTTTF 3TE,
2) IFAIFSIT 3H FoArd GO TOT FIIar.
9.1) R0 IFd I AT : (FIUE TET) [20]

(1) ‘T TS =T .

(2) ‘BT Ffeer 7Y T

(3) WRAE AEdE [Hhdl FATEH e ?
(4) EFETEE! HOWE S HaA TS B
(5) ‘AW HEr Y feE.

(6) wamTULTmET Y feEr

(7) T gen afEd sfee S ?

(8) TRWI IMShRA =1 gaell Yed T EaEsAid WA &8 SO ¢
TS B

(9) TEH BEEAT Hov FEAET HOW MR

(10) 3MHT Wiedw HH T|ISH HIT 9
(11) JEHAAA AT ASHA DT A SAEET (@l

(12) 9RAE AGAA HIOTEE M JEAtedr A .

(13) gE@HEdE Oasdt SAmEl HOE 9 FE TS HB
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9.2)

9.3)

9.4)

Yo IEd I foTET : (FHIUTEE FI) [10]
(1) FAESATAT WHE HEEETE GOSAT We FH.

(2) % AH WH HAcHT GHSHT - Tl B

(3) T TR YIRRTE A==t qHAdT T .

(4) T FRIOMAA HAT FRGT SATET IHABT - qUE B

340 MRTd IWY [@&T @ (FIUEr TA) [20]

(1) Ffdomdl awd AT T FH.

(2) Toasdr SamEr dired, 9HET 9 A9ET dfaRay 9=l S

(3) WA saEsdiel [qoe [ ger T $.
(4) TS FWOMGE T SENAST e 9o H.

300 YEFA I AT : (BIUTAE F) [30]
(1) WA AEarEr gHEeT 9 J9ET T 1

(2) TEE FRITAT AGHA Feiaog= graed @=l &

(3)  3QERFATAT WRATHT WA HATGATHT TAaAd qUH .

(4) FAIE FAGATAT FSATAIA TEUAT TUHN T H.
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[3669]-107

F. Y. B. Com. Examination - 2009
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Answers should be precise and to the point.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Co-operation.
(2) What do you mean by Co-operative Education ?
(3) State two provisions of Co-operative Act, 1912.
(4) State importance of Poultry Co-operatives.
(5) What do you mean by Government Guarantee ?
(6) State two drawbacks of Consumer Co-operative.
(7) What is Promoter ?
(8) State two responsibilities of Promoter.
(9) What is Bye Laws ?
(10) State two features of Bye Laws.

(11) State two provisions of Maharashtra State Co-operative Societies
Act, 1960 regarding registration of Housing Co-operatives.

(12) State two measures used by Government to encourage
Co-operative Movement in India.

(13) State main objectives of Urban Co-operative Banks.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain nature of Co-operation.
(2) Comment on Autonomy and Independence of Co-operatives.
(3) State Procedure of Registration of Co-operative Society.
(4) What are the Powers of District Registrar of Co-operative
Societies ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain features of Co-operative Societies Act, 1912.
(2) Explain structure of Credit Co-operatives in India.
(3) State Legal Procedure of Amendment of Bye-laws of
Co-operatives.
(4) Explain drawbacks of Urban Co-operative Banks in India.
Q.4) Answer the following in 300 words each: (Any Two) [30]
(1) Explain important principles of Co-operation.
(2) Explain role of Government in Co-operative Movement in
Maharashtra.
(3) Explain important laws related to Non-agricultural Credit
Co-operatives.
(4) Explain provisions regarding registration of Co-operative Society

as given in Maharashtra State Co-operative Societies Act, 1960.
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A HUTAR
35 : 3 d™] [TFUT Iqor ;80
z;raw by
(1) ad g7 wiear.
2) ITElESIT 3 goArd Ul OT FOIfIar.
(3) I AFFI T HEYS ITEIEI.
4) TSt 7es Fusit geTutAer wardt,
7.1) TEE WATEl YAHl o EFd I 6l (FHIUTEr FE@T) [20]
(1) VEPRE! ARAT H.
(2) UEH RreomEr TEW wW riEiy gar ¢
(3) WEBW WRAT HUET, 0TAT S agal T
(4) FIPeUTH TP TFRT HEd WAL
(5) ‘THEl AV IqTET W B FUSr EAr 9
(6) UTE® WEHA TR I I WA
(7) vads WOt FI 9
(8) VadeETST A STATITET T,
(9) Iufadt =S P9
(10) 3ufeen=it = dferear @,
(11) 7ERTE T HEHR TR FHUST, 9ol [Eaieol FEhnt
TR ASUiEET 9 awgar @,
(12) WA Hehl TATAAT ATAAT VIS TIBRA Tioldd g4
ST |
(13) AT WEHEI SHdr ATH SfEwed §hm.
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9.2) TAA G Gl so I=Eid IO (&l : (HIurddt ) [10]

(1) YUEPpRE WHY T H.
(2) BN RN WEaAl 9 @ g "I H.
(3) HEhN WD AiSUEl gispaT W,

(4) THcgr 9Epl ST MaUdr SMUER Hiod 3MEd ©

7.3) A G TSB! 340 eFd Id¥ folar : (Hiudat g ) [20]
(1) PR TR HEET, 9RTT IR W FH.

(2) VRATIIA FWEHhRl JaEA=l AT T H.

(3) WEHW TR IUMCEl SHEWEl BESGRR FHAT T
(4) VRAWE AR HEBRI SHE Y W F

7.4) TCHA Tl YS! 3oo 9MeFd IWX o1&l : (FIUMET §A) [30]

(1) TPl Hgam™l dd T B,

(2) TENGHIA HEPR THTHHUIA AT HHSBT T H4.
(3) R FI IEFR TAEREEH AEATE HES W FH.

(4) ¥ERTE TS FEh QT HBUST, %50 AUA HSHN T
GIEMIEE TSRS G e T A
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[3669]-106
F. Y. B. Com. Examination - 2009

COMMERCIAL GEOGRAPHY
(Old 2004 and New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map stencil is allowed.

Q.1) Give answers of the following upto 20 words each : (Any Ten) [20]
(1) What is Physical Environment ?
(2) Write any two names of Primary Economic Activities.
(3) Enlist advantages of Solar Energy.
(4) What is Plantation Agriculture ?
(5) Define “‘Under Population’.
(6) Write names of trees in Coniferous Forest.
(7) Locate Cotton Textile Centres in India.
(8) What is a Line Graph ?
(9) Give advantages of Dot Method.
(10) What are the Import Goods of India ?
(11) State advantages of Air Transportation.
(12) Enlist Tourist Centers in India.
(13) Define Tourist.
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Q.2) Write short answers of the following upto 50 words each :

(Any Two) [10]
(1) Possibilism
(2) Use of Resources
(3) Major Industrial Regions in India
(4) Tourist Industry of India
Q.3) Write answers in detail upto 150 words each : (Any Two) [20]
(1) Explain main factors of Natural Environment.
(2) Distinguish between Subsistance and Commercial Farming.
(3) Explain factors of Industrial Location.
(4) Explain Geographical factors influencing Tourism.
Q.4) Answer the following upto 300 words each : (Any Two) [30]
(1) Explain nature and scope of Commercial Geography.
(2) Explain location, characteristics and economic importance of
Monsoon Forest.
(3) Explain Weber’s Theory of Industrial Location.
(4) Explain need and importance of Transportation in Commercial

Development.
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TSN ®UTa
SMURT T

(ST Roo0Y & TEM Rool IITHHRH )

9% : 3 a™] [gspUT IrO0T : 80

{EFIT :

(1) Td F97 TSI TTHE 3TE.
(2) SMTTF T GAF IHAT HIETAT.

) TBERT THled qI0gTH Gt 3TE,

7.1) TEid 9T ST R0 EUdd fq@r ¢ (FUAE T ) [20]
(1) vIPpldes T9ERoT BN I 9
(2) vTAHE AMUS qaEEmr s A {dEr
(3) TR ®EE FOE.
(4) WFoATI AT TS FHI 9
(5) “AAH TAHESHEl AEAT @@l
(6) Fraqull IRUATHA gorrr Tid feraT.
(7) VR gdl 9 IR Be forat.
(8) ¥ JMT U h1T ¢
(9) Ra ugd wEg @
(10) 9RATAIA 3TITd AT FUTSl B 9
(11) =5 TEgHE BES T
(12) WRATA 9¥ea #g
(13) Wik IAT IS AT [Tal.
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q.2) Tl 9T I8 so rea(d fofar : (Fordat i)

(1) d¥aarE / T9EdEs

(2) HYFEUE ST

(3) WA S MEifTE

(4) WA 9T I

9.3) Tl 99l 39¥ 340 ISFId ((Tal : (HIurdat Iie)
(1) 9 99ieRond qBT 9e® W &

(2) IS(watgrEr SmfoT STAT AT qEAT AL

(3) SHNTERTAT ®MHBIEOTT 9ch T H.

(4) YgSATY YRUTH HOTH Sk T H.

9.4) Tl G 3¢ a9t 9resid [@Tar @ (Hordet 2i9)

(1) =N P @HY T Jwl T FB

(2) WA T W, AR s e wEw T &L

o

(3) TITET IUNTHUTHT TS IEOTET Hgid T 6.

(4) TR [THEEE AEgHET TS N7 AEE T FAL
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[3669]-105
F. Y. B. Com. Examination - 2009
COMPUTER CONCEPT AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |

Q.1) Attempt any four of the following : [4x2=08]
(@) How to delete or insert rows and columns in Worksheet ?
(b) Explain any one example of E-commerce.
(c) What is Software ? Write its types.
(d) Write any two features of Spreadsheet.
() Write following definitions :
i)  www
(i)  Internet
()  Explain how Computer is useful in Commerce Education ?

Q.2) Attempt any four of the following : [4x4=16]
(@ What are External Storage Devices ? Explain any one.
(b) What is DOS ? Write limitations of DOS.
(c) Explain any two Office Softwares.
(d) What is E-commerce ? Write advantages of E-commerce.
() What is Scanner ? Explain its purpose.
()  What is Anti-virus ? List different Anti-virus.
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Q.3) Attempt any four of the following : [4x4=16]

(@ What is Compression ? List any two Compression Utility
Programs.

(b) Explain Output Devices with example.
(c) What is MS-Windows ? Explain following Windows Elements :
(i) Icon
(i)  Desktop
(d) Define the following terms :
(i)  Main Memory
(i) Cache Memory
(e) Explain Search Engines with examples.
() How to create Folder ? Explain Folder Property.

SECTION - 11
Q.4) Attempt any four of the following : [4x2=08]
(@) What is Account ?
(b) What are the important keys used in Tally ?
(c) Explain Bank Reconciliation Statement.
(d) What is Invoice Entry ?
(e) Write steps for creating Company.

(f) How to create Sales Order in Tally ?

Q.5) Attempt any four of the following : [4x4=16]
(@) What are the advantages of Computerized Accounting ?
(b) Explain features of Tally.
(c) Explain creating Leadger with steps.
(d) Explain different Heads of Organising Accounts.
() How to alter and modify Company in Tally ?

() How to create Journal Moucher in Tally ?
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Q.6) Attempt any four of the following : [4x4=16]
(@) Explain application of Tally and its use.
(b) Write different types of Moucher Entries.
(c) Write short notes :
(i) Capital
(i) Courses
(d) How to create Debit/Credit Note in Tally ?

() What is Balance Sheet ? Explain steps for creating Balance Sheet
in Tally.

()  Explain Trading Account and Profit and Loss Account in Tally.
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[3669]-105
A FUTAR
9% : 3 dM] [gspur qor ;80
AT
(1) qd g7 FISAvl 3MIeTqH 38,
(2) ISEIBSIT 3iF geATad qof TOT FIfaar.
(3) FI= frymr vera FEEEeT @isardd.
faumT - ¢
7.1) Jeidudl FHiUal IR T WiEdT [4x2=08]

(31) Tpame (Worksheet) I8 T T &f@® (Row and Column) aredioy
(Insert) TFar *dT (Delete) FH HUA o fotar

() T-HAAT TEE ISEOT I F4.

(F) IAREIIN B|INT M ¢ A IHRE B 9
() wselic (Spreadsheet)yd s dART== fetaT.

(3) TIT AT (&l

(1 www
(i) Internet (3=e)
(%) TIOTHMET VST ITATHHARN  IUINT T H.
9.2) Yeldud! FHiUdal IR T WEAT [4x4=16]

(1) IET TROT BV TN B 7 BUMEE Th T .

(¥) DOS ®|US HE ¢ AT AIET fofar.

(F) HBIUTHTE S BATAAT 016 gomer (Office Software) TIsETeRIoT
TeTar.

() T-HHAY TS FE ? AT FHEAST (@@L
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(¥) Scanner U FE T AT I/ fE.
(%) faurop gfqerer (Anti-virus) oSt ®@ ¢ @il A @
9.3) Jeldu®s! FHUal IR YT e [4x4=16]

(31 DFEIE WIS FE 7 PEIEWERT IUgF  gomar  (Utility
Program)=t 3= =i ferar.,

() Output Devices IITEOTHE TICIHOT TeTal.

(%) MS-Windows =0Tl H& ¢ [Tl Wl T8 Sacdl gehid

T [T
(i) 3mSR (Icon)
(i) =S@eera  (Desktop)
(3) el =T foar
(i) ®9 ®EI (Main Memory)
(i) F= #HAL (Cache Memory)

() e (Search) I IIEWOTEE T H.
(F) WieeX HET qTOR FA@ ¢ @At [oraiered (Properties) feTar.

faamr - R

9.4) JEiud! FHiUMal IR FA WA [4x2=08]
(37) Account ®UN HT ?

(F) A IT WIAUE YOG HEwardt ded (Key) &iordr a ot el
TR ST 9

(F) oF IHFETE (Bank Reconciliation) 9T TSIhoT &,
() g=eed Tl (Invoice Entry) =ol &M ¢

(3) SolHe T FUAT dTUN BIOATETS! ATTOTAT FshIdicl Tarael I

ToTar.
(%) Sl Sales Order &3t AT 9
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9.5) Jeldds! HUdal IR 9T e [4x4=16]

(37) WUt SEREY (Computerized Account)™ WIS HI0Td d ToTaT.

(F) it IT WOBE GoTerEr iy forEr.

(F) SR (Leadger) a9 FHROGTETGT St T WIOTHIT FOTA I Fiohad
o foTar.

() ol JHRET (Account) TESH HIOUTHIST STRTOTIAT - Teierer
YHRT  THT ToTar.

(3) CoHed FUA! FSWAIA I8 T GO HAT TN Dl Sd d
fotar.

(%) St Journal Voucher (SRAE ©R¥TR) 6N JHR qUR BT 9

9.6) Jeldud! FHiUMal IR T WiEdT [4x4=16]

(37 <l AT WUE YOE B T IugEdT W B

(@) fafaer verem @R TS (Voucher Entries) s .

(F) @ TS PAcAT G TS IAX (@@T
(iy @®ea (Capital)
(i) @ (Courses)

() St AU WUE yumied Sfae/®ise (Debit/Credit)=t At &t
BAT A

(3) @ 3Me (Balance Sheet) &omwt &I ¢ I Joaw i
(Balance Sheet) ¥ U FWM &TH TH ICSIHOMHE  ToTal.

(%) S gfsw 3mpse (Trading Account) @ Profit @@ Loss

Account & T A o foTEr.
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[3669]-104

F.Y.B. Com. Examination - 2009
MATHEMATICS AND STATISTICS
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1 )v All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1
Q.1) Attempt any four of the following : [2x4=08]
(a) Find simple interest of Rs. 5,000 for 5 years at 10% p.a.
(b) Explain Finite Set and Infinite Set.
31 5 B - 1 6 9

(©) IfA=[216, s 15|

find A + B.
(d) If f(x) = x* — 3x + 2, find f(3).
(¢) Ravi holds 500 shares of Rs. 100 each. Company declares 12%

Dividend. Find dividend received by him.
(f) Explain the term L.P.P.
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Q.2) Attempt any three of the following : [5x3=15]

(a) Find interest on Rs. 15,000 for 5 years at 8% p.a. compounded
half yearly.

(b) A person purchased a share of Rs. 100 for Rs. 125. After getting
dividend of 20%, he sold the share for Rs. 150. Find percentage
of return on his investment.

lim X2 - 9
3 .

(c) Evaluate

(d) Find inverse of the matrix

ol 7

() A washing machine worth Rs. 20,000 is purchased on instalment
basis under 20 monthly instalments, including interest at 18%
p.a. Find Equated Monthly Instalment [E.M.L.] by monthly
reducing balance method. [(1.015)* = 1.3468]

Q.3) Attempt any three of the following : [5x3=15]

(@) A sum of Rs. 3,000 amounts to Rs. 3,960 at 8% p.a. Simple
Interest in a certain period. Find period.

(b) Which is a better investment :
8% at Rs. 80 or 15% at Rs. 120.

(c) Find determinant of the matrix :

3 2 1
A=13 4 =2
1 0 2
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(d Ify=x>+2x*-3x* +5,

dy
dx’

find
(e) Solve the follo.wing L.P.P. by graphical method :
Maximize z = 5x + 10y
Subject to 3x + Sy < 15
6x < 30
x>0 v>0.

SECTION - 11

Q.4) Attempt any two of the following : [2x2=04]
(a) Define :
(1) Population
(11)) Sample

(b) A set of 20 values has arithmetic mean 10. Find new arithmetic
mean if each value is decreased by 2.

(c) Calculate Range and Coefficient of Range of the following data :
52, 45, 60, 53, 48, 65, 42, 45, 60

- -3
d If bxy = EY and byx = 55 find value of ‘r’ and comment on

the result.
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Q.5) Attempt any three of the following :

(2)

(b)

(d

(e)

[3669]-104

[5x3=15]

Describe Scatter Diagram and explain its utility in the study of
correlation between two variables.

Describe Simple Random Sampling With Replacement (SRSWR)
and Simple Random Sampling Without Replacement (SRSWOR)
with an example.

Find median for the following data :

Marks

0-10

10-20

20-30

3040

40-50

No. of Students

5

8

10

4

3

Following is the frequency distribution of weights (1b) of 80
students :

Weight (1b)

No. of Students

100 — 109
110 — 119
120 - 129
130 — 139
140 — 149
150 - 159

07
15
18
20
12
08

Obtain :

(1)

(i)
(iii)
(iv)

v)

Frequency of 3rd class.

Class width of class — 130-139.

State type of Classification.

Class boundaries of second class.

Number of students having weight between 120(1b) to
149(1b).

What is an Index Number ? Discuss any two problems involved

in construction of an Index Number.

Contd.



Q.6) Attempt any three of the following : [5x3=15]
(@) Find Combined Standard Deviation of the following data :

Group 1 Group 11
n, = 50 n, = 100
X, = 70 X, = 40
c, = 10 G, =5

(b) Compute Standard Deviation for the following data :
15, 18, 22, 25, 10.

(c) Find Mean, Median and Mode for the following observations :
15, 18, 10, 20, 22, 25, 12, 18

(d) The following data relates to rank given by two judges in a
contest :

Sr. No. 1[2]3]4]5[6[7]8]9]10
Rank by Judge ‘A’[10| 5| 6| 1| 2[3[4] 7]9]8
Rank by Judge ‘B’| 5| 6[ 9] 2 8[7]3] 4101

Compute Rank Correlation Coefficient between the two judges
and comment on it.

(e) Calculate Price Index Number using :
(1) Laspeyre’s
(11) Paasches
(111) Fishers Method

from the information given below :

Commodities 1980 1985

Price |Quantity| Price |Quantity
Rice 3 5 4.5 6
Coconut Oil 24 2 18 3
Tea 20 1 35 2
Washing Powder 10 4 16 4
Sugar 3.5 4 6 5
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Q.7) Attempt any one of the following :

(@) Find Correlation Coefficient between heights of father and son
from the following data : (height in inches)

Height of Fathers { 65| 66 | 67 |68 |69 | 70 | 72 | 67
Height of Sons 67| 6866 |68 |72 |72 | 69| 70 |[[08]

(b) (1) The Correlation Coefficient between two variables x and
y is —0.6. If the Mean and S.D. of the two series are :

X y

Mean 13 27

S.D. 1.5 2
find regression line of ‘y’ on ‘x’. ; ‘ [04]

(i1)) From the following frequency distribution draw Histogram :
Age 0-20 | 2040 | 40-60 | 60-80 |80-100
Persons 10 21 15 7 2 [04]
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BT BAa

: 3 d] [THOT 0T : 80

JqEAr

(1) ad 997 3ifard 3Eq.

(2) IFatESla 3iF gof qur Feffaara.

(3) @I 2ueT T Forgeley FIRVIRT GG IR
(4) 3=t fryr gere Jaw@ed gigardd.

(5) Sewlardt g g7t gefa®sr wgrat.

faamr - ¢

9.1) JEids HodEt IR ged wisar [2x4=08]

(31) TG 4,000 THAT F.IL.E.IA. 0 A 4 AU WIS AT BT
(¥) Fid ¥9 9 3FEd 9 WS FE d TWE B

P R 1 N | B
@ A=, 16l TP 7|2 15

T A + B QL.
() f(x) = x* - 3x + 2 3™ f(3) &t Fpwa e

(3) T TGS 300 TYUTY “oo WRT 3MMed. BUA 12% @THII ITER
BT AT hal 94 AT B @

(W) WY dUage W9 TS B d W B
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9.2) YRidsr HUREt @ wer wigar [5x3=15]

() FHLEI. ¢ TWA wHaRE AT TEdR 4 a9 34,000 FYGTY
ﬁﬁ?s@méﬁa?(mmﬁﬁwwﬁmﬁ)

(¥) TF TERH oo T REwdham Som 93y sqaiT Ry Sdar
IIBST R0 T ATHINT Presrear=iaT @t at St 90 Sagi ferper,
T AT ot 2o yearar Heselm & @il

2
: X -9
(F) wigar lm.

X -3
7 =2
®) WﬁA=[5 Jmmwﬁmww.

(3) ¥ 20,000 [ gomdds Ml g™ R0 Al Rya
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9.5) Jeicudl HUEl dF 9o |isar [5x3=15]

(31) ‘ﬁﬂgﬁ?ﬁ ﬁﬂg AMFAT  (Scatter Diagram) U ®™ ? I
TATHYI FEHTY TSR (95 e WERAT FT VT
d W F

(@) AT ESTITET Wi UEdTY SATEUTHEd WA
(i) @l Ighes g GHRTEE A9 (SRSWR)
(i) «mer agres® g7 FEAERE™ AT (SRSWOR)

(F) YR qRaar framoiess qenm ser

T " 0-30 30-R0 [ R0-30 | 30-Ro Qo-%0
it dsr| . ¢ %0 ) 3
(8) YR ¢o fmmeatem o graRar Rrwmef R em
TH_(G) ranft g
300-30%¢ ol
930-38% %
3R0-23% 3¢
330-33¢ R0
280-38% R
240-248 o¢

Tl gl Iy forar -
() guur T fawna wigter e
(i) Fra=r guit ai@far foer.
(iii) $30-33% AT WY WiAT HIaT.
(iv) R0 Wi @ 8¢ dis To= v frameni<ht @ @@
(v) ot U Hioal o ferer
() TEeri® (Index Number) ®=UTst S/ ¢ TE9T® d9UR HTET JoTM=AT
FHUTATE FH qEHEE g9t B
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9.6) Jelus! FHiUE S g9 wisar ¢ [5x3=15]
(N YR fadew wfediass THhd g foued e

e - 3 e - R
n, = 50 n, = 100
X, = 70 X, = 40
01210 02:5

@) Y fadem wfedaea gAY fa9ad $RT
2, 2, I}, W, %0
() e feen Teoiadt 7w, weRn 9 g SRl
34, 3¢, %0, R0, RI, RW, I, W
(8) T UNGTHAN THT Wefa fetet ITis (Ranks) Jeidd IO 318

WdF HATSE el 2 3] 8l s|lgslw] ¢|s|

qieTE ‘AT YTATE 30| s | s 3} [ 3| 8| W] |

ey ‘BT | s | | | | ¢|w ]| 3| 8]3%0]3

Sl TNGTHAGIA UTAiETaT Hed Y WEUIE BT AT AT
AT AL

() YSa wWiitawed feaa Euis Selld ggal $eT ¢

(i) o= g=gd

(i) 9Nl ugd
(iii) TR Umd
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Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3669]-103
F.Y.B. Com. Examination - 2009

BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Business Economics ?
(2) What do you mean by Functional Relationship ?
(3) Define Demand.
(4) What is Elasticity of Demand ?
(5) What is Opportunity Cost ?
(6) What is Accounting Cost ?
(7) What is Marginal Revenue ?
(8) Define Oligopoly.
(9) What is Price Discrimination ?
(10) What is Collective Bargaining ?
(11) Define Rent.
(12) What is ‘Minimum Wages’ ?
(13) What is Profit ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) What are the Economic Goals of a Firm ?
(2) Explain concept of Market Demand.
(3) State Direct Methods of Demand Estimation.
(4) Explain Law of Supply.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain scope of Business Economics.
(2) Explain Law of Demand.
(3) Explain concept of Break-even Analysis.

(4) Explain Short Run Equilibrium of a Firm under Perfect
Competition.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the Properties of Indifference Curve.
(2) Explain Law of Variable Proportions.
(3) Explain Marginal Productivity Theory of Distribution.
(4) Explain Liquidity Preference Theory of Interest.
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[3669]-103
AUSt HAE
% : 3 d9] [CFT T[T : 80
qAAT

(1) & go7 Tt maeas e,
(2) ITAPSIT 3iF FoATd gUl T FIAfAaa.
(3) STMIITHAT IHA TT GAF TFAT FIa.

7.1) TEE WAl Ro TeFd 3T fTET ¢ (HIUTHEr J@T) [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
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(11)
(12)
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o C
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9.2) TAA G “o Iwid Ia¢ (@&l : (HIUagEt <€) [10]
(1) SONERRT 3TiYe <Oy SOl 3med ?

(2) TR HAEORT el T B,

(3) HEON ISl Y Ugdl .

(4) YEEMET IR W F

7.3) Tl WA %0 eFid IWX [oT8T @ (Fiurddt qi) [20]

(1) SATEETS AT AT T B,
(2) |EETET T W &1L
(3) wHAfq=sET fasdwor (Break-even Analysis) & HoeqdT TS .

(4) 97 WA SOET SRIET IR SHAld I H

7.4) A YA 300 (&R I TT&T [30]

(1) TAIG THE OUH  JiOaY W FH.

(2) TEAET FEOTET FOE W S

(3) T WiT IATERdT agia T &AL
(4) ST WSAT 9EAT WSd T B,
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Total No. of Questions : 4] [Total No. of Printed Pages : 8
[3669]-102

F. Y. B. Com. Examination - 2009
FINANCIAL ACCOUNTING
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ True or False : (Any Six) [06]

()  Accounting Standard No. 1 deals with disclosure of
Accounting Policies.

(i)  Reconstitution of the firm involves change in share of profit
of partners.

(i)  In amalgamation of firm, assets and liabilities not taken over
nor sold can be transferred to Partner’s Capital Account.

(iv) Receipts and Payments Account records only cash
transactions.

(v)  Where the designer gives exclusive rights to another to
copy the work, the royalty is based on sales.

(vi) The difference between Invoice Price and Cost Price is
called ‘Loading’.

(vii) Down Payment means an initial payment payable by the
hire vendor, at the time of entering into hire purchase
agreement.

(viii) Mircosoft Excel is an example of Spread Sheet Package.
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(b)

[3669]-102

Fill in the blanks from the brackets : (Any Six)

()

(i)

(i)

(iv)

v)

(Vi)

(vii)

(viii)

The Institute of Chartered Accountants of India constituted
the Accounting Standard Board in

[1967, 1957, 1977]

ratio is generally calculated at the time of
admission of a partner.

[Gaining, Sacrifice, Old]
Loss due to insolvency of a partner is a loss.
[Revenue, Capital, none of these]

Assets and Liabilities not taken over by the new firm are
transferred to capital accounts of the partners in the
ratio.

[Profit Sharing, Capital, Gain]

Not for profit organisations are based on
theory.

[Fund, Entity, Normal]

The Hire Purchase Transactions are regulated by the Hire
Purchase Act,

[1962, 1972, 1982]

Account will be open as long as Royalty is
less than Minimum Rent.

[Minimum Rent, Revaluation, Realisation]

Account can be maintained in a computerised environment
by using an package.

[Accounting Rules, Accounting Procedure, Accounting
Software]

[06]
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(c) Write short notes : (Any Three) [12]
(i) Overview of Accounting Standards in India
(i)  Reconstitution of Partnership Firm
(i) Contents of Hire Purchase Agreement
(iv) Concept of Grouping of Accounts
(v) Consideration for Selection of Accounting Package

Q.2) Saurabh, Sachin and Rahul are carrying on business in partnership
sharing profits and losses equally. They decided to dissolve the firm
on 31-12-2007. Following was their Balance Sheet as on that date :

Balance Sheet as on 31-12-2007

Liabilities Rs. Assets Rs.
Creditors 30,000 | Fixed Assets 65,000
General Reserve 30,000 | Current Assets 40,000
Capital : Cash in Hand 20,000

Saurabh 30,000

Sachin 10,000

Rahul 20,000

Income Tax 5,000
1,25,000 1,25,000

It was agreed that after keeping aside Rs. 2,000 for estimated realisation
expenses, the available cash should be distributed amongst various
parties as and when realised.

The assets were realised in the following instalments :

On 31st January, 2008 - Rs. 17,300
On 28th February, 2008 - Rs. 29,700
On 31st March, 2008 - Rs. 27,000

The actual realisation expenses amounted to Rs. 1,400 only.

You are required to prepare statement showing distribution of cash by
using Garner Vs. Murray’s Case under Maximum Loss Method. [16]

OR
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Q.2) Mr. Kapil and Mr. Nikhil were partners sharing profit and losses equally.

They decided to convert their firm into a limited company on 31st
March, 2008, when their position was as follows :

Balance Sheet as

on 31-03-2008

Liabilities Rs. [ Assets Rs.
Partner’s Capital Alc. Land and Building 70,000
Kapil 50,000 Plant and Machinery | 20,000
Nikhil 50,000 1,00,000 | Patents 10,000
Sundry Creditors 54,000 [ Sundry Debtors 1,00,000
Bank Overdraft 50,000 | Stock in Trade 40,000
Term Loan 20,000 | Bills Receivables 14,000

Reserve Fund 30,000
2,54,000 2,54,000

Other Information :

(1)

The goodwill of the firm was to be valued on the basis of twice

the average profits calculated on previous three years profits
which were Rs. 40,000, Rs. 46,000 and Rs. 52,000 after setting
aside Rs. 10,000 to Reserve Fund each year and charging
Rs. 3,000, Rs. 1,800 and Rs. 6,000 respectively in respect of

Income Tax.

(2)

The Land and Building and Plant and Machinery were taken over

on revaluation at Rs. 1,50,000 and Rs. 30,000 respectively.

3)

The purchase consideration was paid by the limited company

by issue of 60,000 equity shares of Rs. 10 each; paid up
Rs. 5 per share and the balance in cash.

You are required to prepare :

(@ Calculation of Purchase Consideration
(b) Realisation Alc.

(c) Partner’s Capital Alc.

(d) Limited Company’s Alc.

(e) Cash Alc.

in the books of partnership firm.

[3669]-102
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Q.3) (A) Gopal, Ganesh and Girish were partners in a business, sharing
profits and losses in the ratio of 2 : 1 : 1 respectively. Their
Balance Sheet on 31st December, 2006 was as follows :

Balance Sheet as on 31-12-2006

[3669]-102

Liabilities Amount | Assets Amount
Sundry Creditors 3,000 | Land and Building 6,000
General Reserve 1,600 | Sundry Debtors 5,000
Partners Capital A/cs : Stock 4,000

Gopal 6,000 Bank 5,000
Ganesh 5,000
Girish 4,400 15,400

20,000 20,000

Gopal died on 1st April, 2007.

(1) The partnership deed provided that :

(i)  The deceased person’s share of profit upto the date
of his death should be based on the average profit
of the last two years profit.

(i)  His share of goodwill should be calculated at three
years of the average of the profits for the last
four years profit, which were 2003 - Rs. 16,000,
2004 - Rs. 12,000, 2005 - Rs. 8,000 and 2006 -

Rs. 4,000.

(2) Land and Building was to be revalued at Rs. 7,000 and
R.D.D. was to be created at Rs. 200.

(3) The drawings of Gopal up to the date of his death
amounted to Rs. 1,000.

(4) Interest on Capital was to be allowed at 10% p.a. and
charged interest on drawings Rs. 100.

Prepare :

(@ Profit and Loss Adjustment Alc.
(b) Give working of share of Profit and share of Goodwill of

Gopal.

(c) Gopal’s Capital A/c., showing amount payable to his

executors.

5
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(B)

Y Ltd. took from Mr. Ram a lease of coal field for a period
of 10 years from 1st January, 2005. The said lease provided for
payment of Royalties to Mr. Ram at Re. 0.50 per tonne with
a minimum rent of Rs. 8,000 p.a.

Each year excess of minimum rent over the actual royalties were
recoverable during the next two years. The lease, however,
stipulated that if in any year the normal rent was not attained
due to accident, the minimum rent was to be regarded having
been reduced proportionately having regards to the length of
stoppage. The output was as follows :

2005 - 7,000 tonnes 2006 - 14,000 tonnes
2007 - 20,000 tonnes 2008 - 12,000 tonnes

During the year 2008 there was a stoppage of work due to
accident lasting for three months.

Pass necessary Journal Entries in the books of Y Ltd. for above
four years.

Q.4) The following is the Receipt and Payment Account of Shanti Niketan

High

School, Pune for the year ended 31-12-2006 :

Receipts and Payments Account
for the year 31-12-06

Receipts Rs. Payments Rs.

To Opening Cash 1,000| By Salaries 8,500

To Admission Fees 1,600| By Office Expenses 4,000

To Tuition Fees 14,000| By Printing 3,500

To Donations 3,500| By Furniture (1-10-2006) | 5,000

To Life Members Fees 1,000| By Sports Material 2,000

To Term Fees 4,500| By Rent 600
To Examination Fees 4,500| By Fixed Deposits

@ 10% on 1-4-2006 | 6,000

By Closing Cash 500

30,100 30,100
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Adjustments :
(1) Assets of the High School on 1-1-2006 were as follows :

Building - Rs. 22,000
Furniture - Rs. 10,900
Books - Rs. 8,000
Laboratory - Rs. 6,000

(2) The tuition fees received includes Rs. 2,000 for the year 2005
but Rs. 1,000 are outstanding for the year 2006.

(3) Furniture and Building are to be depreciated @ 10% p.a.
(4) Donations and Life Members Fees are to be capitalised.
(5) Sports Materials are valued at Rs. 1,500 on 31-12-2006.
(6) Rent paid includes Rs. 100 for 2005 but Rs. 300 are payable

for 2006.

Prepare :

(@ Income and Expenditure Account for the year ended
31-12-2006.

(b) Balance Sheet as on that date. [20]

OR

Q.4) (A) Mrs. Dipti, the proprietor of Modern Sewing Machines, sent on
consignment to Mr. Deepak, 100 Sewing Machines costing
Rs. 300 each. The machines were sent at invoice price which
Is 25% above cost price. Mrs. Dipti spent Rs. 800 on Freight
and Insurance.

Mr. Deepak received delivery of 90 machines, 10 being lost in
transit and paid Rs. 500 for carriage etc. Mr. Deepak sold 70
machines on credit at Rs. 500 each. He found 5 machines
defective and therefore, returned them to consignor at a cost of
Rs. 60. He is entitled to a Commission at 5% on Invoice Price,
10% on Surplus Price realised and 1% del credre Commission.

Show Consignment A/c. and Deepak’s A/c. in the books of
Modern Sewing Machine. [10]
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(B) On 1st January, 2004, Sai Ltd. purchased Moving Machine from
Tata Ltd. on Hire Purchase System. The Cash Price of the
Moving Machine was Rs. 3,00,000. Sai Ltd. paid Rs. 40,000
on signing of the agreement and agreed to pay balance in 5
instalments of Rs. 60,000 each payable annually on 31st December.
The Tata Ltd. charged 5% interest p.a. on yearly balance. Sai
Ltd. decided to provide depreciation at 10% p.a. on Reducing
Balance Method.

Prepare Tata Ltd. A/c. with suitable working. [10]
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[3669]-101
F. Y. B. Com. Examination - 2009
FUNCTIONAL ENGLISH
(Compulsory English)
(New 2008 Pattern)
Text Prescribed : Reflections - |

Edited by : P. Bhaskaran Nair

Geetha Rajeevan

G. Radhakrishna Pillai
Time : 3 Hours] [Max. Marks : 60

Q.1) Answer any two of the following : [12]

(@) Comment on the changing decisions of Fador Sigaev in ‘The
Avenger’.

(b) How does Tagore criticise mere rituals and blind worship ?
(c) How does the poet describe truthfulness of the mirror ?

(d)  Why did Wasserkopf want a refund of the tuition fee ? Why
did he fail in getting the refund ?

Q.2) Answer any three of the following in short : [12]

(@) What were the different ways in which Nicola and Jacopo earned
money ?

(b) Attempt a brief character sketch of Margaret’s son.
(c) Describe end of the story ‘The Conjurer’s Revenge’.

(d) Comment on the theme of the poem ‘Gather ye Rosebuds while
ye may’.

(e) In what way does the personal tragedy of the Director represent
the destruction caused by the tsunami ?
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Q.3) Attempt any two of the following : [12]
(@) Write a paragraph on the uses of Computer and Internet.
(b) Write a brief dialogue on the following situation :

You want to use your friend’s computer for an hour. Your friend
permits you to use it.

(c) Imagine that a close friend of yours has lost a parent. Write
a letter of condolence extending your support to him/her. You
may keep the following points in mind while writing the letter :

(i)  Acknowledge the loss - note how you came to know of
the loss and express your shock and dismay.

(i) Express your sorrow sincerely.
(ili) Note special qualities of the deceased.

(iv) Close the letter by offering support to your friend in
his/her time of grief.

(d) Write an argumentative piece of your own on the following
topic :

“Politics should be banned from academic campuses.”

Q.4) Do as directed : (Any Six) [12]
(@) Fill in the blanks using a suitable word given in the brackets :
(i) I have for myself in the hostel.
[room / a room]
(i) under the bed woke her up.
[noise / a noise]

(b) Construct a single sentence using the following words in any
order :

test, failed, job
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()

(d)

(€)

()

(9)
(h)

(i)

[3669]-101

Make a sentence using the phrasal verb given below :
‘get rid of’
Fill in the blanks choosing correct word from the brackets :
(i) He had a great for his son.
[affliction / affection]
(i) I have been working hard. | need
[rest / wrest]
Give synonyms of the following words :
(i)  conjurer
(i)  deception
Give short forms of the following words :
(i)  department
(i) advertisement
Make a sentence using the word ‘criticize’.

Make nouns from the following :

(i)  childish

(i)  buy

Fill in the blanks using a suitable word from the brackets :

(i)  Herlovely figure is quite suited to her profession.
[slim / fat]

(i) My friend eats a lot. Yet she looks

[trim / plump]

3 P.T.O.



Q.5) Do as directed : (Any Six)

(@)

(b)

()

(d)

(€)

()

(9)

(h)

(i)

()

What harm is there if thy clothes become tattered and stained ?

[Change the rhetorical question into a statement]

Complete the following sentence using a suitable relative clause :

‘Have you got a book ?’
The table’s legs were broken.

[Correct the sentence and rewrite]

Let’s not quarrel each other because we have been

friends SO many years.

[Fill in the blanks with suitable propositions]

Why are you afraid of her ? | want to know that.
[Combine the sentences]

Nicola said, “Every Sunday we make a visit to Poleta.”
[Change into indirect speech]

| rang you up three times.

[Add a question tag]

Fill in the blanks using a suitable word from the brackets :

(1) I need to myself a goal.

[set / make]

(i)  All the students are invited to suggestions.

[give / make]
If some wild animal comes this way
[Complete the sentence appropriately]
The Minister of Education inaugurated the seminar.

[Change the voice]

[3669]-101/4

[12]



Total No. of Questions : 5+2] [Total No. of Printed Pages : 3
[3669]-42
F. Y. B. Com. Examination - 2009
OFFICE MANAGEMENT AND SECRETARIAL PRACTICE

PAPER - Il
SHORTHAND (THEORY AND PRACTICAL)
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 70

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Time : 1 Hour] THEORY [Max. Marks : 20
Q.1) Fill in the following blanks : (Any Four) [04]
(@ Pitman Shorthand is phonetic, because words being written to

their
(b) There are long vowels represented by a heavy

dot and a heavy dash.
(c) Downward ‘r’ is always written before
(d) An initial circle is always read

(e) The four dipthongs are : , :

Q.2) Transcribe the following shorthand passage into shorthand script :  [04]

“For several special reasons | should like you to come to see me
on Wednesday as early as you can. | specially desire you to write
out the names of all the firms with which you have had business dealings
since you came to us. | shall discuss a new policy with you and the
names for which | ask may be of use. | am a bit upset at the refusal
of your friends.
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Q.3) Answer the following questions in brief : (Any Two) [04]

@)
(b)
(€)

Q.4) (A)

(B)

Q.5) State
(@)
(b)
(c)
(d)
(e)

[3669]-42

Describe the basic features of Shrothand.

Describe the good qualities of Phraseograms.

What is meant by Vowel ? How many vowels are there in Pitman
Shorthand ?

State the following definitions : (Any Two) [02]
(@ Logograms

(b) Phraseography

(c) Consonants

Write the shorhand outlines of the following grammalogues :
(Any Four) [02]
(@  Should

(b) Difference

(c) Which

(d) Given

(&) Would

(H  Several

the following statements are true of false : (Any Four) [04]

Strokes are 36 in number in shorthand.

The full stop is indicated by a heavy dot in shorthand.

There are 8 dispthongs in shorthand.

A small circle used initially represents ‘S’.

Thick strokes are never written upward.
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Time : 1 Hour] PRACTICAL [Max. Marks : 50

Instruction :

Dictate the passages ‘A’ and ‘B’ for ‘5’ minutes each. After
passage ‘A’ give two minutes rest. After the dictation students have
to write and transcribe the dictated passages within one hour,

Q.1) Passage ‘A’ : [25]
Dear Sir,

Thank-you for-yours of-the first of April and-for mailing me your price-
lists and samples of blue and black inks and glue in-the several sizes
of bottles. I-think-the labels are better and brighter now. I-shall give-
the samples a fair trial during-the next few weeks and if suitables. I-
may-be able to stock a large number of-the smaller sizes. As I-think-
you know my principal business is with legal offices and as you-will
agree it-is essential to offer them only first-class inks.

Yours Truely.
Interval for 2 minutes
Q.2) Passage ‘B’ : [25]

I-wish you to-write to me as to-the disposal of-those cases of-yours
which I-have-had lying in-these offices for a years now. You have-had
successive notices asking you to remove them, but to no purpose.
The cases themselves are ugly and-they can scarcely be said to be
sweet-smelling. Besides this, the space in-these offices is too small for
my business, and I-have-no room to spare for-these packages. This-
IS an unnecessary annoyance and-I insist on-your taking the cases away
by-the tenth of July at-the outside.
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[3669]-40
F.Y. B.Com. / B. A. Examination - 2009

TAX PROCEDURE AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 1)

(Old 2004 Pattern)

Time : 2 Hours] [Max. Marks : 60

Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(1) Discuss importance of form ‘Appropriate State’ under CST Act.
(2) Explain ‘Taxable Goods’ under M.VAT Act.

(3) Who can sign Application for Registration in Form-A under CST
Act ?

(4) What is called ‘Business’ under M.VAT Act ?

(5) Who is required to get ‘Compulsorily Registered under CST
Act’ ?

(6) Explain Sales Outside the State under CST Act.

(7)  Who is called ‘Importer’ under M.VAT Act ?

(8) Explain importance of Form-C under CST Act.

(9) What are the characteristics of the term ‘Dealer’ under M.VVAT Act ?

(10) Enumerate ‘Documents of Title’ to the Goods’ under CST Act.

[3669]-40
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Q.2) Answer in details in 50 words each : (Any Two) [08]

(1) Enumerate various Forms under CST Act available for concessional
rate of tax or no tax under CST Act.

(2) Discuss Incidence for tax u/s 3 of M.VAT Act.

(3) Discuss ‘Sale Price’ under CST Act.

(4)  When sales or purchase is said to take place in the course of
‘Import or Export’ under CST Act.

Q.3) Answer in details in 150 words each : (Any Three) [18]

(1)  When does the sales or purchase take place in the course of
Inter-state Trade or Commerce ?

(2) Enumerate objectives and salient features of Central Sales Tax
Act.

(3) What are the types of ‘Assessments’ under M.VVAT Act ? Discuss
provisions and procedure.

(4) What is “‘Audit’ ? Discuss importance and objects of Audit under
M.VAT Act.

(5) Explain who and when, is required to file return under CST Act.

Q.4) Write long answer in 500 words : (Any One) [20]

(1) Discuss in details various sections and rules applicable for
Registration of the Dealer under CST Act.

(2) What is meant by Return ? What are the kinds of Returns under

M.VAT Act ?

[3669]-40/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3669]-39
F.Y.B. Com. / B. A. Examination - 2009

ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - I
ADVERTISING
(Vocational Course - II)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 60

Instructions :
(1) AIll questions are compulsory.
(2) AIll questions carry equal marks.

Q.1) Describe objectives and advantages of Advertising in Modern Business.
OR

Q.1) Write a detailed note on Advertising Budget.

Q.2) State and explain various medias of Advertising.
OR

Q.2) What do you mean by Advertisement Copy ? Explain essentials of a Good
Advertisement Copy.

Q.3) What is Direct Mail Advertising ? State its advantages and limitations.
OR

Q.3) “Advertising is an investment and not expenditure.” Discuss.
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Q.4) Write short notes : (Any Three)
(@ Role of Advertising Agency
(b)  Social Advertising
(c) Balance in Lay-out
(d)  [Hlustration and Slogan

(e) Limitations of Advertising
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[3669]-37
F. Y. B. Com. Examination - 2009
COMPUTER APPLICATIONS
(Theory)
(Vocational Course - II)
(Old 2004 Pattern)
Time : 2%, Hours] [Max. Marks : 60
Instructions :
(1) Attempt any five questions from Section - I.
(2) Attempt any five questions from Section - II.
(3) Figures to the right indicate full marks.
(4) Draw a neat and labelled diagram wherever necessary.

SECTION -1

Q.1) Enumerate various steps in Program Development. [06]
Q.2) Write a note on Structured Programming. [06]
Q.3) Explain the following functions with syntax and give example : [06]

(@ strlen()

(b)  strdup()
Q.4) Explain nested if.... Else statement in detail with example. [06]
Q.5) Explain the following terms briefly : [06]

(@ Data types in ‘C’

(b) C Constants
Q.6) Write how numeric arrays are declared and initialized. [06]
Q.7) What is Algorithm ? What are the uses of Algorithm ? [06]
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SECTION - 11

Q.1) Explain in brief various functions of Operating System.

Q.2) Explain in brief the following terms :
(@  Multi-processing Operating System
(b)  Multi-threading Operating System

Q.3) Explain the following MS - DOS Commands :
@ CD
(b) DEL
(c) DELTREE

Q.4) List various components of LAN.

Q.5) Explain the following Network Topologies :
(@ Mesh
(b) Ring

Q.6) Explain the following terms :
(@ TCP/IP
(b) Bandwidth

Q.7) Write a note on Communication Media.
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[06]

[06]

[06]

[06]

[06]

[06]

[06]
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[3669]-35
F. Y. B. Com. Examination - 2009
OFFICE MANAGEMENT AND SECRETARIAL PRACTICE
PAPER - |
TYPEWRITING (THEORY AND PRACTICAL)
(Vocational Course - 1)
(Old 2004 Pattern)

Time : 2 Hours] [Max. Marks :

Instructions :
(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

3

70

Time : 1 Hour] THEORY [Max. Marks :

Q.1) Write functions / uses of the following points of the typewriter :
(Any Five)

(@ Tab Set

(b) Back Spacer

(c) Line Space-setter

(d) Line Space-lever

(e) Shift Lock

()  Tabulator all-clear lever

(g) Margin Setter

20

[10]
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Q.2)

Q.3)

Time :

Q.1)

Fill in the blanks : (Any Four)

(@ To move the carriage back by one space with the help of

key.
(b) The fingers must always return to key.
(c) The shift-lock is used for typing.

(d) The person who knows typewriting is called a
(e) Paragraph setting is done by key.
Write short notes : (Any Two)

(@ Portable Typewriter

(b) Importance and use of typewriter in office

(c) Use of Tabulator Bar

(d) Difference between Electronic Typewriter and Manual Typewriter

Type the following passage in 20 minutes :

Death is the leveller for all. Death is above all. Nobody is an exception
to death. On the strength of man’s blood and status one can achieve
many glories. One may even conquer the world but these glories are
not the solid permanent substantial things but shadows. Every man is
governed by his fate. One can fight and defeat his enemy but no one
can defeat death. Death puts its hands on all alike. The king and the
crown all are subject to death. And in the end they all are made equal
with the dust.

This world is known for ‘Might is Right’. Some men like Alexander,
the great, may conquer the world on the strength of their sword and
may achieve new honour and glory in war by killing their enemies but
they can never be able to conquer death. Their strong will to conquer
death at last yields to it. They can outwit one another in war; or they
can tame one another but not death. Today or tomorrow, early or late,
one day they must give up their breath.

1 Hour] PRACTICAL [Max. Marks :

[04]

[06]

50
[20]
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Q.2) Type the following business letter in proper form in 20 minutes : [20]
M/s Nandini Dresses, Main Road, Nashik
Ref. ND/2009/dated 16/9/2009.
Subject - Damaged Dresses

Dear Sir,

| think you remember that last week | purchased three dresses from
your store. You were then pleased to speak highly about the guarantee
of the dresses and the fit and perfect stitching of them. You had also
given a guarantee of those dresses. At home | opened the dresses
and put them into use. However | found that one of them is in a
torn condition. | am therefore sending those dresses with the bearer
of this letter and your guarantee card.

Q.3) Type the following figures properly in 20 minutes : [10]
2122, 91987, 8700, 254434, 400, 08, 786, 1551, 13415, 1020
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[3669]-33
F.Y.B. Com. / B. A. Examination - 2009
TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 60

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]

(1) State meaning of ‘“TAXATION’.

(2) Define ‘Direct’ and ‘Indirect’ Tax.

(3) What do you mean by canon of “‘Variety’ and ‘Simplicity’ ?

(4) Define Previous Year and Assessment Year.

(5) Define ‘Person’ under Income Tax Act, 1961.

(6) State model of ‘Taxation Structure in India’.

(7) How *‘House Rent Allowance’ is valued ?

(8) What do you mean by ‘Tax Sharing’ under the Constitution of
India ?

(99 What do you mean by ‘Cash Withdrawal Tax’ under Income
Tax Act, 1961.

(10) What do you mean by FBT and who is liable to pay FBT ?
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Q.2) Answer in 50 words each : (Any Two) [08]

(1) Give difference between ‘Direct’ and ‘Indirect’ Taxes.
(2) Write note on Article 280 of the Constitution of India.
(3) Explain in brief the canons advocated by Prof. Adam Smith.
(4)  Which perquisites are fully taxable under the head ‘Salary’ ?
Q.3) Answer in 150 words each : (Any Three) [18]
(1) State and explain Kinds of Capital Gains.
(2) Explain various taxes of Central Government.
(3) How taxable income under the head ‘Income from House
Property’ is calculated ?
(4) State and explain any six advantages of Direct Taxes.
(5) Write a note on ‘Income from Other Sources’.
Q.4) Answer in 500 words : (Any One) [20]
(1) Explain in detail the taxation powers of Central and State
Governments and distribution of Revenue between Central and
States.
(2) Explain the term ‘Salary’. How taxable income is computed

under the head ‘Income from Salary’ ?
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[3669]-32
F. Y. B. Com. / B. A. Examination - 2009

ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 60

Instructions :
(1) AIll questions are compulsory.
(2) All questions carry equal marks.

Q.1) What is Sales Promotion ? Explain various Tools of Sales Promotion.
OR

Q.1) Define Communication. Explain nature and importance of Communication
in Marketing.

Q.2) What do you mean by Personal Selling ? Explain its advantages.
OR

Q.2) Discuss qualities of a Successful Salesman.

Q.3) Write a detailed note on Integrated Marketing Communication.
OR

Q.3) What do you mean by Public Relations ? Explain its need and importance.
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Q.4) Write short notes : (Any Three)

(@)
(b)
(©)
(d)
(€)

Direct Marketing

Targets

Advertising Vs. Personal Selling
Methods of Marketing Communication

Effective Presentation
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[3669]-30
F. Y. B. Com. Examination - 2009

COMPUTER APPLICATIONS
(Vocational Course - 1)
(Old 2004 Pattern)

Time : 2%, Hours] [Max. Marks : 60
Instructions :

(1) Attempt any five questions from Section - |I.

(2) Attempt any five questions from Section - II.

(3) Figures to the right indicate full marks.

(4) Draw a neat and labelled diagram wherever necessary.

SECTION - |

Q.1) Write a short note on various Input Devices. Explain working
principle of Monitors in details. [06]

Q.2) (A) Convert binary number 111001 into its equivalent decimal
number. [02]
(B) Compute binary multiplication 1110 * 101. [02]
(C) Compute binary addition 11111 + 100001. [02]
Q.3) What is Internet ? [06]
Q.4) Explain briefly the following : [06]

(@ System Software

(b) Magnetic Tape
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Q.5) Write a short note on various Output Devices. Explain working
principle of Monitors in details.

Q.6) Explain briefly the following :
(@ Generations of Computers

(b) Secondary Memory

Q.7) What are various Secondary Storage Devices ? Explain in detail
Magnetic Disks.

SECTION - 11

Q.1) Describe various advantages of WINDOWS and DOS Operating
Systems.

Q.2) Explain the following functions used in MS-EXCEL :
@ SUM()
(b)  AVG()

Q.3) What is a Database ?
Q.4) State any five features of MS-WINDOWS.

Q.5) Explain briefly the following terms :
(@ Cut, Copy and Paste
(b) Page Setup

Q.6) Write a short note on Creating a Database.

Q.7) Explain the following terms in brief :
(@ Tool Bar
(b) Header and Footer
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[3669]-28
F. Y. B. Com. Examination - 2009

GUJARATI

(Old 2004 Pattern)

Time : 3 Hours] [Max. Marks : 80
W.4) SIS uRl g Usddi-l Gdr @vil [R0]

(1) ™y W H2 slRAME oA © 7

() [ asdui Wdid Aoe 3 dd 2ud & ?

(3)  wtogsel 3x erauon viedl -l ?

(¥) el SulR 30 eleysl Gl ?

(W) ol =2 3yA otdl cRal QUi wd 7

(g) =opuSell o W2 o A © ?

(9) a3y s18 weldi A6l oledld .

(¢) 2l A& 1 UL AWML Y5l A edl ?

() uw Gselddl 56 ald Wl dud adl el ?

(10) AdlAl 2teudl Rad sui 2l gal Houi ?

(1) avudl 55 ol AA R W ?

(22) w W2 dlsl Aslet ¥isA GOl Aele 2L ?

(43) 53 ad deuxd How 3l vy ?
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w.2) yaluz Aol a@vil @ (516 uw o) [10]
(1) “cammort il wA deg % 77
“aelld Hay vledl wdl @l

(<)
(3)  “addst B ugdl siadL 523 e «iL adl.”
(%)

¥)  “el, € @9 ¢, dlMl €A wd 9.7
W.3) Eselid @il @ (SIS vl o) [20]
(1) 2a weardl Adl ud-AL A
() “uRdw ldsd >R
(3) “Aaigaral 2wdrdd wer Bas
(¥)  ‘saadl yHi 2udeiddl Hd-dl @l
W) A Gar duil ¢ (51 ua ol) [30]

(1) “ulRudl adlinl @ad-dl @Ry Pl 2dvd 8.7 e $3.
() “xRull aal>lil adqedl @eiadl sd 4 9.7 32,
(3)  audl-i 8es drld 2uqui vl qRwAl Rulg asldl.
(%)

¥)  “alRuidl aldl2iml saucls ugladl GuAldl 4dl 9.7 W 3.
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Total No. of Questions : 4]

Time : 3 Hours]
Instructions :

[3669]-27
F. Y. B. Com. Examination - 2009

URDU GENERAL
PAPER - |

(Old 2004 Course)

(1) Attempt all questions.
(2) Figures to the left indicate full marks.

[Total No. of Printed Pages : 4

[Max. Marks : 80

[20]

P.T.O.

IR g B LUty 8 e
a5 i o f

wlmsget wl sl ol L s
_af

S et S B L LS i
?‘L&led/

cr Sl wf B S L

Ce U K g S kT Loy
A Ll e 78w
LA i, L L 5

()

(r)

(r)
(")
(®)
Q)

| Al
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-é%;zgérwlxgéé/b (2)

E gl o (D)

G e P LUk ©

C w1 L arp (19)

e b S e (D)

?Lru:fqu,;.,frg“(&’wﬂ% (1)
C s 3 L e b L () ,
[10] :gg’ﬁé})u/(éu:d}. v Ay

e sl ey O

JB G726 OB g™ (1)

86 LI = uer (1)

Ut § e Loy ()

[10] & f e § s b = st s (D A

Consumer (1)
Forecast (1)
Deposit ()
Capitalization ()
Borrower (&)

Share-holder (Y)
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[12]

[12]

[10]

[05]

[05]

[05]
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Agreement (<)

Enterprenour (A)
J)’ébwg J(f:‘él"./b?:u'g/LJ&
lrJ..u"il J:Jyz(!&c"ﬂ J/Zfi:c/l}n

-J &b
b

mébvprté/"-{jiséﬁ:ﬁdﬁu
Ly wlfné Z gL L}.’:{l

()

()

:édﬂf?u’;;ug{(h—j”)

ue# § O

Ul w5 § e (1)

E oK = uds

Ui L LCF i O

-Gz 6 L ()

e pdFgteet (P

E L L Je S sl S
\

e Je L3 P S e

()

@)

@)

v Ay
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[08]

22{,&)@»/’(:«1?4!‘_}:5
The teacher of all nations have said to the world
'"Think good', for by thinking good of everybody
and everything, we experience harmony within
wrong thinking brings discomfort to the mind.
Then why think wrong ? Good thinking, like

good cricket, comes with practice.
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[3669]-25
F. Y. B. Com. Examination - 2009
SANSKRIT
UEhd HRY
(Old 2004 Pattern)
9% : 3 M| [TeguT TMOT ;80
Q.1) Write short answers on any ten of the following : [20]
7.1) Yeldud! HIUTEl @1 gl JiEaa a8 (ofel [20]
(1)  Why Sugriva is not willing to accept Bibhishana ?
foriivoeT @R % 99 3™ gUEEr & dred ¢
(2) What is Kandumahafshi’s opinion about refugee ?
IROUTATATITSAS  FUSHEND AT HI MME ?
(3) What is the meaning of STX aw ?
IR T FHAH O ©
(4) State the meaning of $=d.
THId WIS B o (oTEl.
(5) Who is deserved to be punished by King according to Manu ?
TS FHIOMHOMAT IUE FHIET W A FRMA Mg ¢
(6) What is the opinion of Dove’s wife about women ?

[3669]-25
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(7)

(8)

9)

(10)

(11)

(12)

(13)

How does poet describe the situation of fadsws ?
fodepysr=t ®eft raRT &d ? A B B WE b M 9

How Viravar applies the salary ?

TRETH daarar TR BIMYR N Bt @

How does Vasanti slander Rama and why ?

I TN B & Bt T BT 9

Why was Chandandas scared by listening the message of

Chanakya ?
FoETET TRT UHA TeAe™ 1 aTeReT ¢

What is the meaning of dT==a@ ? Explain its application.
AR BN ™ 7 df & YI9 gl ?

Which is the solution for prevention of “auiwg’ ¢
qUIVTT aRoT B HET TsA 9

State the types of Donation and explain Satwik Dana ?

A THOT YR [dgd A@® S T H4.

Q.2) Translate into English or Marathi any one from section ‘A’ and any

one from section ‘B’ from the following passages : [12]

9.2) Yeid UNSUsr 37 [IunTaid STl TR g ‘a fawmmdre
FIUAE! THNE IS {har FUST 9T &7 [12]
(A) 3 Q) AT TH: FEATHT AT I g |

[3669]-25

T god: AT R

ATy =@ fagenia @iaq gfq faeeory |

AAWWIH aq ¥9 warge: 99 Rerd: ||
(2) TEE HeWAUSiaNgd Wie Heg a1 o+

JATANT AEIAST ad R T Ararsfosy |

TG W Taaacy FOOT grd AT AT HUT:

PU U GAIUEN S RN qod e |
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(B)

()

(1)

(2)

T FREX ATH TH: T FAHRAENE YEHS T
TAGTHATTH JAERA ard- 378 qagart Terg=:, A
TS BRI | T TR Torgefd HIRar g - 39 |
IS AT WA FASHARG, TG haa™ | IG5
IO - fF d T ? IRa gd - TR
FAVI@T 38 | WSME - ‘&1 T qomr ¢ dRad
qd - B dg - qAEY WL | TE - Aasd |
gl ARAT YU wied: |

ATATGTH T Il FUSANGeRd (e |

T I SUSHA9=T HTEaT: | STy &= ieqepiie |
IRl SUSANAeETd dewdn: | gawEn g o

AFAETE 3ia | FUSAITeNeT Tqaenem=a: | a@&r &
AR T, WiaasT g |

Q.3) Write a note on one from section ‘A’ and one from section ‘B’ : [18]

7.3) ‘37 TOuNTdia UhER 9 ‘@ TO9Wiea ThER 29 {@ar [18]
(A) (1) (1) Kandu’s Opinion
EACCIRCIOIE
(2) REHAEE-gET
(B) (@ (1) Character sketch of king ‘I’
TS YEBTET SHATHRIET
(2) \Viravara’s sense of Duty
TREATET FHAZETaAT
Q.4) (A) Write story of ‘Fuldcea®®ar and its essence. [15]
(31) ‘FUAATHHAT A FAT qd foTar. [15]
OR
[3669]-25 3 P.T.O.



(A)
(30)
(B)
()

(B)
()

Critically appreciate ‘TAHATTHITURATHIT,

P o o o 5 (o aN
AHP AT HINTTRA PR a4 Tafra® LHYBUT pll.

Critically appreciate the patha ‘T#&r H&om .

[aNEaN

THE FEUNT W IT UG TAThcd® HYGUT B,

OR

Critically explain the patha ‘ﬁramg%%n’.
o Ry’ A1 et Afhd® TSRO .
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Total No. of Questions :

4]

[Total No. of Printed Pages : 4

[3669]-24

F. Y. B. Com. Examination - 2009
PERSIAN GENERAL

Time : 3 Hours]
Instructions :

(Old 2004 Pattern)

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

[Max. Marks :

80

Q.1) Define and illustrate any ten of the following :

[3669]-24
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DI 1%
S
I
o A I
123 Iy
A1,
Sy

o

Lt v

J

0
(")
(")
(")
(8)
(1)
(2)
(A)
(9
(1+)
(D,
(r)

qu’(w)
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Q.2). Define and write any two of the following : [10]
O
ol (1)
Jeh o ()
S (™M

Q.3) Write critical notes on poetic art of any two of the following : [20]
ety (D
JOI wte (1)
e (M
$ig sk ()

OR

Q.3) Write an application of any two of the following poems in your own [20]
words in Persian :

FEBLE
el (1)

Ap L (P
sbE ()
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Q.4) (A) Explain any five couplets of the following :
£ s S 2 Y (2
£ _.«7 d & U)’jl r)T
i 0T 1 J& Y,
YRWATLY, J"/ J} -
u;;v é/] 3 ,g'/ L u‘:l
¢ 24 L,g |'l1 oL J’.l}
el v s3I k3l ol
W}u%u””ﬁ%“/}’uy
,"f ui JLA Iy (’K /
('b/"/ U 582 J’b 5
et o3 $5F ol c 0 1P
GiE wP S L Gﬁfr/ﬁ =

UU.@‘ 2% C)f s St <
f:d] S S JF

(B) Translate into English, Urdu or Marathi any two of the following :

s J ﬂ)lﬂ-’// (2 06; sal Uy =& i (1)
dJLﬁ)ﬁ@JJL{"(")uquMI}JJ
J)J)JUT;&“/%D@-,CJ/JUJ(#’};

ﬁ,)ﬂdfb@ﬂ-ihu@dl/
S ) d/l4f:a5(,gﬁ U e U u’??)/

[3669]-24 3
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JL&)J)’&M&-)XDJT Lﬂ;/@./j’ S
:g,oﬁuéjj_;t"uuy/;_fwﬁ,ﬁ
NS RSV 1z s it s 4T Sl
Sia Sy A glot YISl S e
- LEUS

xR U Sk Sh T
_,g‘ﬁ;gutji»lgt‘é;‘:/!ul;/gl:p{
,L?Af{, w»ﬁju&) 7l ¢ "/U Jllsy
_xl’;.l,/;gu%/./’uu'l’uﬂf(/fﬁ-l)/.
}igfju/z;c}f/bfuj,yzzﬁ;/ua
-gbjgﬁfﬂjt‘)/dﬁ
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Total No. of Questions : 4] [Total No. of Printed Pages : 3
[3669]-23
F. Y. B. Com. Examination - 2009
ARABIC GENERAL - |

(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Q.1) (A) Translate into English any ten of the following : [10]
stis o salid ()
Cdal3 oldlal BIE ()
Wty i 3

Gk s gl (0
lpela QLT (o)
oReY SET (1)
56 Al ()

5358 G sigll - (M)

- okialss JinE (@)

- 5al Zagl 34.L.;T (o)

: \*Jl’-“JS; NGl (1)
& Gl VB ()
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- Goiaa obillgala

> og

c &3lhs alil Ll

(B) Translate into Arabic any ten of the following :

(1)
2)
)
(4)
)
(6)
(7)
(8)
©)

The sincere teachers are present.

The two beautiful horses are lovable.
The two girls are writting.

Fatima is intelligent.

The mothers are kind.

The schools are opened.

The wiseman is advising.

The red rose is fine.

The weather is pleasant.

(10) Tate a sweet apple.

(11) Pune is popular city.

(12) This is a fast car.

(13) Good land is costly.

Q.2) Write into Arabic any two of the following :

[3669]-23

> -2 P
(Ten words related with hotel) /LBM'U) sall LIAJT 8 yluc

2 ~ 2
(Months of the Christian year) 4; 9)1.1.9.“ 3 }é..ﬂ‘

(The week days) ¢ Jj_w'?‘ ;Lﬁ

= - > 2
(Write a letter in Arabic to ZL};_H ‘;A dLs, sl

the Bank Manager)

) il

()
(V¢)
(Vo)

(V)
(¥)
()
(¢)

[10]

[10]

Contd.



-

Q.3) Define and illustrate any two of the following : [20]
soLayl Lul (V)
Sially daidl (v
s sl ST (1)
100 (2)

Q.4) (A) Write in detail any one of the following topics : [13]

| EM

‘Ghe a3 (V)
alyl das ()

(B) Summarise any three of the following : [15]
83,555 ()
a3 X )
T aladl 5a< Gs (7

ﬁ:‘:@‘:)-‘)l S9cd (¢)
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[3669]-20
g ¥ JivsT gfem - 2009
fe=t
(TUAT qISTHA)
g : 3 9] [Tlﬁ?ﬁ : 80
qeAIs ¢ (1) Flar-rer FETar

o= gl=aret,

(1) F¥t go7 Srfard & |
(2) g 7] fored 3w goT B qUnie F

7.1) (30 TrAfarad # ¥ [6=t 9i9 st & et a9 farmd @ [05)

(1) Advice

(2) Broker

(3) Claim

(4) Figures

(5) Payment

(6) Receipt

(7)  Tender
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(3m)

(®)

(3)

9.2) (37)
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g ® & 6t 99 9t & s w9 |l [05]
(1) wHEs F 3F® FEar @S |

(2) I=EEF Tt T @ |

(3) # W/ A FATE |

(4) WEA AT StEd H G FagT 2 |

(5) ¥HH W yE gAT |

(6) WY F TA H U= fFaw g |

(7) &AW 3w ® Fat B HA G E |

el & ¥ TFdt 6 99 #1 9eY Gur S [05]

(1) 9/ 9rar @1, e, Jonhg ¥ @UTes SHe ARG,
AR, SPREAr & 99 BT # Bol T & A9 H

[aV

a3 forgar / foadr &

(2) wW&9 / @WHAT AT, 523, AEAT W <6, IO F g,
<% AT® gied, ®d Ty, IO BN A T B BB G2

g 3Ty fawmr / fawar g |
frfarad 7 & et o oo o faemae &1 971 SR Hiew - [05]

(1) IO HIeT FR

(2) ISt THS AT BT AT

g & o Tt U 3raaeer &0 @Esy @Er & ;o [05]

(1) “qa™ @ J9% ¥ | H I9 d F MY I 35T
et & T W YW W T@E ol 2., § BEd B
@ g 17

(2) “gar =&, ¥ | =T T [Wr A, WA FT A0 A7 B TR
1 =

2 Contd.



(3m) frfeaRad & 9 TRt UF 31aaeeT ®f SEed SRy s o [05]

(1) dfeq, #@if=, aeiat &
WS B ST BIE B,
FT GHdl 8§ IS AT B

AT AL T

(2) J A= @, ¥ REAs,
T qar | M a9 &7 9 FA,
AT - TTATT SET &
q ST, S A fgere !

7.3) (31 f=faiaa & & =t 3t 9ot & 3w wem # faiaw [10]

(1) FFcl A9SH FET BT IRIT ST |

(2) ‘RET HEFET B FE TWE HIHT |

(3) datgar TFA ®aEr ST 29
(4) |HAT 3T FI AAGMT B TE HAQ |
(M) ffafaa & ¥ fEt & 9ot & SR d@eu # faRay [10]

(1) ‘M &g, N Higar # Td o ATT B F97 TS 540
g2

(2) Hg gETE T WRD 9 &7 909 [FF gbR fEar 9

(3) ‘Tagie’ wigar &1 3mem faRgu |

(4) HT 7 99 B AT W qE AFTI DI g 9
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9.4) (37)

(3m)

(®)

frfafeaa & @ et % w9 &1 S fawga ©u # faRaw @ [10]
(1) ‘g8 @ T@ Farr B Furarg dgw # faRag |

(2) “TES ® TT U P [WRH & TG Bl THEET B
T B & |17 - T BT

frfatea & o et o 997 &1 3 fowgd ®9 & faRa™ . [10]
(1) ‘@I FAar H1 AT IO+ & A fARFw |
(2) “AYgAT FHfaar w1 At faREe |
feotrt faflea [10]
(1) ‘g EE! B FHET |
ST
TS IR e’ FEAT B GBS |
(2) ‘STHaq &7 3MUBRT Hiaar &7 HI9T |
ST

TEaeT & ia’ Hiaar &1 38T |
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YR 99Uy 9’ - 2009
AEIMNE T IS AL
(AT STHTHHH)
HAREGAS : (1) 727 q9¥ ey 7S TITRAP

(2) =TaEIRE #ST
% : 3 dW] [TFHT Tur : 80
Q?FIT by
(1) @F g7 FSO 3TT9qF 3018,
(2) ISAlBSlar 37F geAId qUf O FIAfaara.
9.1) Tl HIUTETEr BT WAl 37X o 3id forar - [20]
(1) WTHgEETEST 8, |, A FA(A1 HIOTBOTET Fardr 3aTeol el
TRq ?
(2) YR YIEEr GRA HATAT TEA IUINN u=AE@
(3) MU WIed AT TN TR HIOTHON ML &t ©
(4) IIEAUT TROT AT A s Torer.
(5) fateTSi=IT SAH TEAEATY Je@rd I Ho ©
(6) . Sit. for TS A ANST ATUTET THTT ITFTEATE BT AR
AT 3R 9
(7) SATSHT TEERT AXSHET I ANST ATOTHATIRATT BT AATTSA TRl ?
(8) 3V 3EEE TS Tadbrdl Aid f@ar

[3669]-19
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(9) fooT dSEHUAT Wl dTE HIOTT FAHE FIAE ¢

(10) 9. 3. FAHiucs AT TIAIA AT FOTAT INAMATEAT Jradid
T ToTar.

(11) Taome fedfear o= afed Hiver sEh 3 & 9

(12) 9. E. WAHBEes JrAT HIOTET I[UTHS ool FTATER FIAT HH

AT ©

(13) e gTEd HBIAMAT A Bd 3 fadiamsiar 9ed @

7.2) Tl HIVATEN FT g9t $o TeFOdd 3T foTar [10]
(1) ‘HIST AEET JATAEE STeamar 3/ JEaud I@uT=T &7 aed ?
(2) fa. fa. et =t FHAUE H O ?
(3) WETAT T T AfFAErd Oty {oar.
(4) TOUidE €t FATRE A Sitad STer.

7.3) (37) Welicidsht FHIOATEN THT YT I 4o F(d [o18T - [10]
(1) S, |, |IS =T Ad WO FTHISTE (96 HAT atdl ?
d HIGEWT W &
EE1]

(2) “‘TSgUid well’ AT UISTAT 3MYUN W. . WiHHidss Il

StaEey  [er.
(F) TS BT THT fquamay ey foer - [10]
(1) Iz A0 i &ay

(2) BT ATRRMUIS]

(3) TMUR IAOT FAYST ATH

(4) W AT G
[3669]-19 2 Contd.



9.4) (37)

(31)

(31)

(=1)

(=)

(=)

(F)

[3669]-19

TIramatdsT a7 TaRE A = ATATHE A Rrerorasst T

U8 AUEATE! A FAHTEIAA e AT Siaaier A

ST I [10]
Tt

U YA HA FATHET Al FEdid 496 o TR0 Aged

fFas T A= IS FIRITOTEIET W% Taued Hof [HeA

FEET IS AT @, AT IR fam srsprmEer feoolt aam

. [10]
Tehar

e e’ o1 Fewia AT §ue e JWd JidieTs

ghagd aaN . [10]

HERTE, TS AXS! HIUE HEd® oIl RTASET #ASHE I

7 Al Qe yEeE WRiquan TR SR, et Arfad i

TR . [10]
Tehar

SER e o $™ ¢ 7 WA HEWy 99 STENTH Adi

SIS BRI IR BT A A AT Jag 9Y IR,

IESAd JER MadgT TR &, [10]
Tehar

T sh! HIOTHTE! THT fIuamar qaumamdt Sifead aa® &3 ¢ [10]

(1) wiFmAaas™ R

(2) ‘TRER (TH A TSI

ARSI FE 7 ATH BES A HTCA  SATar

|/, Wi fetgd e mere o A [10]

ACATETHT RO & MF IO TaT GHTE Sl S ad,
AT M WeHHS WIRATT AT 3T ATElL & AT S
TRRYATHTT & WY FTNTeS T &id. FarT Faeuma I9mdid
TS INTET THISTHAT T8 3 ST AT, T IS - JdTE
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(F)

fSaad. ARAT TR STSUTHSUiaEl I ST Il

o o L o o [aN .
Acd HLdl. Cldallds HURHIIA hdl aUHU AYRITDT — [SHhIHT

Siglel ol U dl, THRIN A9 ITRATATSTAL ATIRAAT TS

M ITET YRS TEdTE & Il TSl AgRIEid g
= ©U gaier aREAET IR, STTRSRET Tars! aaEdvs

ad o o o o
gl zlelgd ddd: T (0 gldl. Cll(ﬂ'ld(ﬂgﬁ' ([ddpl-C Hldddlx

. o o . . o
g T UguTd ERE g g, SIS T isd
JUTaT WHrad WRATHET, TEAH HATTATTET TTALTE! Tl
(EHTAT : 204)

fpam

A SUSHT 3arTd AUST WIiae &

Jamsetji was a nationalist long before this word had any real
significance. He was present, for instance, at the founding of the
Indian National Congress in Bomaby 1885, and gave generously
to its fund. His nationalism, howover was not narrow.

It was like Tagore’s rooted in his love for humanity, arising out
of his passionate love for his own land to which he haressed
the creative forces of his genius. Every day of his life, therefore
became a day of preparation for that time when his country would
be in charge of her destiny. When he surveyed the untilled
industrial field of India perceived the benefits it could gain through
science and technology.
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F. Y. B. Com. Examination - 2009

ADDITIONAL ENGLISH
(Old 2004 Pattern)

Text Prescribed : Varieties of Expression
Edited by : A. H. Tak and Mohammad Aslam

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Correct the following : (Any Ten) [10]
(1) Ram works hardly.
(2) They can speak English, isn’t it ?
(3) He has no pity in the poor.
(4) What did you say the police ?
(5) That is the third time he phones his girlfriend.
(6) John that speaks French, works as a tourist guide.
(7) The news of the crash were shocking.
(8) The principal will announced a prize for the students.
(9) No one want to be unhappy.
(10) I’d like to have a more bigger car.
(11) They saw an one-man show.
(12) What clever answer !
(13) Many accidents are causing by dangerous driving.

[3669]-18 1 P.T.O.



(B)

[3669]-18

Do as directed : (Any Ten) [10]
(1) It is so dark that I can’t see anything.
[Rewrite using ‘too’]
(2) What an intelligent fellow he is !
[Make assertive]
(3) Please pay attention what | am going to say.
[Complete using a suitable preposition]
(4) He did not study. He passed the exam.
[Combine using one of the following : yet, so, or]
(5) It is very stuffy here.
[Make exclamatory]
(6) The chairman was ringing the bell.
[Change the voice]
(7) ‘I don’t eat meat’, my guest said.
[Make into indirect speech]
(8) Mr. Rao returned from Delhi on Tuesday.
[Frame a question by using ‘When’]
(9) a fraud of genius a question was forming itself in his mind
[Punctuate]
(10) The king was not worthy.
[Add a question tag]
(11) Prema is the smartest girl in the college.
[Rewrite using the positive degree of comparison]
(12) If he (go) in a taxi, he would have caught the
train.
[Use the correct tense with the verb given in brackets]
(13) I have cut my finger.

[Change the voice]

2 Contd.



Q.2) Answer any two of the following in about 50 words each : [10]

(1) Trace the devices used by the ragged man to convert the duty-
bound sergeant into an accomplice in ‘The Rising of the Moon’.

(2) The role of the daughters of Maurya in the ‘Riders to the Sea’.

(3) Discuss how the stanger himself can be responsible for the
tragedy in ‘Lithuania’.

(4) How does Chubukov play the role of a father in ‘“The Proposal’ ?

Q.3) Answer any two of the following in about 150 words each : [20]

(1) How did Hardy discover Ramanujan ? Who helped him in this
discovery ?

(2) How did the Selfish Giant change along with his garden ? What
iIs the message of the story ?

(3) Do you agree that the women of ancient India enjoyed a great
deal of freedom according to Padmini Sen Gupta ? Explain.

(4) Discuss the mystery of the judgement seat of King Vikramaditya.

Q.4) (A) Answer any three of the following in about 50 words each : [15]

1)

(2)

)

(4)

[3669]-18

Discuss the last three stages of man according to William
Shakespeare.

What impression do you form of the sculptor’s character
in Ozymandias of Egypt ?

What are the evils that are prophesied for those who are
cruel to even the smallest creatures according to Blake ?

Discuss the agony of the mother from the point of view
of the child in the poem ‘Night of the Scorpion’.

3 P.T.O.



(B) Answer any one of the following in about 250 words : [15]

1)

(2)

)

“Beauty and youth are not everlasting”. Explain with
reference to ‘Gather Ye Rosebuds’.

How does the poem “Nutting’ express Wordsworth’s belief
in the existence of a Divine Spirit in Nature ?

Discuss fully how Ben Jonson brings out the greatness of
Shakespeare.
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[3669]-17
F. Y. B. Com. Examination - 2009

FOUNDATION COURSE IN COMMERCE
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What do you mean by “Yellow Pages’ ?
(2) Give meaning of ‘Disinvestment’.
(3) What do you mean by ‘Zero-based Budgeting’ ?
(4) Define the term ‘Seed Capital’.
(5) Explain the term ‘Patent’.
(6) What do you mean by ‘Outsourcing’ ?
(7) Explain the term ‘Labour Intensive’.
(8) Give meaning of ‘Quality Circle’.
(9) What do you mean by ‘Bank Rate’ ?
(10) Explain the term ‘Technology Transfer’.
(11) What do you mean by ‘Automation’ ?
(12) Explain the term ‘Service Organisation’.
(13) What do you mean by ‘Subsidy’ ?
[3669]-17 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Why SWOT Analysis is essential ?
(2) What are the problems of ATM ?
(3) Explain briefly the functions of Commaodity Exchange. (Any Two)
(4) Narrate advantages of Franchise to Franchisee.
Q.3) Answer the following in 150 word each : (Any Two) [20]
(1) What do you mean by Limited Partnership ? Explain its features.
(2) Define the term ‘Internet Banking’. Explain its advantages.
(3) Narrate role of SEBI in the context of Stock Exchange.
(4) Write a note on functions of Commercial Banks.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What are the challenges before Indian Public Sector ?
(2) Define the term ‘MNC’. What are its features ?
(3) “In the background of financial scams in the country, protection
and education of investors is essential.” Comment.
(4) What do you mean by Trade Association ? Explain its features

in detail.
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[3669]-17
ST HATAL
9% : 3 ar] [TFUr Iqor ;80
qAAT
(1) @& 997 Fisfaor maeds 38,
(2) ITElESIT 3 goard Gl OT FOIfIar.
7.1) R0 A IAX AT : (BIUHIET F@0) [20]

(1) ‘gt 9= (Yellow Pages) ®=vurst & ?
(2) “THqEuE’Er 3T |

(3) ‘yHTUIRA IFAHFHE TS FE o WAL

(4) ‘AT wisaw’ (Seed Capital) Heheq=<l =qReAT .
(5) ‘wrhc B’ (Patent) WhedeT ST T
(6) “aMe=EINmT (Outsourcing) oSt &1F ¢

(7) ‘gta g’ (Labour Intensive) TheqeT T AT

(8) “muramm #eww (Quality Circle) =m 372 @m.

(9) ‘g% 3T (Bank Rate) i &I

(10) ‘d=em= gAY (Technology Transfer) Theddl T &

(11) ‘“TIaa-Rr  (Automation) TS H1T 9
(12) “@ar Ianr (Service Organisation) HHeaAT TIT .
(13) ‘3rqa™’ (Subsidy) ¥&uTst HE 9
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q.2) TAIA YA 3T o STe&id (i@l : (HIUTdEt gi) [10]
(1) wie fasawor (SWOT Analysis) @71 3Taeds 3/@d ©

(2) ulwg=r (ATM) 93T HIoTET 3Ted 9

(3) Tx fafmaEr FE JTEE W .

(4) FIEEIIER 9omamar (Franchisee) sa@maiasR= (Franchise)

Pl <blVId d @,

7.3) Tl FAMEr 3T 4o IsEid 18T @ (Fiurdidt i) [20]
(1) waifsd wrtErr (Limited Partnership) oSt /@ ¢ @t dieres
W h,

(2) ‘ScHc AfRT HhGUHdl RAT AT, AT B IS H.
(3) WMl ITRTAT HeHid d«r=t (SEBI) &@ @< &,
(4) O JREr B I A9 foTEn

7.4) T WGl I 300 IEd [@@T @ (FIUHERT T9) [30]
(1) WA FESe ATEHA MR Hiodar O Ji.

(2) ‘FEuE™ FUAU (MNC) Twhed=dl oIamr @r. orar  diRred

HIOTAT ?

(3) “I M IMYF weTeAT= TAHR, [aquHaRia ALGIOT ATI0T
et srrasEE IMe.” feuelt

(4) UR ¥§9 TN FE ¢ AT RS T HA
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[3669]-16
F. Y. B. Com. Examination - 2009

MARKETING AND SALESMANSHIP
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Branding’ ?
(2) What do you mean by ‘Fixed Capital’ ?
(3) What is Tender Price ?
(4) Who is a ‘Retailer’ ?
(5) What is ‘Break-even Point’ ?
(6) What is Knocked-down Price ?
(7) What is ‘Standardisation’ ?
(8) What do you mean by *‘Profession’ ?
(9) State any five Buying Motives.
(10) What do you mean by *‘Prospecting’ ?
(11) What do you mean by ‘Perfect Competition” ?
(12) Name various Sales Promotion Tools.
(13) What is “‘Place Utility” ?
[3669]-16 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Classify market on the basis of Time.
(2) State advantages of Water Transport.
(3) Distinguish between Marketing and Selling.
(4) What are the functions of a Sales Manager ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain in brief various types of Sales Organisations.
(2) Describe role of Marketing in Modern Business World.
(3) Describe channels used for Distribution of Consumer Goods.
(4) What are the different methods used for Motivation ?
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Essentials of a Good Salesman.
(2) What are the objections raised by Customers ? How are these
objections handled.
(3) Explain features and scope of Salesmanship.
(4) Describe various methods used for Training of Salesman.
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[3669]-16
AT HATAR
U st TespaeRat
(ST Rooy Ted)
% : 3 W] [CFoT T[0T : 80
if(ﬂ?T by
(1) @d g97 FISfyor Ma9TE S8,
(2) 3T T 37F FATS GO [T FAfaara.

7.1) TN YA I o eEid [o@r ¢ (Fiurddt < 1) [20]

(1) ‘fasier’ B/ ®" 7

(2) ‘ReR HiEdd WIS HI 9
(3) ‘Tafaer Faa’ =o s 9
(4) ‘TRl ORI O BT 9

(5) ‘wwiq=sEd g’ WU HE ¢

(6) ‘Eraer FUT WU s 9
(7) ‘YHTONGROT TN &I 9
(8) ‘UM WU HH 9

(9) HIUTETE U HIYOTET AT FO.

(10) ‘99T UTEH WIS dBEH T

(11) ‘9ot wei’ /ot HH 9

(12) Towragsren fafae 9T T/ qmm,
(13) ‘@ ITUNEr B/ HEI 9
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9.2)

9.3)

9.4)

AT JA 3T 4o 9TeFid [Tl @ (HIUTAEt <€) [10]

(1) FTAWR TERISTE  THWT T F.

(2) S« qlsgq?lu wES qET.

(3) TqUor 3T Tkl Il %I T

(4) ToBt TaeOerl ™ Fi.

Tl 99l 340 9eSid ¥ fofer : (Hiurdel g) [20]

(1) Topg Fgeqie Aoy yeR Jgad| T &

(2) YT FTEWMUS FWAHA [qIOEET IHHT G998 FH.

(3) UTEHUANT TGATS! ATOROATT JUTY {0 ATresl TS L
(4) MRS gTORvETd Forean fafder gedr @i,

Tl 9l 3T 300 I(Ed foler : (HIUdal gH) [30]
(1) 3Teyl fapam=ar aTs ael T &

(2) wTEmre Totay AT o ? AT INAYTE! STt B Boll
ST 9

(3) TaspTciat ARdTed 3MUT Tl T H.
(4) TIpAET FINAOTETST arqIoaTa YUl Taiael Uegdl TI9rs .
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[3669]-15
F. Y. B. Com. Examination - 2009

INSURANCE AND TRANSPORT
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words : (Any Ten) [20]
(1) What is meant by Days of Grace ?
(2) What is Re-insurance ?
(3) Define General Insurance.
(4) What is meant by Endowment Policy ?
(5) What is meant by Cattle Insurance ?
(6) What is Accident Insurance ?
(7) What is meant by ‘International Tourist’ ?
(8) What is Travel Agent ?
(9) What is Tourism Market ?
(10) What is Air Transport ?
(11) State two characteristics of Rail Transport.
(12) What is Water Transport ?

(13) State two characteristics of Tourism.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain need of Life Insurance.
(2) Explain role of Insurance Agent.
(3) Explain need of Tourism.

(4) State merits and demerits of Air Transport.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain factors of Tourism Product.
(2) State Organisation of General Insurance Corporation.
(3) Explain importance of Life Insurance to an Individual.

(4) Explain nature of Tourism.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain scope of Tourism.
(2) Explain fundamental principles of Fire Insurance.
(3) Explain various types of Means of Transportation.

(4) Explain Tourist Attractions.
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[3669]-15
AT T
famn sior aEd®
(AT ooy YaH)
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[3669]-14
F. Y. B. Com. Examination - 2009

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What is ‘Parallel Economy’ ?
(2) What is ‘Economic Environment’ ?
(3) Define the term ‘Industrial Sickness’.
(4) What is “Privatisation” ?
(5) Define the concept ‘IMF’.
(6) Explain the concept of ‘Poverty’.
(7) What is Entrepreneurial Behaviour ?
(8) What is “Venture Capital’ ?
(9) What is ‘Innovation’ ?
(10) What do you mean by ‘Entrepreneur’ ?
(11) What is “‘Economic Development’ ?
(12) Define the term ‘Women Entrepreneur’.
(13) What is EDP ?
[3669]-14 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State causes of Inflation.
(2) State characteristics of New Industrial Policy, 1991.
(3) Describe role of Socio and Economic Environment in
Entrepreneurship.
(4) Explain important problems of Women Entrepreneurs.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Describe in detail the functions of World Bank.
(2) Explain factors of Business Environment.
(3) Explain in detail the role of Government in Organising EDPs.
(4) Describe sources of Venture Capital.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What is Pollution ? Explain in detail the types of Pollution.
(2) Explain in detail the factors of Business Environment.
(3) Describe qualities of Successful Entrepreneur.
(4) What is the role of Women Entrepreneurs in Indian Economy ?

Describe problems and prospects of Women Entrepreneurs.
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[3669]-13
F. Y. B. Com. Examination - 2009

CONSUMER PROTECTION AND BUSINESS ETHICS
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) State three problems of Rural Consumers.
(2) State three functions of Voluntary Consumer Organisations.
(3) Define the term “Services’ under Consumer Protection Act, 1986.

(4) State any three Complaints of Consumers relating to Banking
Services.

(5) State any three methods of Organising Consumers.
(6) State any three objectives of Consumer Education.
(7) What is ‘Corporate State Mission’ ?

(8) State any three social responsibilities of Business.
(9) What is ‘Corporate Disclosure’ ?

(10) What is ‘Environmental Audit’ ?

(11) State any three rights of Consumers.

(12) What is meant by ‘Unfair Advertising’ ?

(13) What is ‘Fair Trade Practices’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain the concept - “Consumer as a king-pin of Democracy’.
(2) State role of Government in Consumer Movement.
(3) State role of Business in Environmental Protection.

(4) State elements of Marketing.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain rights of Consumers.
(2) Explain problems of Consumers relating to Goods.
(3) Explain importance of ‘Professional Codes’.

(4) Explain functions of ‘Quality Control’.

Q.4) Answer the following in 300 words each : (Any Two) [30]

(1) Explain in details the composition and role of Consumer
Protection Councils.

(2) Explain importance and functions of Consumer Movement.

(3) What is ‘Business Ethics’ ? Explain need and objectives of
Business Ethics.

(4) What is “Professional Codes’ ? Explain need and importance of
Professional Codes.
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[3669]-12
F. Y. B. Com. Examination - 2009
ESSENTIALS OF E-COMMERCE
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

SECTION - |
Q.1) Explain in brief any four of the following terms : [08]
(@) E-learning
(b) IP Address
(c) Intra-business
(d) www
(e) URL
()  Telnet
Q.2) Answer any three of the following : [12]

(@) List any 4 services provided by MS-Windows.
(b) Write a short note on Internet Security.

(c) Explain briefly the information retrieval services offered by
the Internet.

(d) Differentiate between Traditional Commerce and E-commerce.

(e) What do you understand by “Porter’s Value Chain Mode” ?
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Q.3) Answer any three of the following : [12]
(@) Write a short note on Electronic Markets and Trade Cycle.
(b) Define Electronic Commerce and its benefits.

(c) Why Windows Operating System is called GUI based Operating
System ?

(d) Explain briefly the following terms :
(i) Password
(i) Search Engine

(e) Write a short note on Computer Crimes.

SECTION - 11
Q.4) Explain in brief any four of the following terms : [08]
(@) Cyber Mall
(b)  Protocol
(c) EDI Standards
(d) Smart Card
(e) Digital Signature
(H  Encryption
Q.5) Answer any three of the following : [15]

(a) Explain briefly Electronic Payment System.
(b) Explain briefly the following terms :
(1)  Electronic Storefront
(i) E-cash
(c) What is B2C E-commerce ?
(d) Explain briefly Seller Oriented Market Space.

(e) How Electronic Commerce benefits Business Organisation ?
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Q.6. Answer any three of the following :

(@)
(b)
(©)
(d)
(€)

List any 5 security requirements for E-commerce.

Explain briefly the On-line Advertising.

Write a short note on Internet Bookshop.

Write a short note on the Process of Electronic Shopping.

Explain Risks in E-payment System ?

Q.7) Answer any one of the following :

(@)

(b)

“Electronic Data Interchange enables computer to computer
exchange between Organisations of Standard Transaction.” —
Comment.

“Electronic News Papers are much like Hard-Copy News
Papers.” — Opine.
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[3669]-11
F. Y. B. Com. Examination - 2009

OFFICE MANAGEMENT
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is the modern concept of Office ?
(2) Define an Office Manager.
(3) What do you mean by Staffing ?
(4) What do you mean by ‘Principle of Division of Work’ ?
(5) Define the term Communication.
(6) What do you mean by Decentralisation of Office Services ?
(7) What is Progress Report ?
(8) What is MIS ?
(9) Define the term Office Supervision.
(10) Define the term Office System.
(11) Define the term Office Forms.
(12) What is a Policy Manual ?
(13) What do you mean by Office Environment ?
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Q.2) Answer the following in 50 words each : [10]

(1) What are the difficulties in Ideal Flow of Work ?
(2) What are the Duties of Office Manager ?
(3) Explain importance of Courier Services.
(4) What are the advantages of Office Machines ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What factors are required to be considered while selecting
location of an Office ?
(2) Explain importance of Communication in the Modern Business
World.
(3) Describe various stages involved in handling incoming mail.
(4) Explain various types of Computers.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Primary and Secondary Functions of an Office.
(2) What are the types of Organisations ? Explain advantages and
disadvantages of an Organisation.
(3) What are the principles of Preparation of Office Manual ? What
are its different types ?
(4) Describe features and advantages of Management Information

System (MIS).
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[3669]-10
F. Y. B. Com. Examination - 2009

MANAGERIAL ECONOMICS
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Managerial Economics ?
(2) What is Price Elasticity of Demand ?
(3) Explain any two constraints of a Firm.
(4) What is the importance of Demand Forecasting ?
(5) What is meant by ‘Multi Product’ ?
(6) What is Elasticity of Demand ?
(7) Explain the concept of Production Function.
(8) Define Fixed Cost.
(9) Define Variable Cost.
(10) What is meant by Marginal Cost ?
(11) Which are the methods of ‘Cost Forecasting’ ?
(12) Which are the types of Product Differentiation ?

(13) Explain the concept of ‘Discriminating Monopoly’.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) What is the ‘Social Benefit Cost Analysis’ ?
(2) State methods of Capital Budgeting.
(3) Explain objectives of Price Discrimination.
(4) What are the methods of ‘Profit Forecasting’ ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Longrun Equilibrium of Firm under Monopolistic
Competition.
(2) State and explain ‘Law of Demand’.
(3) Explain importance of Managerial Economics.
(4) Explain relationship between Average and Marginal Cost.
Q.4) Answer the following in 300 words each: (Any Two) [30]
(1) State and explain Traditional Theory of Firm.
(2) Explain Survey Method of Demand Forcasting.
(3) Explain the concept Monopoly. Explain Shortrun Equilibrium
under Monopoly.
(4) Explain the concept ‘Cross Elasticity of Demand’. Explain

factors determining Cross Elasticity of Demand.
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[3669]-9
F. Y. B. Com. Examination - 2009
BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) State origin of the word ‘Bank’.

(2) State two agency functions of a Commercial Bank.
(3) What is Safe Deposit Vault ?

(4) What is meant by Withdrawal Slip ?
(5) What is meant by Banker’s Cheque ?
(6) What do you meant by Gift Cheque ?
(7) Define Negotiable Instruments.

(8) What is Credit Card ?

(9) What is Net Banking ?

(10) Define Promissory Note.

(11) What is meant by Tele-banking ?

(12) What is Debit Card ?

(13) What is Demand Draft ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State Evolution of Banking in India.
(2) Give importance of Specimen Signature.
(3) State importance of A.T.M. Technology in Banking.
(4) State types of Crossings of Cheque.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain General Utility Functions of Banks.
(2) State which precautions are to be taken by bank for opening
Minor and Illiterate Person’s Account.
(3) Explain types and effects of Endorsement.
(4) State characteristics of Promissory Note.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain detail Primary Functions of Commercial Banks.
(2) State which precautions are to be taken by bank for opening
Partnership Firm and Joint Stock Company Account.
(3) Explain process and limitations of Credit Creation.
(4) Define Bill of Exchange. Explain characteristics of Bill of

Exchange.
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[3669]-8
F.Y.B. Com. Examination - 2009

DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |

DEFENCE ORGANISATION IN INDIA
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Who is the Chief of Army Staff at present ?
(2) Who is responsible for ensuring the defence of India ?
(3) Who is the head of the Ministry of Defence ?
(4) State any two functions of D.R.D.O.
(5) What is the Principal Task of the Defence Ministry ?
(6) What do you mean by Counter Intelligence ?
(7) Write meaning of Civil Defence.
(8) What do you mean by Combat Branches of the Armed Forces ?
(9) State meaning of Second Line of Defence.
(10) What are the functions of National Security Council ?
(11) What do you mean by Signal Corps ?

(12) Who is the author of the book entitled, “Defence Mechanism
of Modern State” ?

(13) State any two functions of the Army Medical Corps in War.
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Q.2) Answer in 50 words each : (Any Two) [10]
(1) Explain role of Army Ordnance Corps in War.
(2) Discuss role of EME in War.
(3) Describe various types of Battle Ships in Indian Navy.

(4) Describe various types of Air-crafts in Indian Air Force.

Q.3) Answer in 150 words : (Any Two) [20]
(1) Critically examine role of Artillery in War.
(2) Discuss role of Indian Navy in National Defence.
(3) Explain role and scope of Intelligence.

(4) Discuss characteristics and limitations of Indian Air Force.

Q.4) Answer in 300 words each : (Any Two) [30]
(1) Write a critical note on ‘Defence Organisation in India’.
(2) Establish relationship between Parliament and Armed Forces.
(3) Explain powers of the President in relation to the Armed Forces.
(4) Discuss role of C.R.PF. and S.R.P.F. in National Defence.
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(1) ¥T IRAd 9ed W 0T 3ME ¢
(2) WRATET IR SFOEEN HIomaT Mg 9

(3) HAUT HATGEAT THS HIOT AN ¢

(4) SLARILAMA FUE IF FE THT B

(5) TR HAAGHATT YHE HE HOW 9

(6) FE<T FTTATH WIS B 7

(7) =Rt "o Y o
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(9) [Tt ITH WA - I ferar

(10) TG JU AHAAET FE BOCH 2

(11) R 3 ®|oe w1 9

(12) ‘fewh=w AEHWEH 3M® Algd W' &0 TAHE add BT 9

(13) FETa AT AfSHA HIAr FOMET SH FE 95 F
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T.2) 4o KA IA¥ AT : (HIUAE TA) [10]

9.3)

9.4)

(1)
(2)
(3)
(4)

340
(1)
(2)
(3)
(4)

300
(1)
(2)
(3)
(4)

A AT Ao B« GAdT T FH.
TS| EUA.STN gHdbdr Fdf &

ARAT Agardie fafae s sersrdr At T,
WA gagaardrd fafaey faemir wfear foer.

I I AT : (FIUET F) [20]
ST ABSTATAT GHDD [THHS  TUAH0T FH.

geloodt YiHST T &M T H
VR galeaaral dRte" T #uiGeed 99 B

=A@ I AT ;. (HUEAEE F) [30]

WRATAT GWI0T FacAaT fohras foqur forer.

IR TATSA 3T §9E Iidled SoeTarad <<i 6.
FIE FATGATHT HSWAIA I TR 3T .

LA YLTE. 3T TH3MULUE. =T TG FATA JrAdaTad
EElET U
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F.Y.B. Com. Examination - 2009
CO-OPERATION
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Answers should be precise and to the point.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Co-operation.
(2) What is Political Neutrality of Co-operatives ?

(3) State two causes of slower growth of Co-operative Movement
before independence.

(4) Define Joint Stock Company.

(5) State two advantages of Co-operative Marketing.

(6) State two problems of Public Company.

(7) Give two weaknesses of Co-operative Movement in India.
(8) Suggest two methods for Co-operative Education to Shareholder.
(9) What is Leadership in Co-operation ?

(10) State two advantages of Weaker Sections Co-operatives.

(11) State two strengths of Co-operative Movement in India.
(12) What do you mean by State Partnership in Co-operation ?

(13) State two features of Co-operative Farming.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain Nature of Co-operation.
(2) Explain causes of poor performance of Weaker Sections
Co-operatives in India.
(3) State objectives of Urban Co-operative Banks.
(4) Explain role of Leadership in Co-operative Movement.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Distinguish between Public Company and Co-perative Firm.
(2) State problems of Co-operative Education and Training.
(3) Give a brief account of Origin of Co-operative Movement in
England and Japan.
(4) Write a note on Monopoly Cotton Procurement Scheme of
Maharashtra.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the main principles of Co-operation.
(2) Evaluate contribution of Co-operative Movement in Indian
Economy.
(3) Explain Mechanism of Co-operative Education and Training in
India.
(4) State and explain strengths and weaknesses of Co-operative

Movement in Indian Economy.
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(1) VEPRE! ARAT H.
(2) VEH FEE AABE JCREAT TS B ?
(3) WY FTAAA FEHN TSI AT HS qErdl S BRI T
(4) ¥gFA WiST@! HRE AT B
(5) Hehpt TUUHER IH WwEe 9.
(6) WASEH HUAT I FAT FOE.
(7) HRAIT TePRI TAaA=T J= 3oTar FhET.
(8) WITURHIHG! bRl Riom=r 9 dgal gadl.
(9) UEPWHAA Aq@ TS B 7

(10) SI@ FEHET WEebN TR I FHES HO.

(11) WA FEhN Tosdes™l &9 doe=  d[.

(12) TEFRALA AHRGT ANIGRE AT FE ST rfary gar ©
(13) Hehry qaEr S Al |,
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7.2) A 9l Yddbl Yo IFid IR (18T @ (FIUE! T) [10]

(1) TEPRHE WHT T B,

(2) WRATE SIA TeHiT WEbN SR MES FARNET HRoT
s Hh,

(3) AN HEhnl et IESd HE.

(4) VEPN TOAHAUA AgaErdl JHBT T B

7.3) TMCHA WATEl Yddl 4o TSFd I [oial : (FHIorddl i) [20]

(1) 9rASi=ae HUAT 9 FEhl T IWUd Bih T B,

(2) HEHI TT0T T YINEIO=AT HHWT H.

(3) TS T SUTHIA TEHR TATAT ISITAT ATSHATA 3TSTET =T,

(4) WERTGE! THIUHR HAE ST I ed - fofar.

9.4) WA 9Tl TAB! 300 IRd I [T @ (HodEt ) [30]

(1) PNl A8 dd Ao W H.

(2) AR RITERHAE TEHN TATA AT NS oA .

(3) WRATIIT TEHII (918707 T FIeq0] aedl TsT &,

(4) WA FATAIT bl Todal ol g 30TaT W 9
WS P,
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F. Y. B. Com. Examination - 2009
COMPUTER CONCEPTS AND PROGRAMMING
(Old 2004 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - 1

Q.1) Attempt any four of the following : [08]
(@ What is Internet ?
(b) List different types of Computers.
(c) What are the different types of Memories ?
(d)  Write any four DOS Commands.
(e) What are the different types of Programming Languages ?
()  What is the Spreadsheet ?

Q.2) Attempt any three of the following : [12]
(a) Discuss use of Computer in Accounting.
(b) What is Computer Network ? Explain any one type of Network.
(c) Distinguish between Floppy Disk and CD-ROM.
(d) Explain Data and Information with an illustration.

(e) List Output Devices used in Computer System and explain any
one briefly.
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Q.3) Write short notes : (Any Three) [12]
(a) E-commerce
(b) Dot Matrix Printer
(c) Key-board
(d) Web Browser
() Multimedia
SECTION - 11
Q.4) Attempt any four of the following : [08]
(a) What is Variable ? Give its example.
(b) What is Assignment Operator ? Give its syntax.
(c) What is the purpose of scanf() statement ?
(d) Write a syntax of do...while statement.
(e) Point out errors, if any, in the following ‘C’ statement :
(1) name = ‘Amar’;
(i) Si=p*n*+ r/100;
()  State whether the following statements are true or false :

(1)  When relational operators are used in expression and result
of expression is either true or false.

(i)  During compilation process of program the instructions are
not translated into a machine code and not detecting any
syntactical errors.

Q.5) Attempt any three of the following : [15]
(@) Write a program for finding largest from three numbers.

(b) Write a program to reverse the digits of any integer number.
(379 973)

(c) What is Conditional Operator ? Give its syntax and example.
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(d) Distinguish between nested if... else and switch statement.
(e) Find output of ‘C’ expressions statements :
intm=9, n =14, z
float a = 5.78; b = 86.33;
char i = ‘", ] =",
(1)  printf(*%d %sd %c %f”, m, n, ++i, b);
i) z=M>m)?m:n;
(i) z=06B*m-22) + (n* 3/3);
(iv) (@ >=0.0) && (b < 100.0)
(v) printf(*%c”, j++);
Q.6) Write short notes : (Any Three) [15]
(a) Key Words
(b)  Arithmetic Operators
(c) getchar() & putchar() functions
(d) Nested for loop
(e) Rules for writing floating point constant

Q.7) Attempt any one of the following : [10]

(@) Write an algorithum and draw a flowchart to print even numbers
between | to N.

(b) Give output of the following ‘C’ programs :
(1) main()
{

int ] = 4;

while (j < = 10)

{
printf(*\n%d”, j);
j=i+2

b

return O;
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(i)  main()

{

int k;
int a[5] = {3, 9, 2, 5, 4};
for (k = 0, k < 5 ; k++)
{
printf(“%d\t”, a[k]);
printf(“%d\n”, a[k] * a[k]);
by

return O;
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AAET HUAR
35 : 3 d™] [TFUT Iqor ;80
if(ﬂ?T by
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(3) 3=l fIrT g ITRUApd WISqrad.
faamr - ¢
7.1) Yeiduad! Hiodal IR 9T Fqigar [08]

(31) Internet IS ®I 9

(F) ATTAT FHAT FIOTRET Aid ToTal.
(%) Memory T fafqer g @od ©
() wHot@Er I DOS Command TeiaT.

() FUrRTAT Programming Languages™ fafaer e wiord @
(%) Spreadsheet =Sl F™ ?

9.2) el HiUel diq W wiEar ¢ [12]

(37) FWrUTRTAT Accounting FEf SUTRT ATOX W@l AT

() TATOTRT STTeh B B ¢ Cf>ll’l('¢llé\l Uhl HpRd CLIEEDIECRIL

foTat.
(%) Floppy Disk @ CD-ROM a1 #efid@ Wik T F.

(¥) +Arear (Data) T W&RTdd #igar (Information) Ii= 3ITEI0THE
WSRO ToTaT.

(3) Ttk Output Devicewar fafaer wepmil Aid &,
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7.3) ofgdd feur f@er ;o (FuemEt i) [12]
(1) i
(@) 2fe Higsd Uex
(%) P
() T FEW

(3) AfceHSaT
faamr -
9.4) YEi@dd! FHiOMEl IR 9T A@iEdT [08]

(31 Variable =9 & ¢ & 3ISTET (oTaT.

() Assignment Operator %ot & ¢ @r=T Syntax ol
(%) Scanf() Statemenet=rm 32T FE ?

() Do...while Statementar Syntax ezt

(3) T TRl g1 e
(1) name = ‘Amar’,
(i) Si =p*n*+r/100;
(%) T I I& S TQaR o (oTar

(i) St arid Relational Operators amoRe  SiTaTd 19T

Expression® 3R &R a1 IF 3T,

(i) PUEAIT PG dH TUAEASA ST qMA ABoTqeH
TS S ATEl 9 AT SUEY AT ATHOTE! dUrEe S

ATl
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9.5) el HiUel diq 9T diEar ¢ [15]
(371) 9 dSHOS! Fald JIST AT MUl WiuTH  foTEr.

() TS TEEd YO 36 Al HAEM (A TiumE e
(3sT. 379 973)

(%) Conditional Operator TSt HF ? &TET Syntax SITEWTEE fTal.

() Nested if... else I Switch Statement #er ®IF ToTal.

(3) W@ arra Output Tear -
intm=9, n= 14, z

float a = 5.78; b = 86.33;

char i = ‘€, j = ‘“r;

(1)  printf(“%d %sd %c %f”, m, n, ++i, b);
i) z=M>m)?m:n;

@) z=06B*m-22) + (n * 3/3);

(iv) (@ >=10.0) && (b < 100.0);

(v) printf(“%c”, j++);

9.6) uieddmd feur f@er ;o (FiurErEt | i) [15]
() & owe
(@) FWeffes Afed
(F) B ) T ISHR ) HHRE
(3) "R BR

) [N [aN s . 2
(3) T B TIAT FTANSTT T3S BT<
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q.7) TSl HIOERT Th 999 Jqi=dl

(31 13 N el g9 I5r swrevgmEerar Algorithum fesr @ Flowchart
1.

(F) et C wimA= Output fetar
(1) main()

(i)

{

}

int j = 4;
while (j < = 10)
{
printf(“\n%d”, j);
=1+ 2
}

return O;

main()

{

int k;
int a[5] = {3, 9, 2, 5, 4};
for (k = 0, k < 5 ; k++)
{
printf(“%d\t”, a[k]);
printf(“%d\n”, a[k] * a[k]);
b

return O;
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[3669]-4
F. Y. B. Com. Examination - 2009
MATHEMATICS AND STATISTICS
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1
Q.1) Attempt any four of the following : [2x4=08]

(a) Find simple interest on Rs. 6,000 for 2 years at 10% rate of
interest p.a.

(b) The cost price of an article is Rs. 300. Find its selling price
to earn a profit of 25%.

(c) Explain Preference Shares.

31 15
(d) It Az{s 2}}3:[4 6:|’

find A + B.
(e) Draw graph of region —
3x + 5y < 15

(f)  An agent receives 5% Commission on Sales. If sales made by
him are Rs. 50,000, find the commission received by him.
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Q.2) Attempt any three of the following : [4x3=12]

(a) A dealer allows 10% discount on List Price of a certain article
and yet makes 25% profit on each article. Find cost price of
the article when list price 1s Rs. 50.

(b) Find Compound Interest on Rs. 8,000 for 5 years at 9% p.a.

(¢) Find EMI of a loan of Rs. 50,000 which is to be repaid in
monthly equal instalments in 10 years, interest charged at 12%

p.a. on the loan outstanding at the beginning of each month
(monthly reduction). [(1.01)'* = 3.004]

(d) A man purchased a share of Rs. 100 for Rs. 150. The company
declared dividend 30%. Find percentage return on his investment ?

(¢) Find inverse of the following matrix :

3

Q.3) Attempt any three of the following : [4x3=12]

(a) Find the amount of sum of Rs. 10,000 for 5 years at the rate
of 9% p.a. simple interest.

(b) Which investment is better 12% at Rs. 124 and 15% at Rs. 150 ?
[Face Value = Rs. 100].

(¢) An agent was paid Rs. 30,000 as commission on the sale of
vehicles. If the rate of commission was 10% and price of each
vehicle is Rs. 15,000, find how many vehicles did he sell ?

(d) Find the Value of Determinant :

3
2
5

N — N

1
6
1
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(¢) A manufacturer makes two types of mobiles, mobile A and
mobile B. Both mobiles require processing treatment by two
machines, machine P and machine Q.

Mobile A requires 4 hours of machine P and 3 hours of machine
Q for processing.
Mobile B requires 3 hours of machine P and 4 hours of machine
Q for processing.
Machine P is available for 52 hours in a week and machine
Q 1s available for 48 hours in a week.
Profit per mobile A is Rs. 12 and per mobile B is Rs. 25.
Formulate L.P.P. to maximise profit.
SECTION - 11
Q.4) Attempt any four of the following : [4x2=08]

(a) Explain Exclusive Method of Classification with illustration.

(b) Prices of the shares (in Rs.) of company ABC for last 10 days
are as follows :

303, 310, 312, 309, 318, 321, 330, 319, 315, 321
Find Range and Coefficient of Range for the above data.

(c) The following figures represent number of books issued at the
counter of commerce college library on last 10 days.
100, 112, 108, 115, 121, 108, 115, 108, 119, 108
Calculate Median and Mode of the Data.

(d) Define Correlation. State various types of Correlations.

(e) State two equations of Lines of Regression.

(f) The mean of 10 values is 30. What will be the new mean if

[3669]-4
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Q.5) Attempt any three of the following :

(a)

(b)

(c)

(d)

(e)

[3669]-4

Answer the following questions for the given Frequency
Distribution :

L.Q. 60-69 | 70-79 | 80-89 | 90-99 {100-109|110-119
No. of
Students 21 37 50 48 30 21

(1) State type of Classification.

(i) State class-mark of 3rd class.
(ii1)
(iv)
(v) How many students have 1.Q. more than 100 ?

State class-boundaries of 4th class.

How many students have 1.Q. less than 89 ?

Draw less than ogive curve for the following data :

Marks 0-20 2040 40-60 60-80 80-100
No. of
Students 12 30 48 21 09

Explain application of statistics in :

(1) Economics

(11)) Commerce

For a bivariate data, we have :
x=130,y=21,b, =-12,b =-09

Find regression line of y on x and hence estimate
y for x = 33.

If n =100,  x = 30, > x* = 330, then find S.D. and C.V.
of x.

4 Contd.
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Q.6) Attempt any three of the following :

[3x5=15]

(a) What do you mean by Measures of Dispersion ? State different
Measures of Dispersion.

(b) A group of 50 items has Mean and S.D. as 61 and 8 respectively.
Another group of 100 items has Mean and S.D. 70 and 9
respectively.

Find Combined Mean and Combined S.D. of 150 items.

(c) Compute Median for the following frequency distribution :
Dividend (%)| 0-20 | 20-40 | 40-60 | 60-80 | 80-100
No. of
Companies 20 33 48 19 10

(d) Draw Pie chart to represent the following information
The proposed breakup of a rupee earned in the budget of a city
1s :

Source of Income % of the Total
Government Grants 10
Octroi 45
Direct Taxes 25
Other Taxes 20
(e) Compute mode from the following data :
Pocket Money
(Rs.) 0-50 50-100 [ 100-150 |150-200 200
& above
No. of
Students 10 20 30 20 9
[3669]-4 5 P.T.O.




Q.7) Attempt any one of the following :

(a) Calculate Karl-Pearson’s Correlation Coefficient for the data :

[1x10=10]

Height (X)
in Inches 66 69 73 70 72 68
Weight (Y)
in Pounds 160 | 150 | 166 157 150 148
(b) (1) Compute S.D. for the following data :
No. of
Childrens (x) | 0 1 2 3 4 5
No. of
Families (f) 3 9 12 | 8 2 1

(11) Two workers on the same job show the following results

over a long period of time :

Worker A Worker B
Average Time of
Completing the job
(in mins.) 30 28
S. D. (in mins.) 3 2

Which worker is more consistent in the time required

to complete the job ? Justify.

[3669]-4/6

[05]

[05]



Total No. of Questions : 7] [Total No. of Printed Pages : 6
[3669]-4
TRET ®UiaC
(ST R00% IATHFN )
9% : 3 dM] [TFOUT IOr - 80
<
(1) T goq fvard 3mzEd.
(2) IrdisEiar sis qof for St
(3) @ 2aeq IMPT Feageied qTRVITT GRATHIT IR,
(4) It frynT gerg ITEiIed qisarad.
(5) dewrard e gaeR weTARwT TErh,

faamr - ¢
9.1) FUEE IR W digar [2x4=08]

(31 WEA &. §,000 T FALEY. 0 WA EFUR 3 INERNE B
AT BT

() TH TGA TS AT 5. 300 AR, Y% AWT FyesavITEndt
o1 wEgal fast e fear glgw o Se.
(P)  JURFEE WET B GAT T B

R

Ui A + Bt feEa @rer
(3) T JIHHAROTEET Mg SR a9 naEay saan
3x + 5y < 15

(F) THT SATATAT ATH BAcuT b=l 4% S04 Sy o, &=
P! Bl F. 450,000, IHAH Il HAX HHIA HIaT.
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9.2) JEAUS! HIO|E 9 9T gigar [4x3=12]

(3N TE fopar THT TEgen qWE! [FEdiaY 0% ¥ adr 4%
6T emdl. SR @ aREl gat [REa E. yo 3@ a¥ @
TEET TR SRR @

(¥) HET 6. ¢,000q THLEI. ¢ S FUMN 4 INTERH THhAG AT
FHIET.

(F) FTULEL R A N7 AT FATHRON I HET FAT EOT=AT =TS
UEAA F. 40,000 HAEDI o IY FAIAAT TABSHST TAT
ARF Tt WRH TR g ? [(1.01)'2° = 3.004]

() TH AN &. %00 I Hw IwAH a}m 5. 950 T TET
BAT. DU 30% ATHIY TINT BeUTH AT THATAT THST AbeT
YT BT

() el fader |ARoiEr ot &wd (Inverse) 1@l

R

9.3) TRIAUB! FNUAE ot g @isar [4x3=12]
(31) HEA B. 0,000 T FTATEY. ¢ I,  AWHE! TI5 AT
U W FIE

() IO [AAUEFE BERMR § FET
R% . 3B AW 319% . 330 [F0AI F I, 300]

(F) THI ITATATAT TEATHT [Thia . 30,000 HHIA Heod. TAS
qrearat fFAT §. 34,000 T FHHIAET I 0% JHATH &AW
fpdt aent fasat @ @
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(3) Y AreidEr fhaa F=r

3 1
2 6
5 1

N —

(3) UH IAEH FF YHRA HEOPA < a9 &t (§9 0 9 99
). TR YHRT HGEA AT gReaast 9 " P g Q
MATF 3R, Higged ‘o o P @i ¢ a7 Q wefm
3 a9 URRIHEr AN, "iEed W @7 wkedwer P oRshe
30 Q MIMAY 8 T TN, UHT INSasad WA P ouR
ae T AW Q 9¢ AW ITA IR, AeMgdd ‘37 T ‘T q¥ IhA
AET B, %R T B, W e
T ATEAEIS! ST AT AHT SUTRT I sergemd 997 (L.P.P)
TR .

fawmr - R
9.4) EIAd® HIdEt IR YA |igar [2x4=08]
(31) THOTIT TEHd THd ISTENHE W H,
(F) ‘ABC’ ®udrer wEitel @@ fEawien  ewenm e (5)
TRIATHTOT 3MMed
303, 3%0, 3%, 308, 3, 3R, 330, 3T, 3%y, 33
TAA AT TS MMATHT T AT FEI[OTh  HIal,
(F) TH AT HEIOEAGA FATAIA ST e ARl S&r
faardter g WS qEid WHTO 3R
300, 23R, 30(¢, 2!WH, 13RI, %0, 2NN, 30, 338, ‘o
TS ANEIAS! HomT 9 ‘Tgds FIal.
(3) weHeuTE @ fagd @ fafgw ger o
(3) & wHEECT (FROTEE) e @ fer
(%) & JearaT AT 3o IR, YA® AT %o 7 FHHT Hedrd IO

IO "I HIET
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9.5) qEi@dsl FHiodd @ g Jiear [5x3=15]
(31N Toear aigrar mel 9wt Eee g I foer
TATH §0-§8 | bo-198 | ¢o-¢8 | S0-8% [300-30%]3%0-33%
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Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3669]-3
F.Y.B. Com. Examination - 2009
BUSINESS ECONOMICS (MICRO)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Business Economics ?
(2) State any two Basic Economic Problems.
(3) State any two functions of Market Mechanism.
(4) What is Demand ?
(5) What is Cross Elasticity of Demand ?
(6) What is Average Revenue ?
(7) State the meaning of External Economics.
(8) What is Fixed Cost ?
(9) What is Price Discrimination ?
(10) Define Duopoly
(11) What is Quasi-Rent ?
(12) What is ‘Money Wages’ ?
(13) What is Interest ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain importance of Micro Economics.
(2) Explain Law of Demand.
(3) State characteristics of Monopolistic Competition.
(4) Explain briefly Modern Theory of Rent.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain types of Price Elasticity of Demand.
(2) Explain different types of Costs.
(3) Explain in detail the features of Oligopoly.
(4) Explain Innovation Theory of Profit.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Discuss functions and limitations of Market Mechanism.
(2) Describe Law of Variable Proportions.
(3) What are the features of Perfect Competition ? Explain Short
Run Equilibrium of a Firm under Perfect Competition.
(4) Explain Marginal Productivity Theory of Distribution.
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Total No. of Questions : 4] [Total No. of Printed Pages : 8
[3669]-2
F. Y. B. Com. Examination - 2009
FINANCIAL ACCOUNTING
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ True or False : (Any Five) [05]
(1) Accounting is a Language of Business.

(2) Maximum Loss Method is also known as Notional Loss
Method.

(3) The financial year of co-operative society commences on
1st January and ends on 31st December, every year.

(4) Royalty is a periodical payment made by landlord to tenant.
(5) Receipts and Payment Account is a Real Account.

(6) In Hire Pruchase Transaction, Ownership of Goods is
transferred to the buyer when first instalment is paid.

(7)  Amount of each transaction is multiplied by the number
of days of such transaction is called product.

[3669]-2 1 P.T.O.



(b)

[3669]-2

(1)

(2)

3)

(4)

)

(6)

(7)

(8)

Fill in the blanks from the brackets : (Any Five) [05]
Accounting Standard No. 2 deals with
[Valuation of Inventories, Valuation of Goodwill, Depreciation
Accounting]
Surplus Capital Method is also known as
Method.
[Maximum Loss, Maximum Profit, Proportionate Capital]
Conversion of Partnership into a Limited Company is
referred to as sale of partnership business to
[Sole Trader, Company, Partnership Firm]

Method of Depreciation considers Fund for
Replacement of Assets at the end of working life of the
assets.

[Annuity, Reducing Balance, Sinking Fund]
The amount paid by lessee to lessor is known as
[Shortworking, Royalty, Recoupment]
Income is taken in the Balance Sheet on
Liability Side.
[Revenue, Capital, None of these]
In Account Current name is written last in
the title.
[Sender’s, Receiver’s, Agent’s]
In Hire Purchase System, Instalment Amount includes the
portion of Cash Price and
(Purchase Price, Depreciation, Interest)
2 Contd.



Q.2) Rahul, Sachin and Anil were equal partners. They decided to dissolve
the firm on 31st December, 2007, when their balance sheet was as

follows :
Balance Sheet
Liabilities Rs. Assets Rs.
Creditors 20,000 | Fixed Assets 50,000
Reserve 30,000 | Current Assets 40,000
Capitals - Rahul 30,000 | Cash in Hand 20,000
Sachin 10,000
Anil 20,000
1,10,000 1,10,000

It was agreed that Rs. 2,000 should be kept aside for Realisation
Expenses. The assets ware realised as follows :

On 31st January, 08 - Rs. 17,300
On 28th February, 08 — Rs. 29,700
On 31st March, 08 - Rs. 27,000
Actual Realisation Expenses amounted to Rs. 1,400 only.

You are required to prepare a statement showing the Distribution of
Cash by using Maximum Loss Method. Apply Garner V/s Murray
Case. [20]

OR
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Q.2) The following were the Balance Sheets as on 31st March, 2008 of
two firms of M/s. A and B and M/s. C and D :

Balance Sheets

as on 31st March, 2008

Liabilities A&B| C&D Assets A&B| C&D
Creditors 40,000( 40,000 | Land and
Building 45,000 -
Reserve Fund 16,000 9,000 | Furniture - | 10,000
Outstanding Plant and
Wages 3,000 — | Machinery 58,000 -
Mrs. C’s Loan —| 5,000 | Stock 16,000 | 48,000
Bills Payable 10,000 17,000 | Debtors 8,000 [ 25,000
Capital Alc. Bills Receivable 1,000 [ 10,000
A 40,000 — | Investments -1 12,000
B 38,000 — | Cash in Hand 19,000 | 16,000
C —-| 26,000
D —-| 24,000
1,47,0001{1,21,000 1,47,000 |1,21,000

A and B shared profits and losses in the ratio of 3 : 2 whereas C and
D shared profits and losses in the ratio of 2 : 1. The two firms decided
to amalgamate their business from 1st April, 2008 on the following

conditions :

(1) Plant and Machinery to be depreciated by 10%.

(2) Land and Building to be appreciated by 20%.

(3) Debtors to be taken after providing for reserve for bad and
doubtful debts at 5% of both the firms.

(4) Provision for Discount on Creditors of both the firms was also
to be made at 2%.

(5) Other Assets were taken at book value.

[3669]-2
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(6) Outstanding Wages are paid in full by the old firm. All other
liabilities except Mrs. C’s loan are taken over by the firm.

(7) Mrs. C’s loan was taken over by Mr. C.

(8) Goodwill of A and B was agreed at Rs. 15,000 and that of C
and D at Rs. 12,000. It is further agreed that goodwill shall not
be retained in the books of new firm.

(9) The Capital of new firm was to be Rs. 1,80,000 and the Capital
of A, B, C and D was to be in their profit sharing ratio which
was 3 : 2 : 3 : 2 respectively and necessary adjustments were
to be made by cash.

Prepare Revaluation Accounts, Partner’s Capital Accounts in the books
of old firms and amalgamated Balance Sheet of the new firm. [20]

Q.3) (A) Mangesh, Nilesh and Rupesh were partners sharing profits and
losses in the ratio of 3 : 2 : 1 respectively. The Balance Sheet
of the firm as on 31st December, 2008 was as under :

Balance Sheet

Liabilities Rs. | Assets Rs.
Sundry Creditors 6,000 | Cash at Bank 4,400
General Reserve 5,400 | Debtors 15,000
Capitals : Stock 12,000

Mangesh 22,500 Furniture 9,000

Nilesh 15,000 Plant and Machinery | 16,000

Rupesh 7,500 45,000 |
56,400 56,400

The partners of the firm decided to dissolve the firm and to
form a Private Ltd. Company to take over the business of the
firm on the above date subject to the following adjustments :

(1) The assets are transferred to New Company at following
values :

Debtors - Rs. 14,000, Stock - Rs. 10,000, Plant and
Machinery - Rs. 20,000.
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(B)
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(2) Furniture was sold at Rs. 8,000.
(3) The New Company valued the Goodwill at Rs. 2,000.

(4) The Creditors of the firm are to be transferred to new
company at Rs. 5,600.

(5) Realisation Expenses amounted to Rs. 600.

(6) Purchase consideration is to be given in the form of 3,600
equity shares of Rs. 10 each and balance in cash.

Prepare :

(@ Realisation Account

(b) Partner’s Capital Account

(c) Private Ltd. Co. Account

(d) Shares in Private Ltd. Co. Account

() Bank Account

()  Working of Purchase consideration [15]

‘X’ Ltd. took from Pratik a lease of coal field for a period of
10 years from 1st January, 2005. The said lease provided for
the payment of Royalties to Pratik at Re. 0.50 per tonne with
a minimum rent of Rs. 8,000 per annum.

Each year’s excess of minimum rent over the actual royalties were
recoverable during the subsequent two years. The lease, however,
stipulated that if in any year the normal rent was not attained
due to accident, the minimum rent was to be regarded having
been reduced proportionately having regards to the length of
stoppage. The output was as follows :

2005 - 7,000 tonnes
2006 - 14,000 tonnes
2007 - 20,000 tonnes
2008 - 12,000 tonnes

During the year 2008, there was a stoppage of work due to
accident lasting for three months.

Pass the necessary Journal Entries in the books of X Ltd. for
all four years. [15]
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Q.4) From the following Receipts and Payments Account of the Pune
Gymkhana for the year ending 31st March, 2008, prepare Income and
Expenditure Account for the year ended 31st March, 2008 and
Balance Sheet as on that date : [20]

Receipts and Payments Account

Receipts Rs.| Payments Rs.
To Balance (1-4-2007) 1,820 | By Wages 6,500
To Donations 10,000 | By Printing and

Stationery 2,100

To Subscriptions 11,200 | By Postage 500
To Entrance Fees 345 | By Insurance 250
To Interest 350 | By Sports Material 5,750
To Sundry Receipts 385 [ By General Expenses 3,000
By Balance (31-3-2008) | 6,000

24,100 24,100

You are required to take into account following adjustments :
(1) As on 31st March, 2008 sports material valued at Rs. 10,000.
(2) As on 31st March, 2007 the book values of the fixed assets

were :

Premises Rs. 20,000
Investments Rs. 10,000
Sports Material Rs. 5,000
Furniture Rs. 7,500

(3) Donations are to be separated from general receipts.

(4) Subscription Rs. 2,000 is outstanding on 31st March, 2008.

(5) Provide 10% Depreciation on Furniture.

(6) Insurance prepaid upto 30th September, 2008 - Rs. 125.
OR
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Q.4) (A) On 1st January, 2005 a company purchased a lease for 4 years
at a cost Rs. 40,000. The Company decided to depreciate the
lease by Annuity Method charging at 5% p.a. A reference to
annuity table shows that to depreciate rupee one by annuity
method over four year’s charging interest at 5% p.a. one should
write off sum of Re. 0.282012 every vyear.

(B)

The company closes its books of account on 31st December

every year.

You are required to show lease account for four years. Calculation
to be made to nearest rupee. [10]

Form the information given below, prepare an Account Current
to be rendered by Amar to Baban upto 31st December, 2008.
Interest is to be calculated at 10% p.a.

2-8-2008
20-8-2008
10-10-2008

25-10-2008
2-11-2008
30-11-2008

Goods sold to Baban Rs. 900.
Draft received from Baban Rs. 450.

Baban purchased Goods on one month’s
credit Rs. 2,000.

Cash received from Baban Rs. 1,500.
Goods returned by Baban Rs. 300.
Cash sent to Baban Rs. 1,000. [10]
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F. Y. B. Com. Examination - 2009
FUNCTIONAL ENGLISH
(COMPULSORY ENGLISH)
(Old 2004 Pattern)
Text Prescribed : English for Practical Purposes
Edited by : Z. N. Patil

B. S. Valke
Ashok Thorat

Zeenat Merchant

Time : 3 Hours] [Max. Marks : 80

Q.1) Read the following passage carefully and answer the questions given
below :

The term ‘personality’ is derived from the Latin persona, which means
literally the mask that is worn over the face by the actor on the stage,
the mask through which he sounds his part. The actor is an unknown,
anonymous being who remains intrinsically aloof from the play. He is
unconcerned with the enacted sufferings and passions. The real being is
concealed, shrouded, veiled in the costumes of the play. To break from
the confines of personality into the unfathomed reaches of his true being
requires disciplined effort. By penetrating through the layers of the manifest
personality, the individual arrives at the unconcerned actor of life. Man
Is more than the sum of his appearances. When Crito asks : “In what way
shall we bury you, Socrates ?” Scorates answers : “In any way you like,
but first catch me, the real me. Be of good cheer, my dear Crito, and say
that you are burying my body only, and do with that whatever is usual
and what you think best.”
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Questions :

(1)
(2)
3)
(4)
(5)
(6)
(7)

(8)

Q.2) (A)

[3669]-1

What is the passage about ? [02]
What is the term derived from the Latin ‘Persona’ ? [02]
What is the meaning of ‘Persona’ ? [02]
What is required to break from the confines of personality ?[02]
What was the question of Crito to Socrates ? [02]
What was the answer of Socrates ? [02]
Use the following words in your own sentences : [02]
(a) sufferings

(b) usual

Make verbs from the following : [01]
(@)  unknown

(b)  appearances

Give short responses to the following : (Any Six) [12]
(1) How will you introduce your friend to your parents ?

(2)

)
(4)

()

(6)

(7)

(8)

You want to use your friend’s computer. Ask him for the
permission.

How will you invite your friend for your birthday party ?

What will be your response if your friend compliments
you on your new shirt ?

How will you make a suggestion to your teacher about
a trip to Goa ?

“India is not a successful democracy.” Express your
disagreement with this statement.

How will you apologize to your friend for your absence
at his/her wedding ?

How will you complain to the manager of a hotel about
a defective fan in your room ?
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(B)

Q.3) (A)

(B)

Q.4) (A)

(A)

(B)

(©)

(©)

Your neighbour invites you and your family to lunch on a Diwali
day. But you have booked your tickets and are leaving the same
day. Write a dialogue based on this situation. [08]

Write an application letter with curriculum vitae for the post
of Office Superintendent in a Company to the Manager, Human
Resources, Bajaj Auto Pvt. Ltd., Pune. [10]

Write a letter to a bookshop at Bombay complaining that the
books you have received have missing pages. [10]

Prepare an agenda for the next meeting of the Commerce
Association in your college. [10]

OR

Imagine that you are the Secretary of Lions Club of Latur. Write
the minutes of the meeting convened to elect the new Office
Bearers. [10]

Write a telegraphic message to your sister congratulating her on
her success in the MPSC Exam. [05]

Imagine that you are a newspaper reporter. Write a report to
the editor describing the various activities in the annual social
gathering of your college. [10]

OR

Draft a report on the possibility of starting a branch of a local
co-operative bank on your college campus. [10]
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